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���The natural Radioactivityא�
א��א�
	�����א�����8 �

���     ���� �	 
��
�� �����       ������� ������� ������ �	 ����    ��	 �����������
 ����� !"#  $         ��% �	 ���������� &�'�� ����� !"# ��(
)) ������ �����)��

!"*��   ����� ���� +�' , �       �-� �.	"#� ����� /0 ���	 &��� ����0 1��2   3���) 
 �.���� /0.    �
�� ��%� �       5
�6��)�� �	 +��� /� +�� ����� ���� ����� �	 7)��� /

     5
3��� 8�' �.� ��������         �.���� &���� �.	"#� �)�0 ������ 9��
 �) +� �.:�� / 
�%��.)�� $.�)� ��
����� 3����� :    

1 ��� ����� ����� �
<���.��� ��'-:  

=        �
��>
= �
<���.� ��'- &?)� ����� ���� /Positive$     ���0 ��'-�� 
�% �)
��  
            ������ ������ �
<����� �
<���.��� ��'-�� �.
)�� ���� ��'-�� 
�%� +)�� 1
'� 

 �	���)�� �
����� �)
����@���� ���'� ��>� �����:    

e = 1,6022.10-19  C  

A����� ��� �&$ = .
3�� ����?� �
<����� �
��>
�� ���'-�� ��0 /�  ���� &��� Z$ �� 
�����        ����� !"# �	 ���������� ��0 ����
 ���� �)�B���$      ����� ������ ��%� 

�  )
��� �
����� ��C
 ���?� �
<�$      �)�B��� ����� ��% &���� Z     ��������� ��0 ����
 
����� ����.  

2 ������ ���� �?�� :   

=   ���� /����� �       �?�� &��� �.m       ����� ��)
�> +�� �����  �   �?�� �.
)�� 5)>
�����  $       ��� �	 �.�0 ��)?��� 7�� �����
=>�   ����� �?��� +'�� �$    8?0 ���'� 
�%� 

�>'��   �� ����� 2���� .
)�� ��  Nucleon %� �  �������
���� ���������� .  �)��� 
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�%�     +���� ��0 ����� A   ����� ����� �� $   ��%�      ��0�)>) �������
��� ��0 ����

  �)�B��� ����� 5)Z�� )�
����� �����)�� ����:    

A  = N + Z  

3 ������ (�)� :   

 !�'�� ����
 ���?� �<�
)
��� ()��� ZxA
  .. X����� ()� +C)
 ��% +�-��� ,

      !�'�� 8?0� �	 ��>�)�� !�'��	X        ��
���� +����� ��0 D
)�� .A   !��'��� 
 �	 ��>�)��� +:� !�'��X �)�B��� ����� D
)�� Z.  

4 ������ ���� �>' :  

   �������� E�'Rutheford   �.B �        �
*� ����� 8�= ������� ����� ���� �>' /
F�>�$ � �        ��
*� ��� +�- ��
����� +'��� ��G� ����� ���� /$     /
� �) ��%� � A�
��� / �

 +���� ���0G� 7?��)�� �%�3� !�� A����
:    

r = r0√A  

 �	   @���� E�'� +' ���� ������ $������ ����� ����
�:   

r0 = 1,42.10-15 m  

5 ������ ���� �	�C� :   

  3�)�� �>'�� ��0��)��8          5
3���� !����)�� �%�3� !�� E�' ����� ����� 
 &�����
����� �����)��� �	�C��� �>� /:    

V = 4/3 . πr3 ≈ 4/3 . πr0
3 . A  

=       ����� ���� �	�C� /ρ  �)�� E�'  3�)�� ����� �	�C�?� �$     �)����) �?���� ����� 
 �>'�� 8?0 �)�@���� E�'� +'�:    

ρ = m/v = mp  / 4/3 . πr3  ≈  1,4.1017 kg/m3   

  ���� ����� �	  

mp =   /�����?� ������� �?����1,67.10-27 kg ≈  

v  = /������� �>' 
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rp  =  /������� �3� !��1,42.10-15 m ≈   

8. 1�� ������   	
���
  

  ��� �	1896 �<�
(
:�� !-��� ��  �����:H.A Becquerl (1908-1852) 
      ��
����
�� 1?) ���)Uranium$      ����� &�� �	 D��(
)) /) ����  D��   A0��-= 5-
  �

   ��B�) �
#� I�3��� /���$      B	�'�� !"*�� 7��� I��-�� ��% ��' �� �	�C� ����� 
�?  ���) /) �0���)�� �
����� ��'�Silver bromide /0 �(�>')��� �:?*)�� 

J)-�� I��-� 2�6��.   

    ��� ��
����
�� 1?) ��0��-= /����  �:?#�� 
�% $     ��0��-�� 
�% &���� ��K
� 
 ?�>� 2��.���     %��0 &���� �<���.��� ��
�?� @"��� D�        �<����.��� /(�)�� L
�:� ���� 
Capacity          !-��� �)� ��-)�� ���)�� 
�% ��>� +6	 ���
�      8��= ��.�) 7�-��
 /
>�(��Curie. Pierre Curie (1906-1859)  �   D��>�( �����Marie 

Curie (1934-1867) ��?    ���� ��	 �:-����� �������M� 8?0 ����C /
�1898 
  /
���))�-/
�             ��3�) �	 ��)��� �	 ��>� ���� �
�
�3�� ��
����
�� 1?) ���) /) 

.Böhme  .   &?)
 ��-)�� ���)�� 
�% /) ����    ����0 D�-�
 ��%� I��-= ����
��
����
��. �30��    ��� D� Polonium A�
���       ���
 ���� ���) �>�(?� ��  8�= �.?�

   �
����� �"�Poland .      ����� ����� 5-� �
��C�� ���)����     /) �C�10.000   ���) 
����   8���� �  �Polonium$           ������ D�0�� /�) �
�>�� !-��)�� ������ ��%� 

�) N���)�� I��-�� �)� DRadium.   

 � �.B�G  /��)�� ��% /$    ����� ������ O�'��� �� $     ���
�3�� �	 +
?� 
��>� . 
       �
# ������� ��-)�� ������� /) �%���  ����CUnstable$    /�))�� /)� �   ��>�
 /

 ������ �	 D�)� /) E��
�� +���
 �) 5)>1500 ���# 3�	.  

8 . 2 �� �����  
 ��
�� �������� ��
���  

% ��(
))  �
)�� ���� ��-)�� ���)�� 
�Radio Activity   �.'�-�� !��� 
� �
����� 3�����:  
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1 � =   ��-)�� ���)�� 
�% /  /�)
 M    .��0��-= ��' �
��� �  .6:� �� � 8�'   ����  
7�3 /0:    

� 3*6�� �� ����'�� �M�3 /0 8�' 
�
<�
)
��� �>���)�� 7.  

2 �   ��-)�� ������� 
�% $ 	 P    .����' /� �.�
��� /) D�     ����' /) 8?0� 8��� �
D� ���>�)�� 3
')��$	 PA)��# /�A�'�� ��
���)�� ����'�� �3�
 ���)�� 
�% /) :   

Q  = 575 Joule  

�B�'?) : �(
)�� 
�%=�8 �QM /5��) �)?0 �
�:� �� R�- �.� �>�
 .  

3 �  )      ��-)�� ���)?� �).)�� ��(
))�� /   �:-��� ����    8?0 �������M� ��� /)
��� ���)��
��:   

� ��D             ���
3��*) +��' ��	 ��
����� /0 ������� I��-�� �3�� 56� �)� $ 
��% ��
3�
 A��� �����M��%� ��0��-= �C"C� �
��) ��%�B �: α . β . γ .  

A � .�) �    	�'�� 8���� �)(��� ��0��-= �   ���
3��*)�� +�'�� �	 @"
?� =  8��
� +�)-����
��>
�� ��'-�� &?)$.
)��� ��0��-= �.. α  /G�� �.B �������M� ����

       N��� �� 7-�� �� ��0��-�� 
�%=    �� ���� ��� /) M� Helium  &?)� ����    ������
  �)�B���Z=2 $����
 ����� ����� �� +���� ��0� :A=4    $   ������ (�)����

����
: 2α
4.  

   �)
�> S���= ��:�: C) �    &��� 8�?0 +:          ��� ����0 /�) �)
��> S����� � 
88Ra226→2α4 + 86Rn222  =  Radium .  

��     �
0��-�� �
?)��� 
�% +�  8?0 
�> N��)    ��
����� ���0 /) �:�� �, 	 P  ��% /
        ����� ����� /) I�6� ������A  ���'� 5��� $     �)�B��� ����� /)� Z /
��'� $ 

                D)��� ��
�> ����0 8�= +�'� ���� ��
����� ���0 +"')6� ��C
 �) ��%�
Radon.   

B �    � I��-�� �)(� �)�        ���
3��*)�� +�'�� �	 +��� I��-T� D>��)�� ���C�$ 
 ��		�'��� I��-= J��� ��-� α =/
)
�� 8�.� �.B E��>���� �������M� ���� G /

o b e i k a n d l . c o m



141 

��%        �
�?� ��'- &?)
 I��-��e-$    /�
 ��� =         ��
��� ���������= ��)
��> M
 E���� �.�0��90%I��-= I��-�� ��% �)�� U��:�� �	 2�6�� �0�� /)   β .  

  

  

  

  

  

  

  

� �)
�> S���= 
 �)
�> S���� &�� 8?0 @"C) ��β  

    S���= �
?)0 �.:��β $ ��  2�30=    �> ����� ���� 
 � �)
��$ �  /������= �$   /�'� 
  !����  M ������ /   &?)� =    ��������= J
�� �������
�� �������� M$   S���� /��� 

�>
  �)β    E>
  �  /
   /����� 8�= /����
��� +�'�$  �% /)�     +��'��� �
   �� N����

�
����� �����)�� E�' /������� 7-�:   

0n
1→ 1p

1 -1e  

  �> N� �
?)�� 
  �)β         �)�B��� ����� 8?0 ��(
  Z  �'�� ����?� $   +���� ��0� 
A6
� D�0 +��
 �) ��  ����� /(��� �A�
*� /��� D��' 8?0 8��
 $@"C) :   

82RaB214 → -1e+ 83RaC214
  

������:  ��
?)0 �	 α, β.�) �.B� � ��0��-= �)�0 γ $  ��.� /�
 �� 
�%� 
�
� �?� ������ ���� +
�'� ��
?)�.  

C �               +��'�� ����) ��	 �.��0��-= !�'�� �� ���� �C��C�� I��-�� �)(� �)� 
  ��
3��*)��  # ��0��-= �
)��  �)γ      8?0 +�
 �) ��%� �     ��:�V) ��0��-�� 
�% /
 ��>�) /) =   �
�
3��*)������.�   = ��(
)) J:�   ��0��-Roentgen  �.��>�)�  �

o b e i k a n d l . c o m
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��
����$   .�:�� ��0��-�� 
�%� �  
�
3��*)�����= ��>�) �  M �����  � &�?)  �
�� 
�
�?� �� �
��>
= �
<���.� ��'-$M .
?0 �CV
 �+�'�� �*)�� ���
3.    

     ����� ���� ����� �	 +��� 8�'�$  ������ ����� ��(
)) ����� $ �	 P  
��% /
� ���������!?A�
C� ���>� �)0 ������ !"*� ��?��)��� ������� J����� �	 
.  

    ����� ���� �����	���*��� @���   �.).:�� @"
�3 �$ � ��� 
    ��	��)� 2�)?��� +���
�-��2              ���
�B��� N��'�� �	 7)��?� ��>���� 3����� W�� ���� ��%� �.�0 +
?��� 

����� ����� �
�
�3��� �������M�� �
)?���:  

1 �2��� �	 7)���� @M�� ����� ���� .   

2 �        ����)�� ��-)�� ���)�� 5
��� 7�3 /0 �.) I�6�)     ��
#��  ��
�
�3
            ������ �.�
���� E�>
 ���� ����� ���� 8?0 ��)
�> 7"3= �� !�� ��
?)��

 5-) �0��3��. 
�%�            E�>
 ����� ���� �	 �.���:) +)��� �	���)�� ��)
�>��� /
0 �0��� �
��' ���3 �%��0 /��

�� ��% +)�� ��B��)�� +0�:���.  

3 �             ����)�� ������� 
�% 8?0 E>
 ��-)�� ���)�� 5
��� �	 �).) �3�� � /
N�� ��-)�� �
�
�3�� ���)�� ��0��-= +���� �� +C�)� ��0��-=.  

4 �       ����� ��3-�� �	 ��>� ���� �������� /)� $    ��.>�� /�) /
   ��
�B��� 
�
�
�3����$   �� ���)�� �	 ��   ��3-�M �?
�C�� ������      !����� 7
�3 /0 /
)�� 8�= �%

��3-�M� �
?)�� �����)� ��	��) /��� ��)
�>�.  

5 �  �
�.��� �	� $           ��% ��)�
 8�' �
�
�3�� �
�B� ������ /) �>� �) &���� 
����� ��.��M$ 2��� �	 7)��?� ����>� ���� �?��� ��%� �>'� ����� ���� �.  

      /0 ��?��� 
�.� �)("�� �������� 5���� ��.�� �3 
     ��������M�� ���
�B��� 7
?C)� 5) �3��) R��-� �
)?��� ���
�3���� �
>��)����3�) �
�3�) ��.  
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8 . 3 ������� ����!� "#$%�� 
����  

    �)�0 !���)�� /)�          ��%� ����� 5) +')6� ��-)�� ������� ���� O�� /
 �����) �
#$        X��� ��
�3�� �	 �>�
 +% +2����� +��� ��.��    Y ��-) ����0   +��� 

����>�
 !  

  E�����  �	     � ��
�3�� �	 ������� 
�% 2����0  ��:���.<� F
<�.�   ��� �  "')�6�.� 
[�$��    8�= ���
 �   M ���)�� 
�% / +')6�       +')6� +� ��'�� ��	����5����,   /� �� 

     O���� ��� ��'���� +')6� �.���� O��.+"')6M� �
?)0� 
�% M    ��.� ��>�
 
��0��$ M�  
  �
�'� /�) ���  �  +"')6M� 2�,        /��))�� /) ��
����� ��� ���� @"C) 

�  ��<) \
�� / ����  /
���� /) !$ �  �.�� �)    /�))�� /) �     ���'�� ��
��� +')6� /
 �� �.��)
�> N� 7
�3 /0 �.�
�.� /����=-�0�� ��0��-P� �	���)�� �.�α.  

   D�� �>���   E���� /)/�        ���� +�� �
��	 +"')6� ��
' /0 ���	 �3��  ��� $ 
+"')6M� ��% &��� &���� �
���)��� +�)�'M� /
�����$ �� Possibility .  

 C) ��G���@M:       ��
����� /) �'�� ���# ����0 1gr$      ��������� E�' \
�
 ���� 
    �������M�� �
�B��� +�?'���1590 ��� $        O��� !�� +')6� ��)�� 
�% ���� 

  +G�� �%���� D���� :   �	� 8�)�    � ��� /) ��� �      ������� ����� !�� +')6
 &�
   �?0�:�)�� D���� O�� /)Y  �> �?%� � 8�=  �)     �
�.� M  ..      ������ ���.� ��
30� ��%�

���:F
<��?� 5����)�� �:���� +"')6M� �..   ����)�� �:���� �)��� ��� ��T1/2.  

     5
3��� �
?)��� 
�% �
�'����   +�-� �.�0 ���� / !?��)     8���)�� J:�� /��� $ 
+���	: 	               /�) ��
����� �
)��� /) /
�) �
*� ��� +')6
 ����� /) ��'� +� �

     ���� ������ ���� O�� +�(� M �?0�:�) $         ����� ��
*���� �
)��� �� ����� ��%� 
     +"')6M� ����C �.
)�� �?')6�λ     %� +')6� ���� ���)�� 
�.� ��   �) ����
 � G /

     +"')6M� ����Cλ  /) �
*� ��� �% ��>�) ���� �
)� �   ����)�� J��� /) ��
N0        ����� ��'�� +')6� ���� ������� ���� O�� /) $       /����� +����
 �) ��%� 

 ����'�� +'��Mathematical Low +��
 ���� =  ��	���)�� O���� ��0 / ΔN 

o b e i k a n d l . c o m
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     ����� �	 �?')6� ����Δt   F
��� �����    �Proportion   ��
����� ���>�)�� �
)��� 
N $����� �����)�� �
30� ��.�� �
:    

ΔN / Δt = - λN  

+��� ��%�: = /λ /�� �� =F
��� @")�0 M� ����C �.
)�� ����� +"')6M� ��
?)�� 
 +"')6M�Decay Constant������ +�-�� 8?0 �����)�� 
�% ����� ��=� :    

ΔN / N = -λ dt  

 7
�3 /0 ���>�)�� �0��-�� +"')6"� ������ /������ �����) �.
)�� ����
-+6�:��� +�$ ��� �� Differential Equation$@��� ��'� ���� �   ��
# @"
��3 

 +"')6"� !���).       E>
 +"')6M� ��� !��� 8�'� �   
��% +�)��� ��'� /
    +)����� 7
�3 /0 �
?6�:��� �����)��Integral A�:�� ����)�� ����� /) �  5�) 

 ��)
�>��N(0)$ = ����� 8�t$ ��)
�>�� 5) N(t) ����)�� �
����� �����)��:   

N(t)                                     t  

  ∫ΔN(t)/N(t)  = - λ ∫ dt = ln(t) - ln(0) = - λt    
N(0)                                   0   

�
����� ��
�3��� +'�� ��% 3��� ��%�: N(t) / N(0)  = e – λt$  ������)�� /� �� 
������ +�-�� ����� 1���:    

N(t)  =  N(0) . e- λt
  

    �	 ����)�� ��%�N(0)      @���� ���>�)�� ���)�� O��� �
����� �)
��� �$   &����� 
 �
'"3�M��N(t)����� ���) ��� �
����� �)
��� (t) $    ����' ������)�� 
��%� 

               ��)�0 ��
���� ��0���-�� ����)� �����0 +"')�6M ������� /������
Radioactive  Element$� ��%�  +�-� +(�� ���� ���� �M���)�� E�' /�����

 8�'�)������ +�-�� �	 �)�:  
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    !�'���λ 30� ������� 7�� �)� +"')6M� ����C ��� D� .� +���� G  
��% /
��-)�� ���)�� �
*�� �.�)
� �
*�� ����C��$ ����C�� 
�% �
�� /�)
 � 7
�3 /0 �%�>� /

�����M�.     ��� 83�� ����C�� 
�% ���'��    ������ ��
��� �0����� �
��C.   &���� �  �	 D�
      �M�'�� /) �
C� �	 +"')6M� ����C /��)$       �����0 +)���� ��-)�� ���)�� (
)�� 

   �:���� �)���T1/2 

 .       ���� ����� �:���� �)���� �.:� ��%�
��8    ������ !�� D
	 
    ��-)�� ���)�� O�� /) ��>�)��.         5) �:���� �)��� 7?�� 8?0 !���� 8�'�  ����C

         ����� D
)�� ��� /) E%�� ��-) ���)� +"')6M�t1 ��>�)�� �     �)
�� ������ D� 
N(t1) �
����� �����)�� ����
 ����� :   

N(t1) = N(0) . e -λt
1  

	P ����� �6) ��� D�T1/2 

 $�:���� ����� ��$   �����
 ����� 1��
 t1 + 

T1/2 

     8?0 +�
 �) ��%��     �� 8�= �?')6� ��)
�>�� ��0 /   !���(1/2)$   &����� 
�
����� �����)��� 83��:    

1/2.N(t1) = N(0) . e - λ(  t
1

+T
1/2

)
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  �
����� �����)�� 7�-� &��� �.�)�  

e - λt
1  = 2.e - λ(  t

1
+T

1/2
)

  

       +� +'�� 7
�3 /0�Logarithm 7�-� �.�) ���� �
����� �����)�� 8?0 +�'� 
  �:���� �)��� �)
�T1/2 :  

λt1 = Ln2 - λ(t1+T1/2) . (Ln e = 1) �   

T1/2 = Ln2 / λ = 0,6931 / λ   
    �.B� �����)�� 
�%��           7�?��) ��
# ��-)�� ���)�� �� ����?� �:���� �)��� /

������ ��% �)��, /) 7?��) /��� ��� ��� �3�� ���:���� �)��� .  

������ +C)��� 3��)�� +'�� �3�� +"')6M� I�6�) �.:���:   

  �'�� ���# ����0  1 gr Radium     �����C ��
# ��% ���� ��
����� ���) /)
Unstable.  

 E>
��
��C�� �	 ���)�� 
�% �)
� /) +')6� ��� ���� �� !��� /Y   

 E>
  @M���� /!�� ��� ���� �� � ��
����� ���) /) �'�� ���# �	 �>�  

   N = NA / A = 6,023.1023 .1gr/ 226gr = 2,67.1021 

A
��C E>
 �� �>� /  +"')6M� ����C λ    ������ +"')�6M� /����� E�'�
�
����� �����)��:  

λ = 0,6931/T = 0,6931/ 1590.365.86400 = 1,382.10-11 1/sec 

            +�'�� ������ �'�� ��
��� ���# /) �
��C�� �	 �?')6� ���� O���� ��0 �)�
������:    

N.λ = 2,67.1021 . 1,382.10-11 = 3,68.1010 nucleon  

 ������: 
�% �?')6)�� ������ ��0 3,68.1010 ��'�  ��% �����  1 Curie.   

NA  =  ��0 ����
�  �����	Avogadro.  

A    = ��
���?� +���� ��0 �� ����� /(��� ����
.  
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              �3����� �)���  &��� +)���� ��-)�� ������� ��(
))� �M�' �������τ 
��	��)      5-)�� ������ ���) ��
'� �3���� �����  � F
� ��   2�
-�� /) /�� $   @M�� E>
 

=>�            ��)
��>�� ���0 8?0 ����� �
)���� ���>�)�� ��)
�>�� +� ��
' �)
� �$  �� 

  �
���)�� �
���'�� �
)?��� ��
�3���Analog.   

∞                                                                      ∞                                                                       ∞    

 τ = 1/N(0) ∫N(0)e - λt dt  =  ∫e - λt dt =│- 1/λ . e -λt │= 1/λ       
0                                                                       0                                                                         0    

      ���>� �����)�� 
�.� +'�� ���� �     �3���� �)��� ��
' /τ     ������� ���) ��
'� 
 +"')6M� ����C ����� 5-)��λJ����� ������)  $�� τ = 1/λ C)�  � &�� 8?0 @M

������ +'�� �3��:    

     ��-) ���) /) �<�)��� ��NuclideC"C ��� �.�) 8��
 �  �6�) ��� !��6� 
�3���� �%�)0 τY   

N(t) = N(0) e -λt    λ = 1/τ  and   t = 3τ  
N(3t) = N(0) e -3τ/τ = N(0) e -3   

�
����� �����)�� ����� �<�)��� ���?3)�� �
)����:    

 P = N(3τ) / N(0) . 100% = 1/e3 . 100% ≈ 5 %   

      .�) �?<�� ��0 �>�
 I�6�)�� ��% �	�� :        �6) ��� ��-)�� ���)�� /) ��� �� 
� ���  �3���� �)��τ ��  �Y +')6  

�
����� �����)��� E��>�� �3�� ����� +"')6M� /���� ��� ��%�:    

N(t) = N(0) e -λt = N(0) e -1 = 1/e N(0)   

           D��)����� !���)�� ��-)�� ���)?� +"')6M� /���� E�' 5
3��� &��� ��%�
 ��� +0�:� ��
?)��� Radiology$ �     +�0�:��� D�� �����)�� �Radiology 

Activity�
����� �����)�� ��
3�
� ������ +�-��� D���� :    
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A = - ΔN / Δt = λN 

�
����� �
����� +���
 �):    A(t)/A(0) = N(t)/N(0)    

           +� �
�6� �	 +)���)�� +"')6M� /���� 7�-
 �.�)�Radiology  �����)��� 
�
�����:  

A(t) = A(0) e -λt
  

����
 ���� ����� �	:   

A(0) =   +� +0�:���Radiology  ����� �	  t = 0  

 A(t) =   +� +0�:���Radiology   ����� �	  t  

  λ  =  +"')6M� ����C.  

�� +0�:�� ����)����Radiology ����� 5) $ /�
 �� = �
� /�(�� �� ����
� M
����� ���� ��0��-= ��0.  

=        +"')6M� /���� /0 7����� ����� �	 
���>� �) /      ������ ���� N(t)  ���� 
   86) ��� ��� �
��$ �       
 ����� ��% �M�' /) ��0 �	 D��   �� ��
    O��� /) 7-�

   ������ ����� ����� �.
)�� �M�� ������� 
�% ����D(t)  $  ���M��  Atom 

Daughter     � /.����� /B�� /���) �'�G % /VM2   ?')6
 �� ������ $/? .
3��� / 
�
����� �����)��:    

D(t) = N(0) - N(t)   

N(t) =N(0) e -λt 

       �
'"3�M� 56�� /
�����)�� /)�N(t)  �.���) �	 $     ������� �����)�� 7�-� 
�
����� ��
���� �����)�� �
���)�� ����� �����:    

D(t) = N(0).( 1 - e -λt ) = N(t).( e -λt -1 )  

 �	�+�- 8�'�)�� ������:  
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  �.B��  ���� ���� ��
���
���� O������ /��)$ 

��    ���� O���� ��0 &��
    ������ ���� �� ��-��

+��)���Function (t) 
    ���?�t    7�?���� ��%� 

  /
���   E��
 ������ �
     �� 9
��0 D�� D?'

F���> E�����,���%� 
 
 �������/� �.��� ����� 

     +�� +')6� �� �.�:�
5-�.    �%�>� ���'�� 
�%� 

 ��
�3�� �	$       .
)�� +"')6�� 7��-�� /) �
?0�:��� �
?)��� 
�%�     ����)�� !�:� �
��-)�� ���)�� �?<�0 �� ��-)��. +"')6M +�C)� ��0 �3�� I�6�)�� ��% R�-�� 
������ ����� �	 ��-)�� ���)��:    

8 . 4   ������� �&��'�� ������ ��
��� �
#(  

   ��?��� ��� � 8�=/          ��.�) 7�-
 +"')6M� ���' �	 ��-)�� �
�
�3�� �������
 ��
�> ����0$  ��� 
�%�         5������� +')6� &���� ��-) /��� ��
�>�� ���-)�� ����

 F
<��?� ���$          ������� �?<�0 �� E������� +"')6M� �%��
)�� +"')6M� ��% 7�3� 
��-)��.        ��'�� ��) �.��� 
�% 5������� +"')6M� !�:� �
?)0�    1���
 �)��0  

 ��>�)�� ������ ��%) �
#5-.   

    6"� �:?��) !�:� ����� �>�
 .�) +"')�        ����C�� �
��� S����� /) �C"C 
Stabile 9����� +C)$�	 /� /
'   ���) �.�) ������� ���)�� Wismut.  

=    %�>� +"')6"� ������ !�:��� /�   5) ��    ����� �	 3��)�� ��:)�� R�- �
�
�����:  
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� +"')6M� 1<���  �	 &����
�����:  
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�
6��?�1:  

-�� /) +��� ��)��� �	 ������� ��� �>�
 +�).  

       3�)�� ��-)�� ������� (�)� ��>�) ���C�� ��)��� �	� 8     ��)����� �	 �.)�� 
+���.  

  �:���� �)��� 83�) N��C�� ��)��� �	�  T1/2 ������� 
�.�.  

���)�� /) ���-)�� ��)
�>�� ��0��-= �>� 5����� ��)��� �	� .  

-�� 
�% ����3 �
� �>� �
��� ��)��� �	�   ��0��α . β . γ.   

1 �  ������� !� +"')6�  Uranium Radium Seri   

    ��
������ ��
����
�� !��          ���
����
�� ����) ����0 /) D)�� ��92U
238 

      +)���� +"')6M� ��� �.�) 7�-
 �)� �
�����$  ��� ���)��� �      ��% ���
��� ��>�
  9�����82p

206$       �� /) �?')6)�� !�:��� 
�.� �?���� ������     I(4n+2)  �	 
 ����� ���� �����n+)�� ��0  ��
�3.  

2 ��� ���0 +"')6� !�  � Thorium Seri   

      �
������ ���0 �% ������ ������90Th232$      ��% �<�.��� 7�-)�� ������� 
9�����$           �% +"')6M� ��% !�� ����� /(��� �� +���� ��0� 4n$   8)��
� 
 !� ��%4n Seri .  

3 �?� +"')6M� !�  �� ������ Uranium Actinium   

     ��
����
�� ������ �<����� ������92U
235$      ��0 ���-)�� ������� W�� ��%� 

?���. ����
 +"')6M� !�� ����� /(��� �� (4n+3)$ /) �%� 4n+3 Seri.  

4 ��� ���0 +"')6� !�  �  Neptunium   

   �� ������ �<����� �������  94Pu241$   � �
��� ������� ���     ����0 D��) ]�
83B

209.  
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     !��� ��%�Seri    ��
��� ��)�� �	 !-��� $       � +��� /�) !��
 ���    ���% /
W��� /) �:���� ��) ������/�   ���
 �� �:���� 
�)0 2,1.106 a /) ���  

  ����)�� W��� �)0109 a   ���>� ������� ��% /) ���-)�� �������� ��� 
���
�F
�.�?��� !�� I�6�)�� ��%� @�'M �
�> ��� �	 D�0    �  

8 . 5    ������ 
(�%��� �&)�* +�,*- .� ��'/��  

    ������ +"')6�� ��>��Neptunium$ � ����       /�) ��
��� ������ /�� 
    +"')6"� �?����� ��-)�� ������� �0�)>)$          !�:�� +�� /� 8?0 +� �) ��%� 

      ���� ������ &?) ���� +"')6M��.�     �� /(��� �� +���� ��0     I�� /) ���4n+1 
����.�0 +��� ��  /) (4n+1) Seri$���-) �
�
�3 ������� 
�% �
�C�G	 $ �
)�� 

.��0��-=���
*� $.��(
) �	��)� �.) �% �) ���� ��%� �:    

1 �             �3��� 5-� �� ��0��-= N�� ��
�3�� �	 ��>� ���� ��-)�� ���)�� +� 
.�) ��0��-=�: α . β . γ  .  

2 �6�� /��� �.N�
   ��0��-= α  ��0��-= &���� β .  

3 � ��0��-= N� �
?)0 �	 � �:�α� ��0��-= �� 
 ��βA)<�� .�	��
 ����0��-= γ  

4 � ��% /) !���� �   ��0��-= N�� ���)�� �� ������� / α��  ��0��-= β$ 
  /�����0        ��0��-= /) N��� /��
 �)α     ��0��-=� β    J�:� �	 &����    ������

  ��0��-=γ, E>
 �@3
?� 5-)�� ������ ��% /��
 /�����0 ��0 /) .   

������:   I��-= /) �� �
)� 2�30P�γ Quantum 
�.	 ����� ���� /) �>��� 
M� �
# M ���3�� ���' �
*� �
?)����
*� ����� ���� ��
�3 .  

  3�)�� ���3�� �)
���          �	 ��
����� ���0 /) �'�� ���# +"')6"� �>����� �� �
')6M� /�6#+"$ ����� �	 ���� 1590 �� 1620A�
��� ����� ��� �:    

E = 109 Joule   

              ����3 ���)(?
 9������ /��) 8�= ��
����� /) �'�� ���# +
�'�� &����
�����:   
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E = 1,4.1010 Joule  

8 . 6  �'����� ��
��� 01�
�  

W��:�� /�          /
����� /

") /) ���	�) ����� ��
����
�� ���0 /) ��3� ����0 
  W��� +��� �	$     +"')6"� &�:��� ��
'"� +� �%��0� $   ���>�� /���  ���  

         ��
�> ��� �B'� +� �	 ���?� �3�� ���� �.� �������$        /�) ����'�� 
��% 8�?0� 
 �����)��� 2�30�� P	    
'� ���M� 
�% /�        5) /(���?� �)("�� ���)�� 2�30= 7
�3 /0 

���.   

      ) 2�3���� �����)�� 
�% �>�� �� ��=� ��� /$ 	 P    F
<�.� +')6� ���M� 
�% /�$  ��%� 
      E>
 ��% ������ J���
 +�����           ��� /
�� 5-�)�� ������� �
)� �
��� !��� /

������.  

������ +'��� ��:� E���� ��.��:     

    � +"')6M� ����C ���� ��=?       ������ ��� ����λ1        ����)�� /�) +')6��  
  �
�����N1$     ����� ��'� �	 N1λ1$ &����       ���M� ��0 �
?)��� J:� N2λ2$  ��.�� 

  ����� �����)�� 1���� +���N1λ1 = N2 λ2   �3����� �)��� �����) �����)��τ 
���+"')6M� ����C +����� +���
 �$�
����� �����)�� ����?� 83��� :    

N1 / N2 = T1 / T2  

            ��� ��0 ���>�)�� ������ O�� �
)� /(��� ��� R�-
 �� ��:
 �) ��%� ���� ��$  
.
)����    ���� ���?� �:���� �)��� $            ����� ��� ����0 ��?�� 8�= ���0 ��= /��� 

 ��
�'�� �	 �����m1$%� �A
<�
(
	 ����� &��� �:  m1 = N1 . A1.  

����� ���M� ���0 �?�� &����:m2 = N2 . A2  .  

	P�
����� �����)�� ����� /
�CM� /
� �
����� /:  

m1/m2 = N1A1 / N2A2  =  T1A1 / T2A2  

�
����� �����)�� ����� ����� �
)�� ������� ���)�� +�� /(��� �
)��:    

m2 = m1.T2.A2 / T1.A1  
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   /(���?� 1?�
 /������ ��%�            ������ ������� �� ����)?� ������ ��� /
� �<����
�) ��>�)���W��� !�> �	 /
���� !M^  .  

   A)<�� 
�>� ����	 /���    ���' �	 �  ��>�      @C
��' ��-��� ��-) �� ���) �� ���0 �
   ���M� ���0 7�-� �.�)�$ %� �     +"')6"� �?��� ��-) ���) &��� $ 	 P     ����� /B 

    �
����� �	 5:��
 ���M� O���$    � W:��
 &�� ����       +')6�� ��-)�� ���M� 
�% /
      ��� O�� /) �.�� &����   ��0��) 8�?� ��� ��$ 	 P  ��� O�� �
)� ���� ��At  ��	 

�  ����t$ 	 P               ������)�� ������ ��� /) ��0��) ��?� ��� �� ���� ���M� O�� ��0 /
�
�����:    

B = λA / λB-λA  .  At( e -λ 
A

t  -  e - λB
t )  

     ��� /) �
?)��� 
�%��� � ��� �����)�� �)B0�  tmax       O�� ��0 +�� B   8��= 
F�> 5:��) ��0�$�� ���M�� ��� /
� /(����� �
��� &���� ���0 �
����� �����)��� �.:    

t max = Ln λB / λA / λB - λA  

C)� +� ���0 ����� ��= &�� 8?0 @MThorium B  �A
��' ���� ���� �$  
��)0� 
  ����
 ���'�� �:����T = 10,6 a����� ���0 D�) 7�-
 ����  Thorium C$ 

 ��
����� ����)�� �:���� 
�)0T = 60,5 min  .  

+�V���: ��� /) �� ��� /�)) �����-7� � ���0 /) �
)� ���Th.C Y  

�@���� ���� ���� ����� �����) E�'�$  �� t max 

 +'�� +�� E>
 ��	��) �
��   
λB and λA   

  λB=0,693/60,5=0,01154.1/min λA=0,693/635=0,00109. 1/min   

� ����� �����) �	 �
��� 
�% 56����  �����)�� �)B0t max +'�� 8?0 +�'� 
������:   

t max = 2,3 log 1145/109 / 0,01145 - 0,00109 = 3,78 h  

�
����� �����)�� +' ����
 ���M�� ��� /
� O���� +���� �
����:     

NA/NB = TA/TB  = 60,5 / 636 = 1/10,5  
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�
# �� W��� �)0 �� �)
���� ��
�C��� ��
>���
>�� �)0 �
�'���$ ��
?0 �) 
=  +��� /� M:  �6��	� ��=   �)	���         O����� ��	��)� �)
���� ���)?� �<����M� E
����� 

      
�% /) ��
0 +
?'� 7
�3 /0 ���>�)��. � =   ����) /) ���-) O���� W�� ���� ��
�	���)$  
��� 5
3���   �       ��6�'�� ����� �	 �.�
��� �
�'�� ��
��� �)0 .  ���
�3�

=302�   ��
����� �����)�� E�' ���)?� �:���� �)��� N/N0 = e –λt$   ������)��� ��
 �
����� �
���)��t = Ln( N/N0) λ.M B'�� 2��� /���   !��� ?? = N0 /���  

         )0 �>�� �3��) ��
�3 R�-� �
����� ��G�)�� �	 �
�'��� E�'?    M �) ��>� +'� �
 
�>�
.    

�	
�: = �':�� �
B� /C145-) $�:���� 
�)0 ����
� τ = Ln 2/λ = 5730 

y       �':�� ���0 �)�� C12   ���C ����) �.	 .    �
��� ����� C12      8��= C14   ��	 
      ����� ����� �
�����8,3.1011  $   �
����� 
�%�(      ���� ���	 ��� ���t   �'���G	 

�����: 9,1.1012.  

 ����� /) ���:�� 
�% �
�'� E�?3)���t.  

���
:    

     /G� W��:�N12         ����� �� ������ ����� �% A     ����?� C12     /��� ����� 
A��>�)�  �� �	 +�$      ���C ����) �
B��� ��% /� �)��  /�=       ��� O���� ��0 J:� 
��0 

       ���	 �� ��� �6)t        �
��� ��G� +'?� ��%� C12     8�= C14$   
���� �� �   ����)�� 
     A
��' ���>�)�� �
<�.��� ���)�� 8�= �
<������$         �<����� ����� ����� /� �>�	 N0   O��?� 

C14 �)
��� ����
 /�� N12 / 8,3.1011$�   O��?� �<�.��� �����C14A
��' ��>�)��  �
  �
����� �)
��� ����
 N12 / 9,1.1012= $�����)�� E�' /�:   

N/N0 = 8,3.1011/9,1.1012 = 0,0912 =  e -λt     or 
0,0912 = e -λt   and     Ln 0,0912 = - 2,39 = - λt    

 ����
 �:���� �)���τ = 5730 y$�� �	��)  +"')�6M� �����C   λ  ���G� 
�
����� �	���)�� �����)��:    

τ =Ln2 / λ and λ = 0,693 / 5730y = 1,2.10-4 1/y [t]    
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- 2,39 = - 1,2.10-4.1/y   
t =  2,39 / 1,2.10-4 .1/y = 19,9166.103 ≈ 20.10+3[ y ]  

 +� ���0 ��0��)� ��
�3�� 
�%�C14 	 5-)�� P � ����� +)���� �.� ��	��) 
�) 2�
-�� ��)0�  /
� 50 000 8�= ��� 100 000��� ,M 5-)�� �
B��� ��% /�  

  �)�
�   /) �C�5730   
 ��%� ��� 8?0 7�3�       �������� /���
'��� /����� 2�60� 
�8?0          �A�
��� ���
�3�� ��	 D�) �>�
� ��
'�� �
� 8?0 �% �) +�  �80000  /�3 

 ����)� +')6
�16�-0 �� ���
���� �	 +"')6� �
?)0 .  

 7�3 �����)�� �	��)          +� 5-)�� �':�� �
B� �
?)0 ����3 ��� �)��� C14  7�-)�� 
    ����)�� �
B��� /)C12$� ������ ��
�3�� �	��)��� /�
?) /) �)��� . ��
�3��� 

  � �
����� �C
�'���	��)    �� ���)��� 2�
-�� ��)0� ���>�)   /) �      ���� /��
?) /) �C�
��
����� �3���� /) 7?3�:  

����� : �=�&��% /��  �-2   N0&?)

��>� 2�� �	 A��0 D���� �	 �  �A��') /)
��  O����              D�� �����)��� ��-)�� ���)�� +"')6� /����  7
�3  /0 ��%� ��-)

�	��)   ����� t            �-�� ��% ���� �	 ��-) ��� /) 8��� ��� +"')6"� �("��  2 
)��?3�E �	��)�
����� �	���)�� �����)�� E�' Y 
�)0 :    

N= N0 e -λt 

    +"')6M� /���� �����) E�' ��%��/�)) �
# +'�� 1��$�� ��M   5
3���� 
     O���� ��0 ��'� /G�N(0)  �-�� ��.� 2  -� ��� �G  �3 �G� D
�� ���� $   /���   /�)

��     �-�� ��.� O���� ��0 �	��) /�))2         7�
�3 /0 �6�'�� ����� �	 D� ���>�)�� 
      �-�� ��% ���) /) ��
*� ��
0 +
?'�2 �
���� $ � 
 /�)      ����M� O��� ���0 �	��)

D(t)  ����� ���) ��� t�
����� �����)�� �
30� ��.�� :   

D(t) = N(0) - N(t) = N(t).(e-λt - 1) 

     /G� 5
3��� �����)�� 
�% 7
�3 /0�   -� ��� ��'��G  �-�� ��% 2    ������� �� 
�
����.  

t = 1 / λ . Ln.D(t) + N(t) / N(t)  
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���  ��� ��� ��: �	��)  9����� �)0      A
��' ���>�)�� ���M� �� 5-)��    ����� �
 ��
����
�� ���0 +"')6� /) ��C���238$ �� N(0).   

F
)?0 !���)���F
�
�3�� �    ���C��)�� �� ���-�)�� ���M� /G� � D(t)   ���� /�)
     ������ ��
����
�� �
B� +"')6�U238         9������ ��
B� �'��� 82Pb206  

�
����� �����)�� E�':     

 82Pb206  ←92U
238

  

   ���M� 7C��� &����82Pb207  ������ /)82Pb207  ←92U
235

  

  �	��)��  �����t   9���?� 206         �
����� ���� �) E�' ������� �����)�� �?)� 
�
�����:    

t = 1/λ(U238) . Ln  D(Pb206) + N(U238) / N(U238)  

λ(U238)  =   ��
����
�� ���0 +"')6� ����C238.  

D(Pb206)  =��0 ��
����
�� ��
0 �	 ���>�)�� O���� 238 . 

N(U238)  = �6�'�� 9����� ��
0 �	 ���>�)�� O���� ��0 206.  

     � ���>�)�� ��
����
��� 9����� ����0 /)�V    ����
0 ���?'�? �
  �F
)?0 + �
F
�
�3���$  ��
)��� +
?'� ��
�3 /0� Quantity analyze    O����� ���0 ��>�� 

   �
����
�� ��
0 /) ���?3)���$   9����� /) &����    �
#��     9������ +�� ����
206$   � +)���� ��
�3�� 
�%� �	��) F��> �)
���� �<�B���� ������� �)0 �.  /���� 

��	��)� �
�-��� �)0 V�� �
B� ��
�3 ��� Kalium .  

  O�'��� ��Kalium- Argon $3�)�� ����)�� ��
�3�� 
�% /0��  ������)��� �
�
�����:   

19K
40  → 20C

40 + e 

   +� ���0 3��?
 �)� +'�� 5��
C40 20  +� ���0 /) ����������19K
40 �)
�� 

  ����� �	���)11% �
B� S���= �
?)�� �<�)��� Argon  �
����� �����)�� E�'  

19K
40 + e-  → 18Ar40
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             �	 �
����= �
��� ��>� 7
�3 /0 �
�-��� �)0 �>� 7����� +'�� 7
�3 /0� 

�	�� ������ ���- ���>'�)�� �	 �
�Human Fossils�
������� $  ��C  +�
?'� 

               ���> ��	 ���>�)�� ��-)�� ��
����� ���) 7
�3 /0 �
����� 
�% /) ���
0 W��
/�����$      �
�-��� ��>� �)0 ��' �))     E���
 1,75  ��� /�
?) .     ��3�� &�����

������ +C)?� +'��:    

W��:�/� A��- �F
��0 � D�(� 70 kg$ ��> �	 ��>�)   D)0,170 kg  /�) 
     ��
����� �
B� �� ���0K40

19$         ����
 ����) �
# ��� �.�) 0,012%$   /���� 
      �
# 
�% ��
����� �
B� ������    �
# �� �����)��    ����)� +')6� ����C89%  E�' 

�
����� �����)��:    

19K
40 → 20C

40 + e-
  

��=� ���
B��� ��.� �:���� �)��� /$ ����
 ��
����� �� T = 1,3.109a$ ���� 
  �
B��� ��% /)$ �    �11%        ���������� 3����� 7
�3 /0 ��V
 �<�)��� ���  8� �>��
�� ���0 /) �Argon�
����� �	 ���� ���� �����)�� E�' .    

 �
���
 ����:             3������ ���
?)0 ���0 &���� +"')6M� ��
?)0 ��0 �% �� 
����������        9�-�� ��% ��> �	 �
��C�� �	  /�� ��=   /(�       ���% ��	 ��?
��� ���)

����� 9�-��:     

m = 170 gr + 0,012.10-2 = 2,04.10-2 gr  

�	��)� �
)� �	 ���>�)�� ������ ��0 2,04.10-2 gr   E��' ������ ��
��� 
�
����� �����)��:    

N = NA/A = 6,o23.1023 / 40 . 2.04.10-2 = 3,07.1020Atom 

��0 �>� �
����� +"')6M� �����) 7
�3 /0�+')6� ���� O���� :   

ΔN  = - λ.NΔt =  -Ln2/T.NΔt .  λ = Ln2/T  

ΔN = 0,963.3,07.10201sec / 1.3.109.365.24.50.60sec ≈ 5000   

	P  /) �
��C�� �	 +"')6M� ��
?)0 ��0 /89%����� �<�)��� :    

5000.89%  ≈ 4450   

o b e i k a n d l . c o m
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  /) �
��C�� �	 ���������� 3����� ��0 &����11%
 �<�)��� ����:   

5000.11%  ≈ 550  

8 . 7 ��*��23� �*
4�� ��56��  "*��23� �*�#��� ��56�    

   5
3��� 8�'��'
    ��-)�� ������� ��0��-= ��' �$    ���-)�� �
0��-�� �
)���� 
                 ��-�)�� ����)�� 
��% ��(�
)) 7��:� �	��) 5) ���)�� 
�% /) �'�� ���# /)

�:?��)��$        �	 ���)��� ���>� �) E�' +���       ����) ���� +0�:��� ������=   ���' /
@M�� 7?��) ��-)�� ���)�� 
�% ��0��-=:  

Y �
��C�� �	 N�'� +"')6� �
?)0 ���  

� �� ����� �	 +"')6M� ��%
 /�=@�(� M�A��
�) �� ����)�� +"')6� +0�:�� .   


���  ��� ��� � )�        ������ �	  E�'� �.B8�3      �:����� ��)��� ��C� ��� 
+"')6M�.    

        ��
����� ���0 /) �'�� ���# /) +')6� ��� ��Y      +"')�6� �
?)0 �� �� 
�
��C�� �	YA)
�� ����� �>� �
?)��� 
�.��  /
� �3,68.10+10 nucleon +'��  /��� 

 �)
��� ����
 �
�>��3,71.10+10 �'� �
)�� �
��C�� �	 ��� ���� �  J��
�)�� ��% 
 +� ����� &�� �	Curie = Ci.    

1 Curie =  Ci  = 37.10+9n       1 Bq =  37.10+9 .1/sec  

?C)�� �3�� ��.����
����� :  

1 �       +� ��'�� �
)��� �% �� Curie       M ����� 5-) ���0 +"')6� +0�:��   
    ���) /) 3
?� D� �>�
 $O���  �=  �  /��         �� ��0���-= ��
��C +� N�
 ������ ��%

  ��)
�>βA�
��� ����� ����   �500�> 
C +� �	 �)�
��Y  

��� 7
�3 /0 ��G� +'?��
  ���:)�� ����� ��>�� N
?C��� �
?)0 �� ��0�� 3x  

�
����� �����)�� ��G�:    

3,71.1010 / 1  =  500 / x 
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x = 500 . 1 / 3,71.1010  = 135.10-10 Curie   Ci  

2 � �� Curie �	 �>�
 100 gr@C
�' 7�-)�� ��
����
�� ���0 /)  ���) /) �

�� �
���� ��
����( U308 )$ ���'�� D�(� Mol ����� 3.238 + 8.16 = 842 

/�� ��= ����
 ��
����
�� ��� 3.238 = 714Y  �
�� ��%� � �
)� �% �� !��� /
     3
?��� ��.� ���>�)�� ��
����
���          N�
?C��� ���0�� 7�
�3 /0 �%�>� !�� ����

�
����� �����)���:   

824/714  =   100/x  ..x  = 84,8 gr Uranium..(UI) 

 ���>�)�� ������ ��084,8 gr ���� ����� �	 ����� ��
����
�� ���0 /)  
  ����
 ������ ��.� +���� ��0Au = 238  

Nu =  NA / Au = 6,023,.10+23/ 238 = 3,146.10+23 Atoms 

/�� ��=    �����
 ����)�� 
��.� �:���� �)��� T = 4,5.109 a$  /P�	  �����C 
����� +"')6M� ���
����� �����):    

λ =  0,6931/4,5 . 365 . 46400 = 1/2,053.1017.1/sec 

�
����� �����)�� ����� �
��C�� �	 +"')6M� �
)��:    

Nn.λ =2,146.10+23 . 1 / 2,053.10+17 = 1,045.10+6 Atoms 

��� ��'�� +���� 
�% +"')6M� �
)��� ��Curie:   

1,045.10+6 / 3,7.10+10 = 0,28.10-4 = 28 μCi 

  @���� ����� ���          +"')�6M� �
?)0 ���� ��0��-�� ��' �� ���� �
�'�� D�G� �$ 
              ����0 /) �'�� ���# /) �
��C��� +')6� ���� ������ ���� ��?��) �.�G� ��)?0�
             /
G���� ���' �	 ��0��-�� 
�% �
)�� ��0��-�� J�
� �� /(�� ��'�� ��
�����

     
�
' ���) �	 �� 2��.�� �	�.           2�) �� 2��% E��) ���� �	 ��)(?
 /
G��� ��% +)��� 
 ��'- �
�
' ���) ��= ����� �.���3 ���� �
�
���������32,5 eV$ �
?)�� ��
30�� 

  ��� 
�% /
G���:   �� �� �0�>�� � Doses$      �F
)?0 �'��- �0�>�� 
�%� �$   /� �� 
        � ���� ������� ��0��-�� ��'- /
� ������ ����� �0�>����� ��    ��	 /
G��� �
?)

 2��.�� !�>�� �
#�� �>��� E3�0˚$ ����
 3*6 �'� ��>�)�� 1013 mbar$ 
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         ����� �	 /
G��� �
?)�� �?����� �.
?0 !���)�� ���)�� �?�� &���� ..t$ 
� V   
��.� ��
       ����� D�?�� �
*� 2��% �>' �
?)���Δm$       �3������ ��0���-�� ��'- ����� 

  �����ΔQ ����� /
G��� ��'�� �
����� �����)��:    

I = LimΔm → 0  . ΔQ / Δm  

�
�'��� ��%�Δm→ 0 Limit� 83�
 �
����) /�� �� /
G��� ��
?)0 /$  +�� 
     ���� /�) 
�% /
G��� ��'�� �30�� O��� 8�= �3�� /) +����    �����
��� /�����

  ��'� /�(����Coulomb�
����� �����)�� �
���)�� �?���� 8?0 �)���) :    

I = C/kg  

      A)
�� 5������� �0�>�� ���'� 2�30= 5��
 ��%� @C
�'� ��$ .�)� �    ��)
���� ���'��� 
@���) ���� ���� �:Roentgen   Curie   Bq �
���) 
�%� :    

1.R =  258μC.1/kg = 258.10-6 .C/k.gr  
1.C/kg = 3895,97 Roengten (C= in Coulomb)  

83�� �C
�'�� ���'��� �)��:    

1rad = 1cGy = 10-2 J/kg 
1Gy = 100 rad 
1rem =  10-2  J/kg  
1J/kg = 100 rem 

�0�> 8��) �) Y  

% �.:������ �!��>� !
� �  ��0�>��   

F
)?0 !���)�� 
(> /�) ��� /
G�� D�G� � �<  2���% �air Mol   ����� ���)(?
 
=   ������ ����	 �
�
���������3,33.10-10 Amp $)��  �	��   �����
�� ���0 �

  � �	 ���>�)��    2��% E��) ����      ���>���� 2���.��� �)
� 8?0 ��'-�� 
�% ���� ���
�
����� �����)�� E�' ���?3)�� ����
�� S����:     

3,33.10-10 A / 1,602.10-19Asec = 2,08125.10+9Ion 
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��
*��� �
<���.��� �)
��� ��>� !
�Y  2��% ��� ���# /
G�� D�� !���)�� /) 
��� �
<���.� ���3 ��)(?
 ��96,489 Coulomb$    ����� 8�?0 �)����) 
�%� 

� �����	NA  �
���)�� NA = 6,023.10+23   $�
����� �)
��� �>�� �����)�� E�':    

96,489 Coulomb / 6,023.10+23 = 1,602.1-19 Asec 

���    ������ 7�� �            ������ 2���.�� �	 /�
� 7?�� ��>���� �
0��-�� ���3�� /
32,5 eV$	 &���� P3�� /  /
G�� ��>���� ���2,0812.109 Ion  +� ���'�� ����� 

eV������ +'�� E�' :    

32,5eV . 2,08125.109 = 6,7640.1010 eV  (1eV = 1,6.10-12 erg)    
6,7640.1010eV . 1,6.10-12erg = 107,84.10-3 erg 

  �
)��� 
�% /���       �� 2��% E��) ���� �>' �	 ���>�)���	��)     ���'�� ��.�?�� 
�*�������� +'�� E�' 83�� ��:    

1cm3 air = 1,28.10-3 gr 

               ���'�� �
0��-= ���3 ��)(?
 �
' ���) �� 2�)�� �� 2��.�� /) �
)��� 
�% /
G�� 
 +�erg ����� ���# : �
����� �����)�� E�'   

107,84.10-3 erg / 1,28.10-3gr = 84,25 erg  

�
����� ���'���� �
��� �3�� /� 5
3��� &����: eV  W sec   Joule   

1 eV = 1,6.10-19 Wsec 
1Wsec = 1 Joule 
1 Joule = 10+7 erg  
1 erg = 2,24.1011 eV 
1 eV = 1,6.10-19erg 


	�א��������9�
�
����Radio Active Rayא� �

 )     �
�3�� ���)�� /0 @"�� 
����� �)
   ��-)�� �)?0    ���
'��� ��
� �.�� ��$   /���� 
    �)�� /) �%�
# ��<)�� �>�
����)�� ��-)�� ��$ E���� ��.�� P	  ����6��� /) D�
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�   �
<�
(
:�� �.��:�� �.��(
) ����� �	 7)����� �.:��$ ���� ��0��-�� �
)� &���� 
�.�) N�� .  

 ��0��-�� 
�%    ��)
�>�� ���
'  �)�   ���)�� 7��� A)�� ���    �.���3 /�) ��  �� 
 .���3 O�'���� �?)���� $ ��       /) 7)0 8?0 �.��' &��� !�6  .�) �	���)�� ���)��$� 

�M     J�
� �� /(� �.� ��'
 ..����� ��0��-�� 
�%� � � �.�
� N�'� ���� ���) �� 
� /
��
����� 3����� �.�) ���� �"0�:� ���)��:     

1 �   �� 
�%  ��-�0   �� �Corpuscle �       !�.�� ���) �� ���)�� ���)�� �	 &�'�
     !��� /��� ���)�� 5) +0�:� �
?)��$ .���� � ��    0�6� 
�% +0�:��� �
?)�  .���3 /) � 

    ���)�� ��� !"# ��������= �	$   �.���� �	 &���� $      ��-�)�� ��)
�>�� 
�% /��� 
 1���Brake Action���)�� &)� E�'  .  ��0���-�� 
�% ��)
�> ��0 /��� 

  �?0�:�)��
8��  �% �)�   !�6� /��� .   �>
��� �  �"0�:��� 
�.�  ��
<��C ��0��-= ]��
� ���)�� &��$              9����)M� ��
?)0 D
)��� +0�:��� �
?)0 /) ���)�� �	 8��� �)� 

Absorption Action .  

2 �    ����� ��0���-= &���� ��0��-�� 
�% Quantum Ray �.?0�:�� � �� 
.)������     ���)�� O�� 5) � � !�'��  .���3 /) ��:$�   �� �3��     ���%�>�M� +� �	 �


 ��-��� �
?)0 �.
)�� 
�% 7�:��� �
?)0�Scatter Action.  

3 ��)� ��0��-�� 
�% &���� �.    ����� ��0���-= Quantum Ray  ��	 
.)�����     ���)�� ��������= 5) �   �� /�����8  +0�:� /��� $      �.
)��� ��
?)��� 
�%� 

  D
)�� �) �� +)���� 9���)M� �
?)0Pure Absorption.  

    �M�'�� +� �	�P	 �)�� /�      �
 �� ������� 3����� 
�.� �<�
(
:�� �  A'�6�� /  /� �
        E>
 +0�:��� ��
?)0 �	 I��-�� �
?)0 !
�6��  /
 7)��� J��$    +�C) &���� 

 C�� �"0�:����   ����� !"# �	 �
<�$       &��� E>
 �.���� �	 &���� �     D��� J���� /
 /�))�� /) J
��'��- +� 2��2���)�� ���)�� �	 +0�:���� ��0��-�� /) $ ��.�� 
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     �.� ����� ����� �3�� 8�= +����  
� �� 3����        /
�� &��� �).) +0�:� �
?)0 �%� �
��
 �	���)�� /
G��� �
?)0 �.
)�� ���)��� ��0��-������ Ionization .  

       +��� �
?)��� 
�% 3
��� �� R�-��=     �> �� ��� /
G� �
?)0 /
  � ���) �)��
 = M
=����    �� /�����=�     !�.�� ���) ��� !"# /) �C�$ �0�)>) /) ��  
(>��< ��Mol 

�)��>���)�� 
�% �	 ���.    

�� ��0��-�� �)� 8?0 ����� O�� /
G��� �
?)0� /) ���� ������	 �.�) �
�?#�� /
 �
�
��� ��0��-��$      ��0��-= �� Roentgen         ��� ��0���-= /�) &���� �� � 

Corpuscle.  

       ��0��-= 7
�3 /0 /
G��� N�'
 &�����    �:�α$       ��)
��>�� 7�
�3 /0 �� 
�
����� �	���)���� � Positron ..Proton ..Neutron =_�.   

   � ���� ��0��-�� 
�%���� �      A���6� 7?�� �
'�� ���)�� �	 /
G��� �
?)�  �'���� �
 ���
 �))=��')�� ��)�� 8�$      /
G���� ��
0�� 8��= ����
 ��%� Specifically 

Ionization$        �0��-�� ���� �� ��0��-�� �
0�� 8�= ���
 �)� .     ����'�� 
��%� 
3��     �0���� /
G��� ��� �.
Is          ��.
?0 !���)�� ���)�� �	 ]��� ���� �
?)��� ����)�� 

   ���� ��0��-= �� ��)
�>��$       ����
�� ���'� /) S��() ��0 Δn    ��
)��� 
�%� 
         3�)�� ���)�� �	 +0�:���� 7���� 7
�3 ���) �	��) 8?0 �)���)��   Δs   ��3�� 

�
����� �����)��:   

Is = Δn / Δs 

 
G��� ��%�      �	�C� &?)
 /Id  

     /�� �� �	�C��� 
�%�=       �����
�� ����'� �)��� M
  �>��()��Δn     ����� ��'� 8?0 Δt  $         ����)�� ��>'� ����� ��'� E�6  &����

 I��-�� �.
?0 !���)��ΔV$�
����� �����)��� 83�� �
?)��� 
�%� :    

Id  =  Δn / Δt . ΔV  

=     �0���� /
G��� �
� /Is     �	�C��� &����  Id ��   .����3� ��0��-�� �
0��� 7?�$� 
   �	���)�� ���)�� ��
�3� &���� �.
?0     �)�0 ��0��-�� ���)�� �� $ .�) �  ��0��-�� 

�
�����:   
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9 . 1 ��*��27 -  �#�α  

      ��0��-P� ���)�� !�� 7
�3 /0�    �:�α         ��0���-�� /
�� +�0�:��� N��'
 
 �	���)��=�)�� ���)�� ��� !"# ��������$���)��� 
�.��    /
G��� N�'
 �
?  

     
�% /
G��� �
?)0 �	��3��     ��)
�> α  .���3 /) �     ��� !"# ��������= 8�= 
 )�� ���)����� � �  .�0�� /) ���$�   .%�>�� �
*�
 /��� �   @"
?�   E���  �.�?�� /(�� 
   �% �����    ���)�� ��������= +�� /) ���$      �.��� �
?)�� ��0��-�� 
�% /��� �  ��� 

���)��$  ����� ��= � /)    	 ����� ���� P  /�))�� /) D� /�   .	��'�� ���
 �  ��-��� �� $ ��%� 
   ����� ���� �*�� ���
$ �   @"
?� N�'� �
?)��� 
�%$    8��
 ��%� �     ��0���-= ��-� /

αO��� �
)%� D� ���)�� �	 .  

      ��0��-= !�6 /G� +��� ��%���:� ..    ���)�� 7�� �	..     ��
?)0 7?� 
���) ��%
      /0 ���)�� ���)�� �	 /
G�  ��0��-�� 
�% 7
�3$      ��0��-� ��-��� �
?)0 /��� 

αF�> �:
:� ���)�� 7�� ���) �	 �.   

       ��0��-=� ���3�� �	 /��� ������� /�����:� ..      ����� ��0��-�� 
�% /� ��
        ̀+�� ��� �)� ����� ��������� �.
3�� ���� �.���3 /)$   �	� �    /���� �M�'�� �C�

    ��)
�> ���3 ������   ��
�� �:�  �>��() ����
� 7?��$ ��� /    2��.�� ���0 7�� 
  �
)�� !���)�� 3*6�� �'� N�'
1013 m bar$  ������  ����' �	 &���� 

0˚.  

               ������ ����3 /
G��� �
?)0 +)�� 8�' ��0��-�� 
�.� �(?
 ���'�� 
�% �	�
35,5 eV.   

 ��0��-= ���� ��= /��� α   ��0���-= �
0�� /) 
�%mono Power Ray $
�.�P	  ��
��0 �
# �"0�:� N�'
 �M�'�� W�� �	 ���)�� 5) �.?0�:��without 

normF�> ��:��) ���3 ���)�� 5) �"0�:��� 
�.� �.)(?
�  �1000 eV$ /� E>
� 
�    ����0M� /
�� �B��            7�
�3 +��3 ���) 3���) ����� �	 +��� �)� ���'�� 
�.

 7����� � R ��0��-� ��:� �)�� �� ���)�� ���)�� �	��0��-�� 
�% 5) �?0�:.  
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  ��0���-T� 7���� 7
�3 ���) +�3 3���)� ���
�mono Power Ray $
   ��)
�> �.�3�� ���� �	��)�� ���+0�:�?� ���)�� �	 �:�.   ����� ��.���3 �.��� �)�� 

     ������ ���' 8�= +�� +0�:�?� �.����$         5�) �"0��:��� ��0 E�' �
?)��� 
�%� 
     �.���3 ������ ���)�� ����       ���)�� �	 7���� 7
�3 ���) +�3 3���) �%��
)��$ 

 ��� �
30G	Ŕ.  

    ��
?)��� 
�.� ���0�� W�� ��%�$       2��.�� 7��� ��0��-T� ��>�)�� ���3�� +C) 
 @"C) ����� ����1M eV�� V ���) 7��� �� /
�� ����
 7)0 8?0 2��.0,6 cm 

 ����� ���3 ����� &����2M eV$  ����� �	��)� 1,1 cm%� �> �?�.   

 � /���  �	��)         7���� 7
�3 ���) +�3 3���) �)
�R   $   �
<�
(
:�� 2��>�  /
H.Geiger       ���� /))1882 � 1945 (     &�����J.H.Nuttal     
��.� ���>�	 

�	��)��$ �7
�3�� ���) +�3 3���) �$�
�
��� �����) Empiric equation  �	 
           ��0���-= ��3�)�� �� N���� ������� ��?��) 2��.�� ���0α$     �����C� &����� 

 ��-)�� ���)�� 
�% 9���)�λ$�
����� �����)��� �.�)
� �
30G	 :    

Log . λ / S-1 ≈ A+B Log.Ŕair/cm  

���� ����� �	..    

λ  =��-)�� ���)�� +"')6� ����C.  

Ŕair = ��0��-= 7�� 7
�3 ���) +�3 3���)α2��.�� �	 .  

 &����P	  ��'"3�M� /A B �     !�:�� �����C +����Seri  +"')�6� 
��0��-��.   

 � /����	��)              2��> ��?���� ����)�� ��	 +0�:��� 7
�3 ���) +�3 3���) 

<�
(
:���
����� /� /von Bragg  &���� Kleeman � ��
����� �����)�� ��>:    

R = c.√Ar /ρ . Ŕair  

����)�� ��%�..    
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Ŕair =   2��.�� �	 7
�3�� ���) 3���). 

Ar =  �
����� �?����Relative Atom mass��0��-��� �	���)�� ���)?� . 

ρ =  ��0��-��� �	���)�� ���)�� �	�C�.  

c= c = 3,2.10-4gr/cm3  (Constant)  .  

           ��0��-= 7�� 7
�3 ���) +�3 3���)� �
�
����� �)
���� �����)�� �)��α  �	 
�
����� �����)�� ����� ���)��:    

R = 0,323.E0
1,5

  

E0 =  �-�� ���3��0�.   

R =    ���)�� �	 ��0��-�� 7
�3 ���) +�3 3���).  

���	��)C) �3�� 7���� �	��) �� 3���)�� +�3�� ��% ������� +'�� �	 @M:  

 ����� �
���� �.�?�� ��
�)��� ���) /) �'�� ����� ��=Aal = 26,98 $ �	�C��.� 
  �����ρal = 2,7.gr/cm3  $ ���)�� 
�% ��	������
�)��� � ��0��-P� α ��C��)�� 

  �� ���0 /)� Polonium214   7��� D��0��-= ����       3����) �	��) 8?0 2��.��
����
 +�3: Ŕair = 6,87 cm .  

    ������)�� E�' Y ��
�)��� ���) �	 7���� 7
�3 ���) +�3 3���) /��
 ��
�
�����:   

Ral = 3,2.10-4gr/cm3 . √26,98 / 2,7gr/cm3 . 6,87cm =  
Ral = 4,32.10-3cm = 0,043 mm 

     ��0��-= �)��α       %��0 �
����� J��3�� �'� �
'�� ���)�� �	 �    �	���) 3���) 
   A�
��� ����� 7�� +�3    �0,1mm$        ��.�P	 �
'�� ���)�� �.���� ��0��-�� 
�%� 

     @���' E���� �>����� �?>�� 8?0 �CV� D� �$   �3� �%���6� /��� � ��0   +���� �)
) N�� /��) �	 /���� ��>�� �	5-� �� ��0��-�� D�.    
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2.9  ��*��27���� 
%�
�
�%�� ��2-� β Ray and the Neutrino Ray  

=     ��0��-= +0�:� ����� /β      
(> 5) O�'��� �� ������ 5) <  ��Mol  ���)�� 
  � ��0��-P� �	���)��
  � ����) ���   ���� /) �
C�� E���  �:�� ��0��-= $    ]���
 D�� 
    ��0��-= +0�:� /)β    ��
�> 2�
-�     ��
?)�� �	���) �
#α$ .�)� �    ]
�.� ��
?)0 

        ��)
�>� �� ��0��-P� �	���)�� ���)�� �	 /
G��β $       ��0���-�� 
��% &����� 
 M J����� �3��  �- �� 2  .���3 /) �   	���)�� ���)�� ���)?� �     ��)
��> �.
?0 β. 

      ��0��-= J��� 
��� �) ��%�α     ���)�� ���)?� �.���3 �3�� ���� .    7��:�� &���� 
V)�� ���  ��0��-= / β +0�:��� �
?)0 �	 ���-��� �
��( �.
)�� �
��(� !�'�.    

   +��� ��%�=    ��0��-= !�6 /β       ���)�� 
�% /
G� D���
 ���)�� ���)�� 7�� �	  
 ��-��� �
?)0 7
�3 /0 ���)��Scattering Action .  

     ��0��-= /=β G�� 
   2��% 3
') �	 2��.�� ���0 /
 �>   D�����' ��>�� !�
����� 15˚$M D0�:��� 3*6 �'��  O���
 �   /�) ��C�1013 m bar �.)(?
 � 

 ����� �)
�� �3���) ���3 �>��() ����
� 7?� �� +
�-��35,5 eV.   

  ?C)�� W�� ��%�         ��0��-= 7
�3 /0 (�*�� �	 /
G��� �
?)�� β .�)� �  ��(�*�� 
�
�����:   

N2����� ���3 D)(?
   : 35,8 eV. 

H2����� ���3 D)(?
   : 38,0 eV. 

Ar����� ���3 D)(?
   : 27,0 eV.  

  
����� �3���� �)��� �          ��0��-= 7
�3 /0 /
G��� �
?)0 �	 D�β �� )  �
?)�� �����
   ��0��-P� /
G���α � $       �
?)�� /�))�� /) D�β     �����'�� +'�� 7
�3 /0  ��	��) 

   ��>��()�� ����
�� ��0$                �0����� /
G���� ��
?)0 ��	 N��'
 ��) D����� 
Specification        I��-P� /
G��� �
?)0 �	 β 	 P    �
?)��� 
�% /�    /) ��) �<�)� �*�

 �	 �0���� /
G��� �
?)0α.  

o b e i k a n d l . c o m



170 

�������M� ��� /) �.B 7�:�� ��%�..   

 � ���%�-	    ��0��-= �
?)0 /α    �����)�� �>����� ����
�� �.B� �     3�� ���) �	 
�
���)$             +0�:� /0 ������� ����
�� ���) �.B
 ���� ����� �	 β   !�� 3�� 

      W���� �.6�� !?� !���� ������) V�V?�� ���'$ �)�   7��:� �.�
� �>�
 $   
��%� 
��-��� �
?)�� ����) �% ��
*��� 7��:��$  �0���� /
G��� �*� ��.B� &����  

Specification Ionization   ��0��-= �
?)0 �	β$ �� �  �� ��)
��>�� 
�% /
  �.B ���������� /�%��0� ������  8?0� /� �	��) /) +�3� ���)�� �	 �	��) 7��
  ��0��-= 7��α.   

  	 E���� ��.��P         30� �)� �)?0 +���) �� ��� 2�30= E���� /) D��   3����)� 
      ��?��� ���)�� �� 2��.�� �	 7���� 7
�3 ���) +�3$ � �R  ��0��-= 7��� α . 

   )�� 5) +0�:��� �	 D��� �'� /�����= +� ���3 �0�6= I�)>) &��� D�� ���)�� ���
   /�
 ��=          A�
��� �
���)�� +0�:��� /) �>����� �� �C���)�� ���3�� ����
 �) M  ���3�� �

1���� �
?)0 �?0�:�� �?����� �3���)��.  

   � 5��
 �) ��%�G         ��0��-= +0�:� /0 �>����� ��0��-�� /β     ���)�� 5)  �  +�)�
.�� ������� �� � ��0��-= �
0�� /) /�mono Power$ ��%�    J���� &����

 ��0��-= �
?)0 DC�� �� 
���� �) �
?)0α.   

           ��0��-= +0�:� �M�' +� �	 D�G� +��� ��.��β     ����)�� ���)�� ���� 5)  $
�     ��)
�> �� ��0��-= /) ���
 �)$        ��C���)�� ���������� 
�% /) O�'��� �� 

 8�' �:� �)
� /) ����3�� I���� +� &?)� ����1M eV$ /�� �� = �0���-= M  �
Roentgen.  

 ��%�� ������ �	 �.B�
�����:  
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         ����� ����	 
��
 ������
 ��� ���� ����� ���� ���� ��� �����!�"� �   �#��� �
 ������
 �����Energy Spectrum ����$%& �����$� β  '   ����$#%& (��)�β  
 ��* +$	���
�
�,	� +�$����-���.� /�����
 0�	� +����
 0�	 �.    

 ,�
 2���        ������
 ��� ���� ������  +�
���3��
 4��� �     5�6���
 7�%� 48��� �
��9����'     4.:; �:�% <�� ��=	 ����           �#" ,#�,> 5�#6�� 7�% +�
�, �" �

 +�)��8)�
 ?��!���
���     �,�#��
 0#)�� �,�#��
 5�6�� Matter and anti 

matter.   

 ������� ���	
 ��
� 
��� ���β:    

�+"�$�   ,� �@ +�:8��
             ����$#%& /���� ���� ���� /�� A� ��$� /��β 
 ,
���
 �"' B:�    ,>�� A�����!���
 A� ��C) 
�     ��#� 
��
 �����
 /��,��
 :   ��#	 

+	
,��
 �@ (���
 +���.   

   ,�� �� �9��� 7�% �	��half value Tick +"��� ��	� (�E� ���
 �,���
 
   ����$%& �9��F�β A�:      %& ��,� ��	 ,�%�� �,���
 G���   ����$β '   +"��#�� 
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�% 7����$        �  ��0���-= +0�:� ���) +�3 �� 
         ���'� 7�?��
 ���Intensity 
 ��0��-��β.  

 ���)�� ��% �	 ���� �� �3�� /���� �.
)�� ����)X� ��') ����)�� &) (Thick 

Limit    /�� ��=           I���-�� �.�3�
 ���� ���)�� ���)�� �
�.� ����3 7�� �	��) M
�.�) S��
� .  

3 /0� ��') 7
� &)���   !��� ��)
� /) E����)�� &)���� Half value 

Thick   5
3��� �  � +��� /G      ����)�� �	 I��-�� 7�� �	��) ����
 ��% /$  
��%� 
)
� �.� �������  ��
���� ��0��-�� /) �
�)'�� �?0 �	 �
�
�3���� �
)?��� �. Ray 

safe protection   8?0 +�
� !��
 ����&)X��� ���)�� ���)��   ���>�� �% ��
    ��0��-= /) �
�)'?�β$            8�)B��� 7����� �	��) �� 7
�3 +�3 �	��)� &���� 

Rmax���)�� ���)�� �
0��� &���� ��0��-�� ���3� ��?��)�� .  

�
 ������
 ���$%�
������! #$& ����� '���� ������� β:  

 +� J�
� �� /(��Thick Limit$    ���� ��) �� Half value Tick$  
��% 
�
���  � �� ���V     �� +�3�� ���'�� ��cm$        �'���)�� ��'� �	 �?���� ��'�� /��� 

      ��) ��%� ���)�� �� �.
?0 !���)�� ���)��� ��?��) /�� �� �.�G� ��.B� ������ 
�%�
  �'��)�� �	�C�  D
)��Surface density $ ��0��-��� �?���� �
3*� �� Mass 

cover?C)�� W�� ��%� �3� ���'��� 
�% �	  �	 /������� 7�� ���) �	��) +�
���)��:  

��>���� ���3�� [M eV]       5 M eV      1M eV      0,5 M eV  

7
�3�� ���) +�3[cm]        0,96          0,14            0,04   

7
�3�� ���) +�3[mgr/cm2]  2600          383            111   

�	
� ��
����� ���0 +"')6� 7
�3�  Radium(Bi 214)  ��0��-= N���� 
β  8)B��� �.���� ����� ���� Emax = 3,2 M eV$    ��0���-�� 
��% ������ 
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F
<�.� 9�)� 8�' �.)(?
  ��?�� �'��) �
3*� ���)�� /) � Mass cover   ������
�
����� �
�
����� �����)�� 5��)��� �'��)�� 8?0 +���� ���'��:   

b = 1800 mgr/cm2 = 1,8 gr/cm2
  

(��%��
:                ��
����� ���)�� �	 ��0��-�� 
�.� 7���� 7
�3 ���) +�3 �% �� 
�
'�� ���)��$��
�)��� $ 9����� $  ��'�� 2��.�� Cm�
����� �����)�� E�' Y    

R = 1,8gr/cm2 / ρ  

ρ ���)�� �	�C�      

R 7
�3�� ���) +�3     

����
 �
'�� ���)�� �	:   

Ra =  1,8 gr/cm2 / 1,2 gr/cm3 = 1,5 cm  

����
 9����� ���) �	:    

Rpb = 1,8gr/cm2 / 11,3gr/cm3 =  1,6 mm  

����
 ��
�)��� ���) �	:   

 Ral = 1,8gr/cm2 / 2,7gr/cm3  =  6,7 mm  

����
 2��.�� ���) �	:    

Rair = 1,8gr/cm2 / 1,293gr/cm3 = 14 mm  

        ��� 5) +)����� �
6� �.:��� ���:� �.
3�� ���0�� 
�%  E�>
 ���� ��-)�� ����
���     ��0��-�� 
�% E>'� �)("�� ��3�
�'M�$    �
'�� ���)�� �	 ����� $   &����� 

  E>
�  � �?�� /G       �.��' ���� !�6� ��0��-�� 
�% /Intensity    �	���)�� �0���� 
       O�� �
'�� ���)�� �.> /) �)���    ��0��-= ���
CG� /β  �.
	 �    ����� �*�  8�?0

   '�� ���)�� 8?0 �
CG����
$   E>
� �0     ����C �3�� W��� �  /) �
'�� 2�60�� �   
��.
��0��-��,               ��'�� �6���� ��	 +)�� E
��� �%�
CG� /) N�'
 ����� 5) D�� 

D>��)���.� .  

              +��3 �	���) �
�'�� ���)�� ��% �	 ���� ���� �
�
����� +�?'�� W�� ��%�
      ��0��-= 7�� ���)β    � &��� /
�� ����� G    ) �
# ���)�� ���)�� /   +��3� ��?��
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  3�)��� 7���� �	��)�  �
����� �����)��� �$   ��% �       ������� ���)�� �	��) +�3� ��dmax 
� J
�R:   

Rmax = dmax . ρ  and  ( dmax = Rmax / ρ  )  

/
� ��?��)�� �
�
����� ���3�� �����) ��0��)� /���0,8 MeV  �� �  E��' �C�
�
����� �����)��:   

   Emax ≤  0,8MeV → Rmax =  0,407.E1,83   [Rmax in gr/cm2] 
Emax ≥  0,8MeV → Rmax =  0,542- 0,133   


� ��)���� ��� �:   

�
���
:        ���) +�3 �% �) dmax       ��0��-= 7�� 7
�3� β   �
����� ���)�� �	 : 
 ��
�)���� 2��.���=� ����  �����  ��0��-�� ���3  Emax = 1,5MeV Y  

@M��: E>
 �  �)
� �>� / Rmax   �
3�)�� �����)�� E�'  

  Rmax = (0,542 . 1,5 - 0,133)gr/cm2 = 0,68gr/cm2
  

�� 7
�3�� ���) +�3  �B0dmax  

  ����� 2��.�� ���) �	���� ��= ����� 2��.�� �	�C� 0,00129g/cm3 :  

   dmax = 0,68gr cm3 / cm2.0,00129gr = 527 cm     

 ����� ��
�)��� ���) �	���� ��= �	�C�  ����� ��
�)���2,7g/cm3: 

dmax = 0,68gr cm3 / cm2.2,7gr = 0,25 cm  

 ���$�����
 ������!Neutrino   

      ��
���
��� ��0��-P� 9��
 �)� �)�Neutrino$     �<�
(
:�� �>� ��� W.Pauli 
   ��� �	1931    �������M� ��� �    ��
����� ���0 /Ra.E    ��0��-= N�
 β  &���� 

!
3 5�-��� �
?)0 �	 �.B �'� ���3�  ���0 �
# I��-= 0,35 MeV.  8)�� 
�� I��-�� ��%� Neutrino ()��� D� �30G	 )ν  νo($ M� ���� �>�	 �� ������ 

 � ����
����G    M �
�') I��-�� ��% /  
� &?)
 �  ��� ��'- �   �
�?� �� �
��>
= $  &���� 
A�
��� ����� I��-�� ��% �?��A�:� O�'��� �� ��.  
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�� ��% S���= ��
�3I��-: /�)) ��0 N�'� �)
/����� 8�= /���
� +�'�$ /0� 
           �
����
��� N�� �%�
# �� 
�% +�'��� �
?)0 7
�3Neutrino     ������)�� E��'

�
�����:    

0n
1 → 1p

1 + -1e + ν  

�
�*	& �  ��0��-= +0�:� /β
 ���)�� ���)�� 5)  D�0 ]���
����� ��
?)��� :   

1 �      3 �'� ���)�� ��� /
G� �
?)0      D
)�� �) ��%� ��
�) ��0��-= ���:   ��
?)0 
/
G���.   

2 �     ��0��-= 1�� �
?)0 β .���� �  +�' Coulomb   N��� ����)�� ���� �	 
��� ��0��-=� />Roentgen$ �D
)��:��0��-�� 1�� �
?)0 .  

3 �     ��0��-= ��%�>�� !��'��� �
*� �
?)0 β  ����)�� �	 �   ��
?)0 D
)���
��-���.  

9 . 3   ��*��27 Gamma Ray γ  

=      ��0��-= N� /γ  A)<�� ]��
       ����������� +����� �� &�'� �3���� �$   ���%� 
  N�'
��0  �)�  ���� �	 ����� !"# �	 ���������� ����3 +����.� ����� ���� +�' 

      ���
?)��� 
�% �	� �6:��) ���3 O���) ���' 8�= ��:��) ���3 O���) ���' /)
������� J����� �	 
��'�-� 7�� �)� ��0��-= �� N���
 Quantum γ$ �) ��%� 

        ��0��-= N�� �.>
.� ���' �	 ����� ���� /� 8?0 &��� +�
α   &����� β  ��)?� 
����     � ]
.��� ���' �	 �
��� ��0       ��
�
�3�� �.���' 8�= ����� ���� ���� �)$    8��= �� 

     �	 ��% ������ O���)��2��C�       �6�:��)��� ��
?��� ����3�� O���) 7�	 ��
?)0 
       ��0��-� �� ���3� N�
γ        ��0��-T� 
�% ���� ���3� Eγ      ������)�� ������  

�
�����:   

Eγ = h ν  

       ��0��-�� ���� �
?)�� ��?��) ���3�� 
�%Frequency    ��>�)�� +�3� &����  
λ$   �M�'�� +� �	� ��0      �>�)�� +�3 ���
 ������ 5:��
 �)$     !����)�� /)� � /

 ����
 �)�0 �>�)�� +�3λ = c/ν = hc/E$ � � �	��)��� �?�?� D�P	 ��0��-= /
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γ ����             ������ ���0 /) �:�V)�� ����� ���� /) NComponents     ��
# ��).) 
        ��0��-= �>�) +�3 �
?)0 +'�� /�������� /����
���γ � V   �
�
����� �����)�� ��

�
���)��:    

λ = hc/Eγ  


������ ��� ��:  

     ��0��-= ���3 ���� ��=γ�� �� �C���)��  ���0 /) �>���Ra.C   ������ 1,8 
Y��0��-�� 
�% �>�) +�3 /��
 ��	   

�+�$���
 ���
:  

12,34.10-4 / 1,8 = 6,86.10-4nm  

 E>
�� !��
 /� ��0��-= ��' /γ  Intensity    5�
���� 2���.�� �	 !�6�
    !�.��� 5���� /
� ���>�)�� �	��)��$        ���)�� 7�� �	 �)# ��0��-= �"0�:� /)� 

.�) ]��
� �
����� ��
?)���:  
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1 ��� �
?)0 � Photo effect   

 N�'� �
?)��� 
�%���0  ��0��-= /) �� ���3 !��� �)Quantum γ  ����3� 
    ���) ��� !"# 8?0 �	���)�)   ��-��� /) ��'�
   K   ��-���� /) �� L  /�) 

              ��?)���� D����3 3������ I��-�� ��:
 �
?)��� 
�.�� /������� ���)�� 
�% !"#
�    �� 9���)M� 7
�3 /0 !�6
�   �.� �
?)0 +)0 ��
<�6�     ��%� ����)�� �	 � 

 /�����= ���	 D
)�� N���)�� ��')�� /�������Photo electron.   

2 �  ���
CG� �
?)0 Compton  

     ���
CG� �
?)0 N�'� ��%Compton ��0       ���� ��0��-= ��3�� �)γ  �3����� 
   ���) 8?0�)     ?��) �� I(0(�) /�����= 5)  ��+  �	   ����)�� 
��% ��� !"�# �$ 

      A)��� ���:� 
�% ���� ��0��-P	�      ��.���3 /�) Eγ$      ��%���� !�6�
 &�����  
Frequency  $     ��-�	 ���� ��0��-= ��%�>�� !�'�� ��.��$     
��% ��-��� �
?)��� 

     ����� !"# /) ��
�0 ��������= ��'��$ %� 
�     .
)��� ����'�)�� ���������� � 
 /���)�  ��������=Compton electron.  

3 � �>��()�� ��)
�>�� S���= �
?)0   

N�'
�) �
?)��� 
�% �	  �%  ���� ��0��-= /�γ Quantum   8�?0 �3������ 
.�) �>��() ��������= 8�= ���)�� ��� ���� +�' E�� �	 +�'�� ���)��� /�������  

/���
(�����.  

   ��
# M ��'-���� ������)�� ��)
�>�� 
�% N��Electron and Positron  
  
� �
�B� ��C��           J������ �?�� 8�= ���3�� +
�'�� �?<���� �?����� ���3�� �
���� /
�-

J�����$@�'M D��3� !�� I�6�)�� ��%� ���)�� J�0� ���)�� J�� �	 �.  

       	 /���
(����� /������� ���) �
?)�� 9��
 �) �)��P�  �).3�
 �
�/  �).���3 � 
      ���� ����� �	 ���)�� ���)?�
  56�  D
	��  +��'�?� /���
(��$     ������� 
��%� 

  5>��)�� �	 �%�>� ���� .%�.B� N"C�� ��
?)�����     ������� ��	 7��� ��)� 
�������.  
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9 . 4  ��*��28� ��$���� 0
9�: γ  and β  

    R�-
 /������ ��%��0  �)�3��    .��' ��0��-= �� ��)
�>� N    ���) ���) 8?0 
    �.�)� �
���� ��
��
  ����Δx$   ��)M� 7
�3 /0�       ����)�� ��	 7����� �� 9�

.��' !�6� ���)��� ΔN$	 P /
� ������ / Δx   N�
����� �����)�� ����� :    

ΔN = -μN.Δx  

     �
����� �
'"3�M��μ       I���-�� �>�) +�3� ��?��)�� λ      ��	�C�� &�����  
  I��-��ρ  �)�B��� ������ 8�'�z$    ������� +�)���� �.
)��� Proportional 

Factor  = μ
�%�  	���)�  9���)M� ����C� Absorption Coefficient.   

������ +�-�� ����� �
����� �����)���:    

ΔN / Δx =-μN  

     +�6�:��� �
?)0 7
�3 /0�
Integration  +���'� 8��?0

 .��-)�� �����)���   /���� �����)� 
+"')6M�$    /���� �����) ��%� 

     ������)�� ������ 9���)M�
�
�����:    

N = N0.e
-μx     

  ����%N0 ����0 ������� 
  ��)
���>β  ���� ����0 �� 

 ��0��-=γ?0 �3����� �
<����� 8 
      ����� �)�� ���)��N  ��0 ����
 

           �	��)�� 7�� ��� /) �
����� ���� �� ��)
�>��x    ���)�� ���)�� ��> �	 $   ��	� 
       �.
)�� ���� �����)�� +)���� �M�'�� W��)   �)
� !��    �� &)X���� ��������(d1/2 

 
Half value Thick�
����� �����)�� ����� ����� :    

d1/2= 0,693 / μ  
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9 . 4 . 1  ������,� -�*���
 /���0 ������
   β  

    �) +� 5)	�0      ��0��-T� ��(
))� +)��0 /) 
��β$ ���� �  ��
?)�� +)���� /
������ 9���)M� /���� &��� ��0��-�� 
�% 9���)�:    

N = N0.e
-μx

  

 ��� ��������� �
?)0   � ��0��-= �
       	 @"�� ����� �)� ���)�� 7�� �	 ��P  /) D�
   +�)���� +6	�� �
�
����� +�?'��$           ��0��-= 7�� ���) �	��) +�3 +'� @"C) β 

    @���� ���� ���� ���)�� �	  �Rmax$          ��0���)�� ����)��� ��?��) �)�0 /�� �� ����� 
 �
���)�� �?���� !
�6� ��'�μ΄ = Mass faint Coefficient    �����C ������)��

  9���)M�μ �	�C��� 8?0 �)���) ρ�
����� �����)��� ��.B)�� :    

μ΄ = μ / ρ [cm2/gr]  

             ��0��-= ���3� ��?��) �%� ���)�� +�� 83�� �.���'�� ����C�� 
�%β    �
# M  
 �
�
��� �����)� @"�� ���� ���� ���3�� �����) E�'Emax ≥ 08MeV  +�'���  

% 
�.B� ��
������
����� �
'"3�M� ����
� ��:    

μ′ = 22/E4/3
  

?C)�� W�� �3�� ���'�� 
�.���:     

       8)B��� ���3�� �% �� Emax        ��0��-= /) 8��� ���� β  ��0    
��% 3��� �)
  � 8?0 ��0��-��:
'    ?�� ��
�)��� ���) /) ��        ������ 5��)�� ������ �	 �.���) 

0,135 gr/cm2 �
)� !�� �.�) 8��
 8�' ��0��-��Y   

   d1/2 = 0,693 / μ΄  .  μ΄ = 0,693cm2 / 0,135 gr = 5,13[cm2/gr]  
Emax = 4√(22/5,13)3     μ′ = 22/E4/3  
Emax = 2,98 MeV 


��
����
� ���
�
 �:    

�    �>�) +�3 ��.�   ��0��-= β$ �= � ���� .���3 �   ����� 1,5MeV  2��.�� �	 $ 
 &������0 �)� 9�)
 2��.�� ���) 7�� 50%.���3 /) �Y   

μ′ = 22 / E4/3 = 22cm2 / 3√(1,5)4 = 12,8 [cm2/gr] 
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50%  →  d1/2 = 0,693 gr/12,8 cm2 = 0,05414  gr/cm2   

  ����
 ���*��� D�(� 2��% �'�� E��) ���� /���0,00129 gr   ��) ���%� 
��.�� ���3 53� �	��) ����
 2 ��)
����� ��'��  

   0,05414 / 0,00129 = 42 cm  
9 . 4. 2  ������! ��� -�*���
 /���0 ������
  γ  

     ��0��-= 9���)� �"0�:� J�
�� γ         9����)M� /����� ��)�0 +)����
 
   F
�B� 7��3
 D�� !���)��   �F
�
�3� &���� �    �����
��� 
��% �$     �����C� O�'���� 

               �����C 1���� ��)# ��0���-= !��6 ���' �	 &���� �
����� 9���)M�
 9���)M�μ���  �
����� ����C�� +� I�)>) ��:    

μ = τ + σ + χ  

  ������ ���� ����� �	τ�� �
?)0 ����� � Photo effect$   ������� &���� σ 
    �
CG� �
?)0 �����Compton$      �������� χ         ��>�(�� 7�?��� ��
?)0 ������ 

��)
�>?�$ ��0��-= ���3� &���� ���)��� ��?��) N"C�� ����C�� 
�%� Eγ.  

  ' �	 /���      ��0��-T� 9���)M� /���� 7
�3� ���γ      ���
CG� �
?)0 /) ]��
   
Compton  ���)�� �	 �
<��C �"0�:�$  ��0���-= �
<��C�� �"0�:��� �
?)0 /) N�� 

 ��
�> ��$    �%���6� �
<��C�� ��0��-�� 
�.�� . �  ��    ��)
�>�� ��0 D�N   !�6�
 
  1��
��      ������� �
<����� ��0��-�� ��)
�> ��0 /) +� �    �� ����)?N0$   ���.�� 

�0    !�'� /������ +z    2�)��� +)�0 �)� ���� . � �   )�� 9���)M� /���� 1���� +
@�?��)�   ���3� = �)# ��0��-$  @�?��) &���� �     ��	 ���)�� ���)��� ��0��-�� 
�% ��� 

�
����� �����)�� E�' �.����3 /
���:    

N = z.N0.e
-μx

  

      ���'�� ��0��-�� 
�% /) �
�)'?�����  9����� ���) +)�,       ����) ��	 D��� 
9����� 2��C�   ���
CG� �
?)0 Compton       ��������= 8?0 ����� ��-� �
?)0 ]��


   ��0��-= !�6� 
�% ��-��� �
?)0� ���)�� ���)��γ   ���������= ����� ��?��)�� 
 ���)�� ���)��$      ���)�� &)� �� ����� �	 &���� $         /�) ��
�)'?� �M��'�� +� �	� 

o b e i k a n d l . c o m



181 

    ��0��-=γ ��           ����� ���������� /) �
��0 �	�C� �%��0 /� 9����� ���) +)��
             !�� /) !
�6��� �
� /) ��0��-�� !
�6�� �)?��� +'��  �.
?0 7�3
=  8��

 �-0=  8�1/2 1/10 1/1009���)M� /���� E�' ������ +C)�� +' &����  :  

   E>
 ���  /
    G� �� !
�6�� 9����� ���) &)� /��
   ��0���-= /
γ �����  
 .���3 ������  1MeV =    !
�6� O���) 8�1/10$ �=� ����     9����)M� ����C 

 ����� 9����� ���) �	μ = 0,79  Y   ��'<M /�) ���� 
�% 9���)M� ����C
���)?� 9���)M� ����C:    

  

�
����� �M���)�� ����� +'�� �
?)0�:   

N = N0.e
-μx → N / N0= 1/10 = 0,1= e-0,79.X  

  -0,79.X = Ln 0,1    
 X = 2,302 / 0,79  =  2,913 cm ≈ 3cm   

����������������א��������א���������10��� �

             ��
����� ��)
��>�� �� ��0��-�� /G� ��
���� �������� ��� !���)�� /)M 

 � /�)V.�
�   � ���>)�� /
���� M .��
� �  .�(� �� �  �
����� 7�3��� ,     +�>� /���� 

.�(�� .����
�� �   )��� /G� E>
       �� ��0��-�� 
�% ��
����� ��(
) �	 7!�� 
 �(� �
:
��. �.��
�$�           ���0��� ����� �(.>� ��3� �� �>� /G� E>
 ��.��   �	  
��%

    �3 /0 @"C)  ��
?)���
      ��0���-�� 
�% J�
�� /�(���� �������M� 7$   +�'��� 
       �% ��0��-�� 
�% /(�� /�))��� 3
������0    ��� ��-�)�� ����)�� +0�:�� �)V /


����)�  $           /�
�� +C) �>��()�� ����
�� 
�% /(� +.�
 ����
�� S���� +0�:��� ��%
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��
��>�  ��?��� /�������� $      �
����� ��0��-�� 
�.� ������� ���3�� &����  ..�)�� 
�
����� ��������:    

10 . 1  ������ ;����� 5�� ��5* Luminous Stuff Counter   

     �� ��?0 5��� ��0 �
��� �	        /�(��� ����
�� �(.>� 2�)?��� /) �
C� �>� ���
 �
����� ��0��-��$       ���
 ����� �) 8�= ��?���
 �� /��� / =     �)B��� �	 ��� /) D
�

�6�'�� N
�'�� ����0 �	 ��>�) �% �)�,A�
C� /���  �)�>� �)
���	� �� �	 D� 
    .�)� ���3�)�� �C
�'�� ���(.>� 2����� J���� /�� ����� &����� ����� ����: ���0 

  ��0��-=α . β . γA)
�� 8)�)��   (�.> �Spinthariscop  

     � ��3� ���� �
���� (�.>�� ��%��    /) �6�'�� ����� �	 1���   �(�.>�� N��'
 �)� �����)�� ��0��-�� 
�% /(�� �.����Scintillation counter$  (��.>��� 

 �� �
������J �.� 
      /�
 �� /�(���� ����
��� =  MA������       /���)�� �� S��>(�� /) 
  @�?*) +�-�� ����3��$�     2�-# 
��� �	 /)      �������:��� ��0���-��� �CG�� ���) $  

+C):) Zinc Sulfate (Zn.s�� ���) /) �� � Phosphor$  
 ��)� ���%� �  5�6
�       �?)�' 8?0 ���3�� 
�% /) E������   �� ���)��  ����)��     ��)
�> �0 ���
 ���� 5-

D��0��-=$   �
V���           ����) ������ +��)�� �	 E����� ��% (.> ��0��-�� �0�� 
 ��0��-�� �����   ������ /) �C���)��$      +�� 56� �:?��)�� ��0��-�� ����
��� 

        2�-# E����� ��� �	 ��0��-= �0 J�
�/)   ���) )�-� ���� .    �0� /(�� @"C) 
 ��0��-=β  �
�60 ���) ����)�-� Organic matter+C) :Antharzan in 

Naphtalin .  

  ��0��-= �0 �� /(�� �)��γ�� ���)�� ����  �)�-� Natirum Jod (Na.J)  
       �� ���)�� /
� 3��)�� +0�:��� ��% 7
�3 /0�)�-�      ���������= ��-�� ]
.� ����� 

     D��0���-= �0 E>���� ������ ����$        �<��
(
:�� ��>� Rutherford   ��-��� 
  ��)
�>α:� D>� 8?0 '
�� /G� 7
�� /��) ����� �%��0 �>�
 ���.   
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            /�) �� �
����� (��.>�� /) 7�-� N
�'�� ����� �	�
Spintharscop        +� /(�� +)���
 ������ 7�	 7
�� (�.> 
 /��� ��0��-��2��C���  α . β . γ   ��������
��� &����� 

   @"��� ��� �)� �)�� �:
:���� ��
����Scintillation 

counter.   

    �	 +0�:��� �
?)0 R�-� ��%�  (�.>�� ��% $    /�� �� �%� 
=    A.>� �
���� (�.>�� 2�30= M� A�
�> � @C
�'� �   �3 /�0  �
 7

  +� 7
�3 /0 ��0��-�� �0� /(�� �
�������� �
�����Multiplier.  

   �� 5-)�� ������ ��%�           ����� +������ ���) 8?0 5-
 D��0��-= /(� E>
 �
 � +0�:���    ������ ��0��-= 7
�3 /0 /
G�$   �� 
�% +����      ��'�� 8?0 ��0��-

Photo cell$.?��� �%���� 
�%� � 
       
��% ���
 ���� �
����� +)�0 8�=

   /) ]<�����510 =     5�:��) +�)�0 ��

: +� 7�107 .  

=     
��0 (�.>�� ��% /���  ��� �

 5
���� ����$    D�
��� /)� �  ��� /

  
����+��       ����� ���� /) �
C�� 
  ���0Geiger Műller  � N��'�� /
G���� !�# ��>�	     J��
�� ��0� ��B�

��0��-��.  

10 � 2  .�<��� �=
>   Ionization rum  

=   �) /
    /
G��� �	�*� ���  �%          ���>�) (�*�� �� 2��.��� 2�?)) /��)�� /) 2�0�
��'�� D?���� / Electrode)��.>���O���� /0 ��'���� ��(��) /$ �% O�'= /
�� 
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�'�?��/
 ��'�?� D�:� ����)�� 2�0��� �% �
)���� E�' Chatted   +� ��'��� 
Anode  F
?��� ���>�) ���(�)/
G��� �	�# !�� �	 �. ���� ��� 41 .  

���0  �)+�
  �'�?�� /
� /
   ���
� 
 ������) �<���.�Direct current 

��   5:��) ������     W��� �����
 �.>
        +��' ��	�*�� �	 ]��
 ���	 �<�)��

 5:��) �<���.�$   ��>��� �  ���0 �
     ?)0 N�'� �	�*�� +��� �	 5-)  ��


       ���>�)�� 2���.�� �� (�*�� �	 /
G���
�	�*���.       ���?��) /
G���� �
?)0 ��%� 

      �'�� 56�� &���� (�*�� �� 2��.�� 3*6��  /
G��� �	�# .      /�) �
�� ��0 S����� 
��      A
��0 �<���.��� ��
��� �0��� E>
 ����������� ����
  ��  @M� ..    ����0= 5��)�

 
(>�� &��)�<��$     +� �
?)0 �� Recombination      I���
 ��)
�>�� 
�% 8�'� 
.�����  �'�?�� 8�= /
  .��)� ����
�?� �    �
<(> 8�= ������ /)  � ��$   !
�6�� &���� 

    &��)�?� ������ �
���	  F�> ��
*� 1����.         ��?��) /
G��� ���� /� 8?0 +�
 �) ��%� 
�<���.��� ��
����$ �>��()�� ����
�� ��>�� S���= ��'
 ���� �%�  .  

10 . 3 *  ?� ��5@�   
AGeiger Műller Counter  

10 . 3. 1  ���$%& �
$�
��� $1�1 2
2� 3��+ � 4*
  

=    ��� !���)�� ��
� (�.> /�-��)       !���) (�.> �% �
����� ��0��-�� J�
�� 
 �F
)��0    ����)��� �<��
(
:�� 
���3 �H.Geiger (1945 - 1882)   ��0���)�    

Műller   /

)?��� D
�0��) �'�.  ���� ��%           ���
?)0 ���
CG�� 7�
�3 /0 +)�
 ��
    D?��� �	 N�'� ���� /
G���$   � ������ ��%� J
 = A����� M�    A0����) +�-�� ����3�� � 

     7
���� /��)�� �� S�>(�� ���) /)$ A��>�) �      7
�� E
6� E����� +�3 8?0 D?���� 
    �� �'�� D
)�� /��) /)� Anode  �� �'��� � Cathode$   /�) �0���)   ����) 


	��*���  Graphite or metal ��?����� E����� 3<�' �3*$   D�� ������� ��%� 
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            +� ����) ��
���) �
# ���)� 7?*) ��') &��- +��)�Glimmer     &���� ����� 
    ��0��-=α.β.γ &��-�� ���) 5) +0�:� �� ����� /��� �)� $ !
C� E����� ��%� 

       �� (�# +C) (�*�� �� 2��.��� 2�?)) ��')� Argon$   � D
?0 ��(
�     +��'��� ����
A�
��� ����
 !
�6 3*6 �'� �10 Torr$   �"0��:��� ��0 8?0 �0��
� ��%� 

 8�' &����+
(
��� �) D�:�� 8 /(� 8�= !
B���� ��� ���
� �)
���� �"0�:��� /) 
��
�>�� �"0�:���.  

     ��)� E����� ��% +����
    +� �'�� �����Anode � �

  ���'��� 7
������ E
6�����
Cathode  0 ���>�)��  8�?

    E����[� �?������ 3<�'��. 
  &�����     /
�� ��>�
 +0�:��

    5:��) �<���.� ��
� /
�'�?��
    ������) 7���)Direct 

Current /
� 
���� ���� 1000A�
��� 8�=  �1300V .  

    E
6��� ��% 8?0�
    D���� ����) �>�) �� /� 106      ����� 8��= 1010Ω ���. 
��        /
G��� N�'
 E����� +��� 8�= ��0��-M= +���  +����� I��-�� E�'..   ���%

�� 8�= E%�� ����������� Anode � /) E����� ���� ����� �	 7
���� E
6��� �
5:��) �<���.� +�' ��>
 E
6��� ��%$ ]���� ����
�� I����� +�'�� ��% ��>��� 

   ����
�� /) ��
.�� �?��$         ��)� ��
� ���0 +)�
 ����� ��% �	�   (�*?�� �����
�� 
 ���
�� �� �
<����� �.         ��� �
�> +0�:�� !B�)� 1��) (�*� +�'��� ���� ��>��� � 

            ���� �
<���.��� ��6���� ]��)�� ����)�� 7
�3 /0 83�� ���� ��
���� ���� ���	�
              E�>
 ����� I���-�� ���3� ���� E�' ������) ����3� 5)��� +�'�� O���

D��
� .        �.B� �C
�'�� �������� �	 ����
��� 
�% �>
���     �� �
<��6 ��)�)� 8?0
���0���
��� $@C
�' 8��� ��
?)��� 
�% +�� �
�������� 7�3��� �.  

o b e i k a n d l . c o m



186 

10 . 3. 2 5*� �
6���  $1�1 2
2�   

=                  E������ �>������ �����)�� ��	 ��6����� ��)� +)���� ���
 ������ ��% /
Proportional 5)   /
G��� �
���$          ����3 �
0�� ��'� ���� �% E������ ��% �
?)0� 

��    �
# �3����� ��0��-���	���)$        ��% ������ E���� 2���.� ���� ���� �0����� 
   8�= +�� /� �>��  
�> +� )        �� +� &���� �3��� �Quantum   �@�?��) 1��
 � 

���3���$ 8�'�)�� �	 �.B� �
�� �6�� ]��
� ��� �����
�����:  

      I��:���� ����) +�- 8?0
       �����
 ����:�� ��'�� J��


970 Volt$
���%�  �����)�� 
  �������� O�����) ���.B��  �

Counter Plateau ������� 
     ���) ���) O�) +�>) ��'


13�)��.    O���)�� ��% I�:���� 
   E>
 ���)?��   D0�:��� O���
 M

�  /) �C�2% 1% O���) /) 
 ������ ���)��.    F
<�
(
	 7?��) I�:��M� ��%   ������ �)�� �$ �  ���0     ������ 5�:��
 �)

    
� ���)�� 13� /) /)
��  /10% =    8�15% 
        1���� ��
# ������� ��% 1��
+)�?�.  

10. 3 .3        $1�1 2
2� /� '������
 78��� �	9��
 �; $��
��
  <=��� �  %�>���
 
������
:    

1 �  $"* �����
 �; �2����
 ����  Null effect  

=      &��% /�
 �� �� 8�' ���)�� W�� �	 +)�
 ��
� ���0 /�
� /(�?� ��0��-= 
�%� J�
�?� �� �
<�6	 �� �
�?	 ��0��-= ��>� �	 +)�
 ������ �Cosmetic Ray 

   
�� 5) +0�:�
 ���     ��� E����� �	 ���>�)�� ��0��-�� �     8)��)�� +)���� ��% E
)�0+�� �� �:��� � Null effect�
�
�'�� ����
��� E��
 /�
'�� /) �
C� �	 .  
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2 �  ?1�
 �0�% (�1� �; �	9��
   

      +>�
 �
>�� ������Registered       �<�)�� �	 �<�) %100      ��0���-= α.β.γ  
     ��'�� ���� &���� �3�����Quantum    �
<�6�:�� ��0��-�� /) $     ��>�� /���� 

:�2�D�    ��0��-= �	γM  O���� �  �<�)�� �	 �'�� /) �C�%1$ E�����  �	  ���%
  +�'
)/      ���>�� /
G��� �
?)0��           ���
CG�� /�) ��>����� ��
<��C�� ���������

Compton$�� �
?)0 /) &���� � photo effect   8�?0 +�'� ���� Chatted 
             E������ 3<�' �3*� /� E>
 �<3���� �
?)��� 
�% 5�)� /
�'��� !?*)�� 3<�'��

  ��Chatted +C) ���� ���)� wismut , Platinum , Wolfram��
� G E���� 
�� (�*� ��% ��
��Krypton   .  

3 � ��8�*�@
 2
2��
 %	A;   

=M 5-)�� ������ ��0��-= /) ��� +� +"')6� //�� /���� �G� ��% 7?���  $
    ����� �� !��� ���) 5��� +C)$���) ��B� /��� ������� +��� 
�%� $   ��) ���%� 

  N�'
)   !
�6 ���0 5�-� /$     �'
'��� ����
���� /(�?� E>
 ��%� $ � G  /
 J��
     +"')6M� ��6�� ��0 3���)Ň   +
�3 ����  $  3 �)?�� �   ����� +  ����� �)?� 

  ]<����� �'
'� ����
�.      �0 3���) ��
3�
 �
����� /���� E�'�   �     ��6�����Ň 
     �<��'�� 3?*�� 3���) 7�-
 D�) ����$       O����)�� ��.� ���
��� !��'�M� &���� 

 3���)���   �Stander deviation = б�����)�� ����)��  �
�����.  

б =√Ň  

 �% ��0��)��
     �
'"3�M� б � �  5
3�   �>� /�  � �
�<)�� ������"#  ����
��� 3
�
����� �����)�� E�':    

б100 = ٭  / √Ň . %  

�����
 �
��
 �%�� ���
 
�=�:    

           ��� ��6����� ��0 ����
� ��
� ���0 �3�
 �
����� ������)�� 7<����� �	  ����0
�
�����:    
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245 , 253 , 248 , 236 , 251	 P  83���� �)
��� / Ň�� 
�.� ����� ����
�
������ �����:   

Ň = 245+253+248+236+251 / 5 = 274 . min-1  

#�? ����� J�
��� !��'�� �3:  

б = √ 274 ≈ 16  

����� �<�)��� ����
��� �3?#�:    

б6,25 = 16 / 100  =٭%  

4 �   $1�1 2
2�� ��2�=�
 �����
  

=    �� ��% D� ��>�)�� 3
')�� �	 7�:�� 5-)�� ������ ��0��-= /   8�?0 �����
  +�-2π   ���0� Geiger����3��� D?�-� :   

  

  5
3��
�     A)�� J
�
� O�
 �� &��
 /� @3
�� �      ������ ��% 3
') ��0��-= /) 
          ����.�� +)���� D
)�� ����� ��.� J�
��� �� /(��� ��%�η        +��- /��� ��= ���%� 

   	 �3�� ����
 ������P         83*
 ������ �� �3���� 
�.� ����.�� +)���� /  ������)���
 �
�����:    

η = 0,5 ( 1 - . 1 / √ 1+(r/a)2 )  

r =  ������ &��- �3� !��. 

a =   5-)�� ������� ������ /
� ���>�)�� �	��)��.  

     ������ +C)�� +'� �.���� �
?)��� 
�%�:        ������� ��0��-= /) +�
 �<�)��� �� 
 ������ 8�= 5-)���=� �� ����
 ������ &��- �3� /d = 2 cm $   /
�� �	���)��� 

 ����� 5-)�� ������� ������a = 3 cm  Y
����� �����)�� E�'��:   
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η = 0,5.( 1 - .1 / √ 1+(1/3)2 ) = 0,026 = 2,6%  

10 . 4 B�/� �=
>  � .C�Wilson fog room  

         E>
 E��6�� !�# I�6�) �	 +��� �) +���       
��% 8?0 �)�0 ��B� ��?� /
      �% �) �.:��� �
<�
(
:�� !�*��  � E��6�� !�#  �)  /�
�� /) �����     Y !��*�� 
�%

=   ) !�*�� 
�% /� �% =              /
G���� ���
?)0 ���.B� ����3)� ��
��) ��
0�� M
Ionization             ����)�� ��)
��> 5�-�� ���) ���>)�� /
���� /

)?�� O�� 8�' 

��-)��$  �
?)��� 
�.�� $      E��6�� !�# �	 /
G��� �
?)0 �� $   E>
 �    /
��� ���G� /
:��� ����0M��
����� �
<�
(
:�� �"0�:   

        .� +�-�� �
���3�� S�>( /) �
��) �
0�� �.�:� !�*���      13��)�� ��	 &��- 
         ����) /�) ��C���)�� ��0��-�� ���) �
���� �����)� ����� S�>(�� /) ��?���

 5-) ���0..    �	�# ����Wilson       5�-�) 2�) ���� �.?��� �	 �>�
$   ���%� 
     �-��� �>�� E�' ���
 �)� ������5 �)=   A���� 8��
 �  2��.�� �	 $ =�   +�'�
� �
*�
 �)

     E��6�� �.
)�� �:
:� ��
*� 3��� 8�=$   �� �
?)��� 
�%� �      ��
# ��*)�� 2��.�� �	 
��     ����� 2��.�� �	 �)) ��>� ���$         ����*�� ��)
�> ��*)�� 2��.�� �	 D�� YE����� 

� 3����� +)'� ��
*����E��6� �
3 .  

     !
C���� �
?)���Condensation   E>
 � 
 /�        E��6��� 3�� /) �3�� +�� �>
              ��	 ���>�)�� ����
�� /) �� ���*�� ��)
�> /) ��G� !
C���� ���� �.
)�� ����

�
����� �
<�
(
:�� E��6�� !�# �	 N�'� ���� �
?)��� �% 
�%� 2��.��:    

A� ���� ���	 
��
 �������� 
��
  Wilson Expansion fog room  

�� �	�*�� 
�%  �(
?���� �<�
(
:�� /) ���3� �
C.T.R Wilson (1959-

1868)   ��� �	 1912 &���- �'�	 D� +�-�� ����3�� �.�) ��
<��� �����	  /�)  
       ���� 8?0�� 13��� �	 ��� S�>(�     �� S����� /) 2�6) 7)�# ���V
�  �
���� 

��-)�� ���)�� ��0��-= ��)
�> ���).   
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       �� ������	 	
�� �
� ��
��
�����	       ����	 ������� ������ 

�	    ����Piston  ���!�  "�#$ ��
       %���& '$��$�	 (�) ���#� 	
�

  �	 ���$*��Adiabatic: �����& 
 +&�$�&��� �����	�     ��$*�� ���,� 

-#�&�	�+$�#! �� .� Expansion 

�        �	��� �$�*/ �����	 0� �
�$ 
   �����	 ��/�� ������ -�1�2  '��� 

    & �$��&��� �3*�&��	 -#�&�	 �$*��.�4   (�)         '��� ������	 0� ��
���	 ��/��	 -�1&
5$6�&�	 �$*�� �����Condensation  ��3�� 7�! 8&!& 0&�	 �56��&*. "�#�	 	
;�� 

  "
$�               0�&�	 ��
�<��	 =��!�$>	 �� �����	 '� �$��/ �����	 �� �����	 '��& '
   0?���;��	 �3��	 ��
� �;�&�$�        -#�&�	 �$*�� ��� ��
�� Expansion   8&!$ @
� 

A#��  � �����	 0��            ���B����	 "�����	 "���� �� =����1C	 =��$#
 ��#� -� 
�	�&����&�          ������	 D��/ '� E���C	 F$�� '�� ����3&� =����1) ���/ ��#� 

              �?$��� G���&� �&����	 �����	 �?��� �;
	���	 "����	 ��3! -� ����	 ��1&$
 �H!*� E���H. �   I�
!�    "
$ �$��&�	 �$*��� & '�&   ���	 ��, ���#�    "���� �J

"����	.  

         =��$#
 '$K& '$� F$�B&�	 ������ LJ6� 0��! �!�
 α  ��$�#�	 =�!��&��C	 '�   'M� �   =����1) =��$#

α  &  '$� '$K&20 000  )  (�60 000 D��<� '�$� 

 �&!#�	 0�� �� 0 &       "���� ���3! ��#� ��1� �;H
           =��$#�
 '$K�& ��$*�� ����� LJ$*, ����3&� �3$,�

 $�#�	 =�!��&��C	    �A�$�3& .��#�& ��    �50   '��$� 
A
��<��      �&!#�	 0� &�      ���3! �/ ��#� ��1� �;H

N�
 ����3&�;��� '� 	�O���	 .   
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 B   2$���
 �; $�����
 ��$ADiffusion fog room   

 =        ��-��� �� ��3-�M� �	�# /Diffusion         ������� ���� /�) ��.B� 
�% 
         E��6 �	�# /) ��>� �.�� �������M��Wilson  	  �     ��)
��> ����) ��.B=

��0��-��$  A)<�� �.��              E���6 ��	�# 3�)� 8?0 E��6�� 3��� S���� �����) �
Wilson .   �	�*�� 
�% �	 ��%� ��
 5������ �
?)0 ��� �.
	 +)���... Expansion  

 +� /
� �
�� ����0,1 sec 8�= 1 sec $ �	�*�� 
�.� 5	���� �.)�� 7�:���  D��M 
   �) ����� �.
	 �>�
     3#�6��� +C) ���'� 
��
#�$          5�-���� 7��	 ��
?)0 ���% 

Condensation  � N�'� P        �3 /�0 �
�
' ���) �� 2�) ���� S��� �
   ��)'��� 7
             5����� 7
�3 /0 J
�� (�.>�� �>' +��� �	 ��>�)�� ����'��Expansion 

  E��6 �	�# �	 ��>�)��Wilson.  

 C6	1 ��$A �; B�0��"�
 ��$A $  Bubbles  room or Glaser room  

      ��� �	 ���3 �	�*�� 
�%1952          ����
)�� �<��
(
:�� /�) D.Glaser$ 
� �
<�
(
	 ��
����� ��(
)) ��.B�

         7�
�3 ����) ���.B� ��.� ����
��)
�>��.   �
?)0 N�'� �	�*�� 
�% �	� 

       5�-�� !C��� 7
�3 /0 J
� ��.B��
   +�'��� �� 2�)�� ����$     7�
�3 /0 +� 

     ) �?<�� ���) /�
?# �� ����    ����) +�C
  �?<�������� �����
C��Äther 

(C2H5.O.C2H5)$     7
�3 /0 &��� �� 
 +� (���# /���
?#Porpan  �� +<������

.��
+<���� /
>���..  

=        +� (��# 5) 5
���:�� �	�# +)0 /
Porpan N��'� +<����     (��*�� ��?*�

         ������ �����' ��>�� 8?0 +<����
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57c°$�% 3*6 5:��
 �?<���� ���)�� D>� 8?0 ������ 2�� �	�  ������ �=  8�35 

bar$ � ��0           ���� ��-)�� ��)
�>?� /
G� ]��
 ������ ��% 3*6� 5
���� W�:��M� 
             ������� 5
����	 7�?�� S���P� O��� ����
�� �%���)� ��G�� �	�*�� �	 �
�3��. 

     ��)
�>�� 
�% ���) 7
�3�
       +�-� ������ �2�6�� 7
�3 /0 �.B�  3�3� �C
�
���?�� �B�?� �'6�� 5
���	.  

    �� &?)� 
�% 5
���:�� �	�#��     5
���:�� 3�3� ��.B= �      E��6��� !��# /) ���
    ���
 E����� �
�����=�  8        ���3� 1��� �?<���� ���)�� �	 ��)
�>�� /��    /�) ����

     ������?� �'6�� �.B�� (�*�� �� 2��.��..       �
C��� !?�� !�*�� 
�% 5
��� /���
&�����.	 /)C�� �B%�� .  

10 . 5   .* ��D��'��
�
$��� E�
F��*��23� ;G5'�� 
�!<� H��'�    

     �.�G� ��.B� ��
�3�� 
�%�        ��0���-= 7�3 ���) ��.B� ��
�3 ��>�� 3��
��3� �.0���� �	��)� ��-)�� ���)�� �)�0 /) �C���)�� ��)
�>����.�$ ��
�3�� 
�%� 

       ��
)���� 7
�3 /0 !���)�� ������ �
����� ��
�3 �
#$       7�
�3 /�0 /���� 
  ��'��    )
��� ���)�� /) ���3� �
?3)
     ������ �
���'�� �0���) �
<���  +C) �
����
 +� ���)Broom silver%�
# �� $�  /�) �
?)��� 
�.� ���� ���� ���)�� 
�%� 


(><  ����'�� ���)�� ��,        �� 
�% �
����� ��
�3 N�'� ��%� Emulsion   /���� 
 ��
)���� (�.>$   �=  N�'���0 >� �     �) E����� ��-) ���) �    �
������ ���'�� /$ 

���0         
 ����'�� ���)�� 
�% ���3 �	 �)
�> I��-= �)
 �)V  
(> +� /
<   ��3��
 �
�.�$    
(>�� 
�% �M�' �
*
� <      /��� 2���� 3��� +�-� ���   I��-�� ���) O�
 /$ 

            �
������ ���) �'�� �	 I��-�� 7
�3 +�3 ���) �.B
 �
.B��� 7
�3 /0�. 
   � ��0��-= �
���� /�����  �� ���3   �>� ��:��) �      �
��0 �
# ���3� 8?3� ���) 

  +� /
� &)�� 0,5mm   E���
 I�:��� 8�=1 mm +)���� 
�% �
����� ��
�3� 
@C
�'            ��������
���� �
����� +C) �.�) ���'�� 8�' ��0��-�� I���� +� �
���� �

��
����$     	����� E����� ��% ��')� !�V)� 
��    �� ���) �
?� ������� ��   �6�' �
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��3�     ������ +0�:)�� �	 D�'�
��)�G�   �
��*�� � _
���)$     ���� ���3  8   7�3���� 
            ����� �
����� 2�
(
:�� _
��� �	 ��) +�� �
<�
(
	 ��
)�� D�'��3� �
<�
(
:��

   � ��
���� �������
��� ��
�3�/�)�    ��
�3�� 
�.� �   ���
 /� �- �2    �� 8�3*) 
        ��	 ���3� �B���� �'?�� +��� �B��� I��� 8�' !?*)    ��������
���� �
����� �

 A�
��� ��
���� ?0 �8  -0 ����' 
� @�
�3� /� A��
�� � A�
���� � F
)?0 � F
�3� � )
�� 
F
<�� 
F
����� F
�
'� � F
��'� � F
�
���
)� �. C)� �        �	 ������ &��)� ���) �
V� &�� 8?0 @M

    +C) ����'�� 53���..    2�6:�� E���)� ���<�3�� �	 �?)�'��$    3"#� 8?0  +"��M�
   
(> ��)
�> &��)� �	<    M ���� 7��-��� ���)�� �� �� O  ���>)�� /
���� . � � 7)��?
    N
�'�� I�6�)�� ��.�  /�)
   !�V)�� E��� 8�= ������: �     ����)��� /������� �����

��
�3����        ���)�� +� �	 ��>�)�� 8'�:�� �
)?��� �
����� �*?��� ��   /����� �	 $  �� 
   
(
:�� �'��3� 8�= ������ 	����� �<�
��        ��	 5>��)� �����?�� ���) �
?� ������� �

 ����.�� �
?� ����) T.U.M _
��) �	��
��*�� �
��)�G$ ��?��� ��)�> ����) �	 �� 
�� �	� S������)����.  

             8�?0 ��?��' ������� ������ �	 �
�B��� ���
�3���� �������� 
�% ��� ��%�
���	$  A�
��� ��	����    ��� ����� 8?0 �       �@�'M 7)��� !�� ����� �.��(
))� ����� �� �

    ��
���� �%��
�3� �	 +������ �.�"0�:��.   +��� �        ����) ���>� I��6�) �.�� /
      ���:� E��3�� �B� �:?� ��)
�>�� I��-=

�%� D��(
)� D���� D� �
�� ���0 �
�3�:    

10 . 6  �
A9
�IIIIIIIIIIII� ��5IIIIIIIIIIII* 
Tschernkow counter  

 M 8�'�       �������� ������ /�0 E
*
  �
       7��3 ���) �.B� ���� �)
���� ���	���

 ��-)�� ��)
�>��$   ����� �   R�-� /  ��
:
�
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          !���)�� ������ �<�
(
:�� ���0 +)0Tschernkow,      E�%� ���.	   � 8��= /
              ���:��) �0���� ���?3�) �:
��� D�-� ��-)�� ���)�� /) �C���)�� I��-�� �)
�>

  2�6�� �0�� E����$     )�� ���'�� E�' �:
���� 
�%�      ��.�?�� �:
���� /��
3� �	���
      ����� �0�� 53�� ���� �>�) ]���� ���� .       ��
��(��� ��>�)�� 
�% ��'�2α 

d) �
��( ��)�)��  _Mach angel .  

 �:
���� �0�� /��� ��	�=� ����  ������ �0�� 340 m/secY  % /�)�  �� �
�
����� �����)�� ��-��:   

sin α = Sound speed / projectile speed  

���)�	�  �:
���� �0�� Projectile speed U� V�
����� �����)�� ��:   

 U = 340 m sec-1 / sin 28,5º = 723 m/sec  

       ��� �� ������ �<�
(
:�� 2�> ��%1934       �����'� 8?0 /������ ��% 7
�3�� 
  %�
#� ���������� ��)
�>�� +��� ����� �0�� �
�B� 8?0 ��0��-�� /) G /

   ����� +� �	 2�6��    3Medium  $         1����� J����
 S�>(�� �� 2�)�� �	 @"C)
 D�0���U��:�� �	 D�0�� /) +�$�
����� �����)�� ���:�� 
�.� 830�� :C' = C / n  

��% ��'"3�M�:   

C = J����M� +�� 2�6�� �0��. 

C' =J����M� ��� 2�6�� �0��.  

n = J����M� +)�0.  

   /�))�� /)��  /�   ��)
�>�� 7?3���� �3��      �A�
��� ����� �0��� ��:��)�� �� �
 2�6�� �0��$    .�G� D���	 E�' ����� � ��N��        
���� �) ��%� ���') �
��( /)

  I��-P��       +0�:��� ��3�) �	 7�(Core    ������ +0�:)�� 
�
) �	 $     +��
 �) ��%� 
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 8?0� ����� �0�� 53�� ���������� /� ��  ������ �.�0�� /V' = 0,75 V 
� ��%�B�� 
�% N�'��"0�:)�� W��'� I�� �	 �
<�)���
����� .    

11����
����The Isotopeא��� �

11 . 1 
)�J%�� K
9     

             ���>�)�� �
<�
)
��� ������� +���) �.:� /) 8��� �) R�-�� �
��C ��) ���� ��%
 ������ +��>�� �	Period System @����� D�0 ��)?�� ���� �.  ���
��� �  +��� /

  ��) �	 ���0�D:  ���� ��0      �
���� �?A     �)�B��� ����� &���� Z$     ��G�
 ��% /��� 
  �
���� +���� ��0 +%   +�V���A 5
3��
 ��<�
)
��� ������ ��'
 /Y   

A)
��  A��V) /�� ��          ����� /(��� �� +���� ��0 /� A      �<��)
��� ������� ��'
 
  ������ +��>�� /) ��)?�� &���� Period System� �% +')6� ���� ���)�� /

�A)<�� �%��0 ���� ������  �)�B��� ����� �Z  ����)��  Z = 82$  ��
�.� �	 
�%� 
       �
# M �'�� ���0 8�= ���V)�� ������ �.�"')6�:  9����� ���0 $   ��% /��� 

  �)�B��� ����� J:�� ����0 ��0 D�) �>�
 ���� ������Z.
)�� � �<�B��� the 

Isotope�
<�
)
��� ���)?� 53�� +
�� �%� .  

 �<�B� 8��) �)�Y�
:)�� ����)��  

 % �<�B����   �� ������� ���) �  ��     �)�B��� ����� J:� &?)Z$   /��� ���  !?  ��	
 +���� ��0 �� ����� /(���A .  

A���>��@���� R�3 +�V� 8?0   +���� ��0 +% �AY �<�)
��� ������ ��'
   

=        �
<�
)
��� ���)�� 8?0 +�� ���� ()��� �� �)"��� /�   ����� ���     ���
C� ��� 
���
   �)�  ����
 /��          ����� /(��� �� +���� ��0 @"�� A  $      �)��B��� ������ +��

  �������� +� �	 !���)��Z.   

=   M �)�0 �<�B��� / 
 /�)      �
<�
)
��� 7�3��� �.6�� /0 �.��
��') +�	 $  ��%� 
 9����� �
B� 8?0 ��B� ��?�Pb Isotope  �)�B��� 
��0 ���� Z = 82  ���% 

� �
B���  �
����� ��-)�� �
�
�3�� ������� +"')6� ��� /) ���� ]��Radium -
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Uranium.�) 8��� �) &���� � +� �<�B� @"C) RaB , RaC , RaD  =_�.  ���%� 
         ����C �
# �<�B��� 
�% /� 8?0 �����M� ��� +� �)$      8��= ������ �.�"')6� �
�.�� 

9����� ���).     

    ?���� �<�
(
:�� 
�>� �) �)��  �(
Aston    ��� �	 1912 � A��0 /� A�
�� �   /�) 
     �<�B� ��0 /) !�G�
 �
�
�3�� �������$ .�)� �   �� �
B� @"C) � Chlor$  ���% �>�	 

 &����M ��?��� �<�B� /�%��>� /��)� 7?��� $.�)� �  �<�B��� 17CL37 - 17CL35  
��� �(� ��.    ?�� ��0 �� ����� �.  35,417          �)��B��� ������ J�:� &���� ��)��  

����)��... Z = 17
�
�3 /
���) /) 3�?�) �
B��� ��% /� �� $/
� /) !�V) �� 
B�
/
�2 Isotope $  ����� /
�CM� /
� �������  .75,53 / 24,7  

2.11 ��������	
� ��
�
� ���� Instope Hydrogen 

           ���� �<�B��� O�� 8?0 ��B� ��?� /� E>
 &��� ��%�
  .�) �
C� ������   ��	 
����� ��0�����$e����) �
# �������
��� ��0 /��� .  

        2�)�� �<�B�� �.) I�6�) �	 +��� ��%H2O .��� 
/
>���1H
2   �?
�C�� 
�
)��� 

D2O:   

=  .�� ���) /
       ��
����� 
��
)�� ��	 �>�� /
>���$        +� ��
?)0 ���
�3 /�0� 
Electrolyzes �  � 5
3��    )�� �?
�C�� 
�
)�� S����� /�     ����� �
����� 
�
)�� �	 ���> 

0,015%, ����
 �) ��%�  �	   ��
����� 
�
)�� /) D��-� ��� +�0,15 gr  
��
) 
�?
�C.    

2�)�� �<�B� /0 �'<M ��%:  

 ����� ���   =.��
 /
>���   �?
�C�� 
�
)��Deuterium    �?
�C 7�	 Tritium  

  ���)�� ()�=  1T
3                        1H

2 = 1D
2                    1H

1     

  ������ ��� =Triton                      Deuteron                Proton    

������ ����� =3                                 2                            1     
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  ���) �
B� /��� Helium�<�B� �� /) !�V)$  0 @"C�) ��3�� ��%�  8�? 
�� �<�B���)� �<�B� ��0 /) �:�V)�� �).�<�B��� 
�% �
���:    

 ��?��� �
B� @"C)Natural Choler�
����� �<�B��� /) !�V) ��
�3�� :   

 17CL37 from 24,47%   and    17CL35 from 75,53%   

>���� �
B�
 /Natural Oxygen�
����� �<�B��� /) !�V) ��
�3�� :    

8O
18 0,20% and 8O

17 0,04% and 8O
16 from 99,76%    

�
B�  ��
����
�� Natural Uranium�
����� �<�B��� /) !�V) ��
�3�� :    

92U
234 0,006% and  92U

235 0,720% and  92U
238 from 99,274% 

      �<�B��� O�� /G� ���>� ��%   �	 �
����) ���������� ��0$      ������ J�:� &���� 
    �)�B���Z � 8�= �Q  A�
��� !�0 /  �230 A�
B� � F
�
�3 �   �.�) ���
 �A�� 50  A��
B�  �

A�-)� &���� 20A���0 �A
	�� �+C) 3�?�) �
# :    

Be , F , Na , Al , P , Au , Bi , etc  

 1<��?�� �	 ���>�)�� �<�B��� +� 8?0 +�� �
����� 1<��?����������:  
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11 � 3   ;��C��� 
)�J%�� K
9  Isobar- Isetan  

  �<�B���Isetan �  �������
��� ��0 E�' ������ O�� E
���� !��  

 .��(
) /)�    �� �	 �>�
  �%�    � �������
��� ���0� J:� !?���   .�
� �) �	 �   ����� 
����������$        �
���� /�(��� �� +���� ���� &���� A$    &�����    !�?���  ��(�
)�

  .� ���� �
<�
)
��   �� �<�B� J�0 � Isotope    �� �<�B� /� �� � Isetan 
  /��) 
.?�	�.6�� /0 �.�)� �
<�
)
��� 7�3��� W���� ��
����� �<�B��� :  

N = 2:   1H
  ٭2He4 , 3Li5 , ٭2

N = 3:2He53 , ٭Li6 , 6C
  ٭9

 ��-) �.�� 8?0 +�� ��>��� (�)�� ���()�� �<�B����.    

 �<�B���Isobar ��� O�� E
���� !���� ��0 E�' ����� nucleon    

 .��(
) /)�:  %��0 �>�
 � nucleon  �
����) O���� $   &���� 
����O   +���� ��0 
    �
���� /�(��� ��A$   /��� !?��� 	 
 .�
� �)�    �)�B��� ������ Z$ � � �����O   ��	 

%����   &���� �������
��� ���� !?���.� ���� �
<�
)
� ��(
)� � +� �<�B��� J�0 
Isotope.  

 � �� �� �<�B� /� Isobar.?�:� /� 5
3��� � .6��� /0 �   7�3���� W����� 
.�)� �
<�
)
�����
����� �<�B��� :    

A = 17 :  7N
8O   , ٭17

17 , 9F
 ٭17

A = 210:  82Pb21083 , ٭Bi21084 , ٭Po210٭  

 ��>��� (�)�� ���()�� �<�B����
� (-5٭B� �
B��� /� 8?0 +�� .   

       ��0��� �0�� �<�B��� 
�%�Mattauch        O�� ������� �� ���C= ��>� ��'� ���� 
�� �<�B� ����� Isobar�?<���� :   

  /G� ������ O��  �
����) �
# ���0��  unlike �      ������) ���� ��
�'�� �	 &?)
����C$      �
����) ������ O�� /��� ��  ���0even     /� /�))�� /) ���  /�   ��	 ���C 

 ���� ��������'�� O���� ���'- ��0 7��:
/ 2 .  
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 O���� ���C �� ������� 8?0 ��B� ��?� ��%The stability of nucleon   

=�8 �Q  A�
��� �>�
 /    �273 ��� �  ����C �����) $        �>�
 �0�)>)�� 
�% �	� 164 
����  .�������� ���0� �  Z �
����) $   .�������
� ��0 &���� �  N  �
�����) $   
��%� 

.
)�� ��������) +� ����� (�����)��$ �� �
����� O���� (g g)  !����� ��% /)� 
A�
��� W��� 8?0 ��>�) �86 �
����� ������� @"C) �.�):  

8O
16 , 12Mg24  , 14Si28  ,  20Ca40   etc   

�� ���������%��0 �� ) +�� ���(  e�����) ��
#  (u u)   �� ��������
��� ��	 
%��0 /��� �����������  �)�B��� Z�
����� ������� +C) �
*� :    

1H
2 , 3Li6  , 5B

10 , 7N
14  

           �
����) �>��() O�� /) �
��) ����C �����) ����0 �>�
 &����even(g)$ 
     �
����) �
# �>��() &����unlike(u) A�
���      +� +���
 �) �50  @:��� �.  �.�)� � 

 ����0 &���             �
�����) �
# �>��() J����� &���� O�� /) �
��)unlike(u) 
    �
����) �>��() &����even(g)$       !����� ��% /) �>�
� 55    �A0��� @"��- �   

       ����0 ��0�)>)�� /�) �>�
 /����    /
�����) ��
# /.  �%��� �    �<��
(
:�� 
Rutherford%�.B�� O���� +
�'� �
?)0 �	 ��
����� �M���)��� :   

7N
14   +     2He4→         9F

8O →           ٭18
17         +1H

1    
  

  /�����  ]��)�� ������     /
� �) �>��)�� ���)�� α    �
����� ���)��   

        8���� ���'�� /
���'� �
30� 
�% +0�:��� �
?)0�Quality     ��
��C�� ����'��� 
Quantity.   

       3�)�� ��
)��� 5) +0�:��� �
?)0 8���� ���'��� ����)����     ��% �.�) ]��
 �)� �
    �
B� �
����� ���)����    ��(N14      /) D
?0 7?3
 ����    +� ����Helium 
�> ) �

α.   

     �
?)��� 
�% +0�:� /)��      ��-) ���� N���Fluor   /�) N������ +')6� ���� 
% ����� /
>���� ���� �
?)���
/
>��� .  
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   �
��C�� ���'���Quantity$         !��'� 8�?0� �	 �>�� ���� (�)��� �.� ����)�� 
�����)��$          )0 �	 D�� �"0�:��� ��
?)0 +� �	 ��
*�) �
# 8���    O���� +
�'� �
?

  +��    �
*�� �� O���� 2��� ��>'$      ��	 ���>�)�� (�)��� ��0 I�)>) &���� �  +:��
   O����� ���'- ��0 I�)>) ����� ����� ��
*�) �
# &��� 8��� �����)�� !�'� .

�
����� �����)��� �%����� �
?0�:��� �
?)��� 
�%�:   

7N
14  (α . p) 8O

17
  

    ��� �.�
��� R�-� �����)�� 
�%� �
����� 7�3:   ()��� N14     +"�.�� +�� ��>�)�� 
             ��> ��.
?0 !��
 ���� �
����� �
<����� ���)�� D� ���
 O��
�� �.>�� /)
    �)α 

  +".�� +��� ���>�)��$     !�'��� p  �>�� �% 
      �
?)0 /) �C���� ���� �)  +�0�:���
 /
�CM� /
�$   ()���� O17          8��)
�� ��.>�� /) /
�".�� ��� ��>�)��  ��%  ��)��  ��

�>��)��.  

       +� �
B� /
� �?0�:��� ���C�� +C)���Beryllium      ��)
��>� &��� !���)�� α 
  �<�
(
:�� 
�>� ����J . Chadwich    ������ 2��
(
:�� D�>� D� �
# ����� 

�
����� �����)��� 
�.B� +0�:��� ��%� �������
��� 
��>�� �
����� 2�
(
:��:    

4Be9 + 2He4 → 6C
6C  → ٭13

12 + 1n + γ  

 ������ +�-��� ������� �����)�� R�- E�' �����)�� 
�% ������:   

4Be9(α . n)6C
12

  

    �- ��
?0 �)
 M 8�'�2          ���� D�0���� �� O���� �"0�:�� !�� /) �  ��%
�<�B���� ������� �	 ���>�)�� O���� +��-� ����% !��$	 P ������ O�� /� &?)

.�) �:?��) �
���% @M��-�� ������ +�-��  ����3���� 13�)�� &����=_�..   

� O������ ������ +�-�� ��
����� ���)�� �	 �>�: 2He4 , 8O
16 , 82Pb208     

� O������ 13�)�� ��<���� +�-�� ��	 �>�:  6C
12 , 14Si28    

� O������  ����3��� +�-�� Cigar ��	 �>�:  10Ne20 , 12Mg28     
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11 . 4  ��GL�� ��� ��/C9  Relative Atoms masse  

  A)
�� !���)�� /) @C
�'� �  ��      /����
���� /�������� /������� +C) ��)
�>�� /
�       ���>�)�� ���)�� +� O��� ����� �2����� ���>'�� !�V$     ��(�
) ��)
�>�� 
�.�� 

 .� ����� �  .�M�' ��'� ����� .<���� $� .�) �        �� ������� /�������� ��'-��� �?���� 
  +(*��Spin��� &���� �*)�� �(� ��
3The magnetic moment ���'- ��0�

  +�Leptons      +� ���'- ��0 &���� Baryons       �:����� �)���� T1/2 

  O��)�
 ��)
�>�� 
�% ��
' 3���).  

��?���� I�6�) R�-�:    

����: �
<��� �)
�> +� Elementary Particle   ���'�� ����') �?�� &?)� 
   � ������ /(���� �.�?��V  ?
��� ��'�� �� ���# �$        ��.
3�� /� &���� 5
3��� /��� 

     !���)�� ()���� �
<�
(
	 ��'�U.         8�= E��� �� �
��) ���� �)
���� �?���� ��'�� 
        �
���� D�?�� /(� ���� ��
�3�� /
>����� ���)
  ����A=16$    !����)�� /)� 

       �
<�
(
	 �M�' N"C &?)
 �
B� /
>����� ���) /G�$      
�.�� �
�� /�(�� �C"C �� 
         ��.�� ���:�) ]<���� ������ ��>� �
<�
(
:�� �����'�� +'� ���:�)�� +�����  ���

   ��� �	1961          � /G� �
<�
(
:�� �
)?��� /�>?�� /) D
?0 7:�) �)��0 ���� V  �?�� ��
    �':��C12              ������ ����)�� +� ����� �
��� �?��� �
<�
)
� �
# �
<�
(
	 ��'�� 

C12 = 12%��0 ��� +� ���� /� ��   �?�� �M  �����)�� ����� �?�� ��'� ����� 
ME = AM= Atomic masse Unit .  

   ���'� +� /� �.� ����)���1 ME   ������ 1 / 12  Relative Atom 

mass      �':�� �?�� �
��� /) C12  $     +� ��'� �
30� &����U    ������)�� �
���)�� 
�
�����:    

1U = 10-3 kg.mol-1 .1 / NA = 10-3 kg.mol-1/6,0221.1023.mol-1 =  

   1U =  1,66055.10-27 kg     

   F)�0 @"C) �3�� ��%�       ������� �)
�>�� �?��� m0  3�)�� �
����� �      +� ���'�� �U 
 ������ ���'�)�� �)
�>?� ������� �?���� �����) E�':m0 = mv . √ 1-(v/c)2  
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        � /�������� /����
��� ��)
�>� ������� +���� ���'� +�'�� @"C)  /�������=  8��
  ���'�U$  +'�� !�0@����   ��0 8?0 �)����� �Avogadro  ��	 +'?� ��0��)�� 

  ����:)�� �?���� ���� ������� +�C)��Δm.   

Neutron mn = 1,6749.10-27kg = 1,008665 .U  

Proton mp = 1,6726.10-27kg = 1,007277 U    

Electron me = 9,1095.10-31kg = 0,548580.10-3 U 

11 . 5    ;�
'#��� �&�A�� �- ��A�� M
�4� N
=Δm   

   �����
�� �<�
(
:�� �
�B� R�-� �
�:� E�' H.Yukawa  ���� �	1935 
 O���� O���Nucleon  Power$ +���� &���� ���Mesons Change $  ��30� 

         �
� /�������� /����
��� /G� ����
���� �������M� ��� /) �6�'�� �������   /�) 
� /�
�2����� �	 J��>�) ��> �� �'�Homage $).�) �'�� +� +� � 
  ����� &?)

 /������� /� �� �.��'-� ����
 /����
���� �
��>
= ���� &?)
 8�' �
�?� ���� &?)
�.� 3
'
 O���� &��)��)
# ��� /) E��6 �� � Meson cloud   ����3 ��3�� 

    �� 
�% 3���� �� &��)��� Nucleon's$   /'�� �Q  � @M�� /      ��3���� 
��% /) 7?3�
    �� 3���� �
?)0 �.:�� R�-�� Nucleon's         /�0 ��	���) �
# O�� +�� /
���� 

  3������ �
?)0 7
�3Binding of Nucleons ��.� 5����� ������ ����� �	 &���� 
     ��:� �
?)0 7�3� J����Fission �� � Nucleon's   ��% �      ������ ��)��M��  

 �	 7��:��� 3������ �
?)0 R�-� +���� Δm    &���)�� 5�)> E��' N�'� ����
  �
����� �	���)�� ��)
�>��  

 ���� ��� �?�� /
����mx E>
 �	���) �
# �+� ��)
�> 5)>� /Z= Proton 
�� ��)
�> 5) 3����?�� N= Neutron�
����� �����)�� 83�� ���� :    

mx = Z mp + N mn  

   �)
�> ���)> ��= ��%�   �)
�> 5) /����� �  '� /����
�      ��?�� /
��� 8?0 +�
 (�)��� 5) �
���)�� ��
?.�� ���) ��� O�'��� �� ����Helium = 2H

4e  
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@���� �30� �) E�' ����� ������ ��% �?�����)
�>�� +��� � �
����� �����)��:   

2 . 1,67265.10-27kg + 2 . 1,6749.10-27kg =  6,6950.10-27kg    
     :�� J

��)��� �������M� ��� /) �)�       O�� +�� I�)>) /G� �>� �C
�'�� �
<�
(


 ��
?.��� 5)>��������# �?
��� ��'�� �
����� �
)��� :   

mHe = 6,6447.10-27kg  

           ��
?.�� ���� +�� I�)>) /(� /� 8?0 f+� �) ��%��      +��� I��)>) /) �*�
�� �2����� ��>'$ �   �������
���� ���������� ��0 �$  ?���� 7�	� �     /
�� ���>�)�� 


�CM�D
)�� /:����:)�� �?���� .   

����)�� /
�?���� /
� �) 7�:�� �.� ����)���:   

Δm =  Z mp + N mn - m   

Δm =  ∑m - M  =   6,6950 - 6,6447 = 0,0503.10-27kg 

           ����:)�� �?���� ��)�)�� �?���� 
�% ���	 !
� R�-��Δm      8�?0 ��G�� !�� 
�?
 �) E�' �.��
?)0 �
�:�� �.'�-:     

�-��      E>
 9���� ��% �
�:�� R�    
� /���� 8�= ���� /�    ����� /0 +<���� /
�-
  ���3�� 5) �?����$   �� /� �� � Nucleon's   �)� � � �'�� � &��)��    ��.� ��
�> ���� /��


�.�
� �)
	 �>� ��:��) ���3 ���� �
� �%�)� �� /
�-Potential energy$  
��%� 
      .6��� /�) ��)
�>�� E����� ���3��� 

�� �*�� W��$     !�6� ���3�� 
�% &���� 
   +"')6M� 8�' ���0  �)�    
��% ])���

  � ������)�� ��)
�>���  ��� ���� /��$  �� 
        /�������� /
� &��)��� ��% �
?)0 �	 D��
      ���� ��
�> ��� ���� /
���� /����
����

  ��' ���3Free energy$  
��% �)��� 
         3������� ����3 �� &��)��� ���3 ���3��

Coupling or Binding Power$ 
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  6
 �
?)��� 
�.��
           
� /���� 8�= ���
 ��%� �?���� /) &���� ���3�� ���� /) 5� /
�-
�      6
 �) ������� �
?)0 �	 D�� �
      6
 ����� J:� �	 ���3�� /) 5
   ��?���� /) 5$ 

    ����:)�� �?���� �.
)�� ��<�6�� �� ������� �?���� 
�%�Δm ���� ��.�� = D��� �) 8�

� �)"��� ��%�
�-/.    

 )      ����:)�� ���3��� 3������ ���3 /
� �) 7?���� ..Δm        ���:
 ������ ����� �	 
�
����� �����)���(:  

E = Δm.c2
  

              ���
�> ��� ����� S���� ����:)�� ���3�� /� ���� ������� ���' �
?)��� 
�%�
����� ���� 2���� ������ ��)
�> 3���� �� &��)��� ���3 J�
�) �� ���� ���'.   


�����  ��� ���               ���
?.�� ����� 2����� ��
?.�� ���0 /) ����:)�� �?���� ��G� 
Helium            ���
?.�� ��� S���� ���3 /) �
?)��� 
�.� �(?
 �)� �    ������)��� ��.
3�

�
�����:   

 EHe = Δm . c2 = 0,0503.10-27kg . (2,99793)2.1016  m2 sec-1    

EHe =  0,453.10-11 J = 28,3 MeV 

��)� �B'")  ���'��� �'<M E�' +'�� ��0  

1eV = 1,602.10-19 Wsec  and  1Joule = 1W sec = 6,24.1018eV  
Or 0,453.10-11J . 6,24.1018 eV = 28,2672 ≈ 28,3 MeV   

                 +� �
����)�� /�����
���� /�������� /�) ���'�� +� /� 8?0 +�
 �) ��%�
Nucleons>��)�� �� ���3 ��'�� +� �(?
 ��
?.�� ���� ����� 3���:   

ENuc = 7,1MeV  

               �� /�����
� ��3-��� O�'���� �� ��:� �� &�:� E>�
 �)� J����� &����
����� �0�)>)?� ���3 &��� ��)(?
 ��
?.�� ���� /) /�����: 28,3MeV.   

             I��6�) 7�)0 ��	 ��?��� 3������ �
?)�� �3��)�� ��������� +�C)�� 
�%�
	 �.��3� !�� ���� 3������ ��
?)0������ J���� �.    
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11 . 6   OD����� �- P��
��� �:�F Coupling or Binding  energy  

=���           ���?� �
������ �
<����� ���)�� /) ��� ���� /���� 2��� ����� �)� $   &����� 
              ��.���� S���= �	 ��� +� �0�6� ��V)�� /)� �
����� �
<�
(
:�� ��
?)��� 
�% �	

A)���   ���3��� �?���� /) $       
� /���� E�' R�-� �30� �) ��%��   ������ +<���� /
�-
 �����)�� �3�)��� �?����� ���3��� ��
����:  E = Δmc2$     3����� ����3 ���')�� 

Nucleon's               ��� 
��% 2�(�>� 7��:� �� +���:�M J����� &���� ����� ���� � 
Nucleon's 3������ ���3 +���� ���3 ��)(?
 .   

     ���3 /G� +��� /G� ���� ��%�   
(> /
� 3������ <   � ����� ���� ���
  �=    J��
� M  
Mass 3����M�� &��)�?�.  

              ���'� 3������� ���3� 83�
 /G� �
����� 2�
(
:�� �	 ������� !���)�� /)�
MeV$ �
���� �?���� ��'� /0 ��)?�� 7����� ����� �	� AMU Atomic masse 

Uni  /�� �� ���� 
�%�=  E�' ���� M Avogadro �	  /�) ���) �'�� ���#� �
�>�
 ���� ���): 6,0221.10+23    ��� �����   ��
����� ������� �����) ����
 �) �

3�)������*��� �:   

AMU = 1 / 6,0221.1023 [gr]  

 ��= ��%�
� �����) �����  �
���)�� /
�-E = Δm c2$� �   ���'� ���6AMU  
�����)�� �	$ +') ��G� ���� ����� �	 )1 (1.erg = 6,24.105 MeV  1����	 

 ���3�� ��'� ����� �����)��MeV:  

E = Δm c2 = (3.1010)2.6,24.105 / 6,0221.1023 = 931MeV  

����?3)�� �
���� �?���� ��'� �:    

1AMU = 931 MeV  

     ������ +C)�� �	 @"' �3�� ��.��:      
(> +� +�� ���'� ��G� ��% <    ����) ���� ��
�
���� ���'���� 9�����$ �'�� �  ���U ����#�?
��� ���'�� J
�.    

E�?3)��:   �	��)       9����� ���0 ���) ���� 3���� ���382Pb207  I�)>) ���� 
����� �
<����� �
���� D��)
�> +�� �
�m = 207,9755 U .   
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    @M�� E>
�	��)     +� +�� I�)>) Nucleons        9������ ��� ��	 ���>�)�� 
82Pb207  

N = A - Z = 207,9755 - 82 ≈ 126    
Σm = (82.1,00727)+(126.1,00865)+(82.0,00055) = 209,73114 U   
Δm  = Σm - m 

Δm =  209,73114 - 207,9755  =  1,7556 U  

�)�� ����� 9����� ��� ���'�� 3������ ���3���
����� ���:    

EPb = 1,7556 .931MeV =  1635 MeV  

       3������ ���3 +' ��
�3�Δm  ��� ���'� 7
�3 /0    +�'�� ������ ���#�?

������:    

1U = 1,66055.10-27kg and 207,9755U = x kg 
x = 207,9755U . 1,66055.10-27kg / U = 3,453537.10-25kg    
Σm=(82.16726.10-27)+(126.1,6749.10-27)+(82.9,1095.10-31) =kg   

 = 1,371532.10-25 + 2,1110374.10-25 +7,46979.10-29  
  =3,483316.10-25  

Δm =3,483316.10-25kg - 3,453527.10-25kg =0,029789.10-25kg   
Epb = Δmc2 = 0,0297.10-25kg . 2,997932.1016m2sec-1=  

  = 0,0297.10-25 . (2,99793)2.1016 =2,66.10-10 Joule  

1650 MeV =  Epb = 2,66.10-10 . 6,24.1018
  

      /
� �>
���� �	 7�:�� ��%�1650 � 1635    ��    /�
=     ���'� /
� +'�� 7��	 M
 ���'�� ���#�?
���� +����U$+6	�� �% ���#�?
��� ���'�� N
�'�� +'��� .   

11 . 7  ����C4�� P��
� �:�F   Nucleons;GL�� ;�
9 "=    

=           
(>� 3������ ���3 +'� +��� ����� �	 �%������ ���� ��
�3�� 
�% /< ������ ��$ 
�.� ����)�� ��Nucleon's �  ����� ���� ��
�3�� 
�% /� � /��)
  +)����� /� 

  S��)���	��)�           ��� ��.B� �
?)��� 
�%� �	���)�� ���)�� +� O�� �	 3������ ���3  
      �:��
 3������ ���3 &���� ����:)�� �?���� /�/�        +�'�� ��
?)0� ����� �?�� I�:���� 
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- &��� ��� ��.B��g< F).) �   E>
 �     �� �	 ����0M� /
�� 
��G� /    ��% �
����� 2�
(
:
      +�� ������ 3������ �)
� /�Nucleons        �
?)0 +'� �%���>� ����� ����� ���� /) 

�	��)      ��)
�> /
� 3������ ���3 Nucleons      ��
?.�� ���� Helium   �
����)�� 
A�
���    �7,1MeV$ �� ������� O��� �3���)�� 3������ ���3 �)
� �%� ��  +����� 

�?
�C�� �� ��:��)��$%�  +��� /G� 5
3��� ��G� ������ +��� �	 ����� 3������ ���3 /
A�
����: 8 MeV.  

11 . 8  
)�J%�� ��$#9�Isotopes separation  

11 . 1.8 ����� ��	
���� 
�	��� �� �����  The Masse Spectrograph  

  
 (�.> !������ �     A����� ��G� �
<����� ��)
�>�� +��:�� �
?)��  A���>�) �   D�� 
�'��� A2�?)) /�  7
���� (�*��� $    �'�?�� /
� N�'
 �)�� /
 �CM� �     /�0 5�-� �
?)0 /


e+�0 �<���.� ���� 7
�3���3?� $�� /
� 83�) �Cathode ��� � Anode ]����� 
  L
�:��� 7
�3 /0Glimmer discharge$   ���'�	 /�) �
�3�� �
?)��� 
�.�� 

    �'��Cathode    �
��>
= (�# ����
� 
    ��>�� 
�% +�� E�'  
)��� ��)
� 


?)0�      ��
��3�)�� ��)
��>�� �
�3� 
  I���-�� ���� �
?)��channel Ray 

       �.� �����)�� +��)��� +�� E�'�  
Inertia Masse���:?��) �0����� $ 

      �	���) �
# ��)
�> J�
� �� /(���
       ����') ���� ��-) ���) �<�B� /)

  ����M��Determinate Isotope 
       �� ��% �)�� &����  �:?��) @"�� &?)�   ���� (�.>�       ���� ��	 
��3� 
�>�1919 

 �(
?���� �<�
(
:��Aston ���� Masse Spectrograph  /(��� +)���
 ���� 
 �
����� ��0��-�� +��  
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�>� (�.>�� ��% ��0��)��Astron     +� ����)� ��
<��C�� �<��B��� @"�� ��� �)� 
17CL37 .  

�� (�.>� �
>��)� ���� �3�� ��%� Masse spectrograph    (��.>�� ��%�
       /) &��� /�'� ��3Aston   8�' �   A���� (�.>�� ��% 1��   
(> /(� 8?0 � �< ��

  �� �
��>
�� ����
��� ��:?��) /��� +���� J:� &?)��0���� $ �    ��3�� 8�?0 5��
       �
������= �-�- 8?0 N
�'� J��' �?	 8?0 ��'��$        ������ &��� ��	 &���� 

 �� ����
���  ��    :?��) /��� ��'-�� J:� &?)�   +�����       ��?:�� /) +') �
# 8?0 5�
J��'��$             �B�� /�' ��
��� ��)�� �	 ��
����� J�
�� �0��)�� (�.>�� ��% /��� 

  8�'�     �
# �
	���� �<�B��� J�
�� /(�� @"��� 1�����3�?�)$ J�
�� 1��� &���� 
� ���)��� �<�
(
:�� D� �0�� ���>�� �	 ��3��� ��%� �
)� ���M.von Ardenne 

�30�� �
���� ��M� �
# ��� ��3�)�� �
�>�� J��'�� (�.>�� ��.� Uno plasma 
tron 	 G ��) 1��:     '�� /
� 
�
�(� ��� ������ 5�� �� � Cathode � ���  �Anode 

  !
:� �<���.� �����$          @"��� +)���� ���� 5:��)�� �<���.��� L
�:��� ���� J��� 
 !���) �<���.� L
�:� �
?)��Glimmer discharged�     ���3��� &��� ����
A�
�� (�.>�� ��% /�' J�)?)��  (�.>� �)�� �Duo plasma tron$ ��( /� ��� 

     �'�?� &���Anode    � 8��[� ��0��) �
<��C �   A���� (�.>�� ��% 1���    �� ��� 8?0 
���
  ����
 �<���.� ��
� E��100 m.Amp &��� D��(
) /)�  D��  /� 5
3���


�� /) �
�� ��0 �
� J
�
� I��
  +�-�� /) ����
�� !��3 8�= 4 =_�..   
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11 . 2.8 �8�+$=1�
 ������
 Electrolyze���� (�*&��
�   

   �?
�C�� 
�
)�� E
���D2O  

 �)�0=  /
�C� 8�= �'�� +���� �
��� /1 / 2M ���)�� �	  �>�� =   ����) ��	 M
.��
�� /
>���) �	���H2  ��
����
��� �� Deuterium = D2O	�  ��% �
��� +�

    F�> 3
�� ���)�� �	 3
?���     
��% +�:�� �
?)0� �:?��� ���# /��� �Electrolyze 
 A)
�� ����          �?
�C�� 
�
)�� /) ��
�� �
)� E
��� �� +�:� �� .?�:� ��    
��
)�� /) 

�
�����. C)� �             /�) �'�� ���# E
���� �
?)��� 
�% 7
�3 /0 +�:�� &�� 8?0 @M
   �?
�C�� 
�
)��� <�) ���
��0 
�
) ��� �$ ����� ��:��) �
<���.� ���3 E>�� �
?)�?�� 
1000 kwhM ��
�3�� 
�%� E
���� +)���� M=  ���)�� +�� 7��:�� �B���� ���) 

.�� ���) +C) �
?)��� 
�.� �����) �
# �% ����
/
>���.  

#$"�
� ��2���
 C����
� ����
�
 C����
 �
6��� �=��+�  

�
���  
����� 
�
)�� �H2O   �?
�C�� 
�
)��D2O  

�	�C��� �	   20c˚  0,9982 gr/cm3
  1,1057 gr/cm3

  

�	 �	�C���..  1,000 gr/cm3for 
4c˚ 

1,1059 gr/cm3 
for11,6c˚ 

/������ ����'1013 mbar 0c˚ +3,82c˚ 

�� ����'/�
?*1013 mbar  100 c˚ 101,43c˚ 

/=     ���>�) �?
�C�� 
�
)�� �?��  ��
�3�� �	 $ �.����  =      ��
����� 
��
)�� 8�7000/1 
��� �?
�C�� 
�
)������?
?� ��
)�� �
3���� 7
�3 /0 S$ �>'��
3��� @"C)  ..60 

cm3 �?
�C 
�
) S��'� �>' 100�
����� 
�
)�� /) ��� ..  

11. 3.8  ���$%+ (�*&��
  $�%���
 The Distillation Methods   

 ��
�3�� 
�%$      ̂ /) �	���)�� �
3���� ��
�3 ��  /
���� !M$     &���� �?)����� 
        � �
����� 
�
)�� /�
?# 7
�3 /0 �?
�C�� 
�
)�� E
���� � �>�������$   
�
)�� �
3��� 

�
3���� 7
�3 /0 �.�) �?
�C��.     
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      �?
�C�� 
�
)�� ���� ����� �	D2O  ��
?# �3�� �.     � ���:��) Concentration$ 
 )>� �>
���
      )�� ��
�3�� 
�.� �?
�C�� 
�
)�� �
)� 5 A)
�� �����$ �  ��
3���� �$   ����� 
 F�> ��
*��$              
��
)�� ��>��) /) ����� &�� �	 �
����� ���3�� ��>� ��?3 ��.�� 

  �
�� �
)� �?
�C���  ����� ������  99.8%$       ���
�3� �)
���� ��
�3�� ���3 ��.�� 
  �
)� ��
�>Fraction Colon� $     �(�.>� ���0 /�) �(����)�� ��
3���� �$ 

�)����3 �(?
 ����� �?
?� �
<���.� �) ���� �?
�C�� 
�
)�� /) ��
�� �
)� S����� +�
  A���� �'���� ��?�      �?)���)�� 7�3�� /) �
�0 �>� &��� � @C
�'      ��	 �.'��- �>�
 �
�
)?��� 5>��)��.  

11. 4.8   D��$��
 ���$%+ (�*&��
Diffusions 


����� 1
-���� ��
?)0 E�'�  ���
����
�� E
���� ��
?)0 ��>� $  �%� 
�
    A)
�� &��� �	���)�� �
�
�3�� ��
�3��      -�� 7
�3 /0 E�-�� 
�
) �
���� �
  2�)�� 1

   ��:�� 7
���� ���) /)$� 	 P  F
)?0 &��� D�          D�� !�
:��� (��*�� /G� !���)�� /) �
   �.��� �
�����Propriety �    1
-���� �
?)0 �Porous$ 	 P       /�) 1�-�
  &��� D�

        (�*�� /) I��� ���:�� ���) �
0�� ���)C)� +
�C���&�� 8?0 @M:[) ��=    2��0� ���
F
���3���    @�?*) ���:�� ���) /) � �
#   �� ((�)          (��# ����)� S��>(�� ���)� �?3) 

    ���� !
:��� �2�6�� � ���
       2��.�� /) I��� ���:�� ���) /) 1-�� �0��$  ��.�� 
          % �.� ��>�) �
(�# ���) +� /G� &��� !���)�� /)� E����
  /
>����  �
��� �.

�2��.�� 8�= ���:�� ���) ���) /) S����� �� 1
-���.  

            ��
��C�� �
)����� E�'�� �	 /

��
)�� /) ��
�3�� 
�% �?)���� E���� ��.��
E
����    ��
����
�� ���0U235   �-'� +)���� ���� �       ��
�� ��?��� +�� �
>:� 
@	M^ ������/

����
�� /) .    

       8?0 +��'?� ����)�� ���� ��
�3�� 
�%�      &��� �	 E��)�� ����� ��
����
��
�����$    D�� �� �?)����         ���0 /) �:�V)�� ��
����
�� ���) UF6    �����?� �?����� 
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(�*�$             7�:�  ��
�0 ��
�� ����3 �
0�� �	 _:�� �
(�*�� ���)�� 
�%� 5000  2�0� 
      �
# ���:�� ���) /) �0���)�� � ((�)�   ���
C��� ���)�� $   �A��� ��
?)��� 
��%�  �

�
����           
�%� �%�
#� 8���� �
���� �?����� 5��� �)("�� ��
)��� �>��� 1
-���� 
  /�))�� /) ��
�3�� /�             �"�� ��)��'� �
�:�� E�� /��� +���� 2�)?0 ��
�� �.���
 

          �.B
 �) 8?0� �
���� �?����� 2���� ��
����
�� E
���� /
-3��)��� /
?:*)�� �>���
������ E
���� �.�) .  

11. 5.8�$%   (�*&��� E$
$��
 D��$��
 ��  

  The Thermos Diffusion   

=           1
-���� ��B� J:� 8?0 �
��)�� �)
���� �
# ��
�3�� 
�% /�    ��
C� �	 ����)��
  �� /��?��� /)� ������'�� 1
-���� 7
�3 /0 ��
����
�� E
��� �
��� &?)$ 
�.�� 

 ��	�
 ��
�3��/ @	M^ �       �%�
#� ����:�� �(�.>� /) �. 
 �� �
?)0�   +�-��� +
3��) 2�0� �	 N�'� 
�% 1
-��$ 

   +���
 D0�:���20 A��) $�      �� ���) /) E
6� D?��� �	 � 
Platinum ����)� +)���
  ����'?� ���0 ���) �����

  +�UF6 (�*� .   e��' (�.>�� ��%�      D�� ��3
') ����3 
)���
 �
���?� 
�$�� ����� 5
���� ������ �
?)��� � UF6 

     � ����' 7
�3 /0 N�'
 ���� ��:��)�� E
6��$   ���% 

(><   �
B��� ��UF6      �
B�� +
�C (�# �
B� /) �
��)��

 !
:� (�#,          8��= 3���
 �?
�C�� �?���� �� (�*�� �
B�	 
�  ���
� (�.>�� +:�$      
:��� ��?���� �� �
B��� (�#�  �: �

        N��'
 ����)�� ���%� (�.>�� 8?0� 8�= ���
 ��'��
  2��.�� 2�
(
	 E�'$      ������� ������� 2��.�� ���)�  /

       ��������  
��.B� (��.>�� ���% S���)�� !
:���
�'6�)��.   
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           ����� ���� �
# �C
�' 7�3 ��0 E
����� �
?)�� �>� ��� &����$  �.�)� � 
 A
��' ����)��  �  �%�        ���)�� (�*�� ��)
�> �
�3� �
?)0UF6 �   +� �Centrifuge 

        +� O���� �
��0 �0��� +�:�� (�.> /�����40000U/min   �
��C�� �	 ���� $  ��
F
)?0 ��)�)�� �
����� ��
�3��� �N15$  ��
�3� &����  B10  E
������ 5��
 �)�

    ���
?)��� +����� ��	 �<�
)
��� +0�:�����  ��) � �
)�8 Chemical Chang 

Reaction$        �<����.��� +
?'��� �	 ����
�� I���� 7
�3 /0 �� Electrolyze 
������ E
���?� 9���� .  

��א���12
�� �!"�#$�%�
���א&

()��א��'������*�� �

@���� ���� ���� ��-)�� ������� !�-��� ��� /) �Radio active Elements 
   �<�B��� &����Isotope$  �% ���� 
        ��?�� 7)��� �	���) ��
?)0 8�= ��	�-��M� 

            �.�G� �
<�
)
��� �<�B��� �	 &���� �
<�
)
��� ������� �	 �>� /��� ���)�� 2����� 
  M �
�
�3 ���)    F
0��3�� �%��� +
�'� /�)
        ���� ���) �������� ��� �>� /��� �

         �� ������ ��� ���)�� �� ������� /G� /

<�
(
:�� /) �%�
#��� � A��0 &?)�  �F
)�B� �  
Z   �� ���)�� &���� �  ��       *� /�)) ����� ����� &���� �)�B��� ����� &?)
  +
�'�� �


   �'��� ��% +)��� �
0��3�M� 7�3��� �%���*� �� +

  ����)�� !�� ��)(?
 O���� �

    ��)
�>� �.?
�'� E>��������    ��:��) �0��� �
��' ���3 $     ��)
��>�� 
��%� 

����    M ��:��)�� �0����� ���3��  �     � /� E>
� ��
�3�� �	 �>�� �� �%�> �� �.>�
�
<�
(
:�� �
>�������� 7�3���.    

12. 1��*
C��� E�
F .* ���
C�� ����C4�� Q��97    

�	   ��
�'�� =    E�� �
# ��)
�>�� S���= /,         R��-� ��� �) 8�= ���0 ��= @"C)� 
          �
)'� 7�
�3 /0 ���������� ��)
�> S���= 7�3 /0 @"���      �.
)��� ��'�� 

Cathode��
C� ��)
�> �3��� N�� ����  $A)
� ���� ����
� S���� &���� �$	 P D�
         (�.> /) �� 5��) /) ��
�� �
)�� �.>���= /�))�� /)        @"��� ���� ���� ����
�� 

Masse Spectrograph$� ����)��� ��0��)�� 7
�3 /0 �� P��� ��)
�>�� I
    ��)
�>�� 
�% /���0  �)�           ����� 8���) (�.> �	 ��>�) �<���.� +�' �	 �)

I����?�$ �          8�' I��)�� (�.>�� ��% 2���� E
��� E�' ��)
�>�� I���� �� +�
=     �� �� ���?3)�� ���3��� �0���� 8��6��:)$      �� ��)
��>�� 
�% !�� �
?)��� �� 
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             ���') ���� 8?0 +�'� �.?
�'� �
�� ���) ��� ���� 8?0 ��:��)�� �0����� ���3��
   � ��
�3�� 
�%� ��
*�)5��   �� ����)�� +�� +
�'�� ��    ��
#� ��	���)�� O����� 

���	���).  

12. 1.1$��� ��8
2+�
 �����F�� G$���
 B"�$��
 �8�+$=1�
 2=F�
    

 high-tension  Linear Accelerator  

      (.>� R�-� 2��� �	 +��� /� +��� =��� ��)
�>�� I$      7��3 8?0 ��B� ��?� 
            /��� �)
���� ��0��)�� �	 �����)�� ��
�?� 5:��)�� �<���.��� ������ +��' S���=

@	���)� ���) �����)�� ��
�?� ���)�� �)�0 van der Graff$ /) ���)�� ��%� �  ����
 �)�� �� S���������)�� ��
�?� ������ �����.    

A)
��  E���� /�� �      I��)�� ��% ��� ���3� @M���) I������$      
��% 13� 8?0 � 
   ����
 �%�3� !�� ���� 2��?)�� �����80e+�0 �.> ���� �
�
 /��  ���� e����)  

A�
��� ����
  �30 000Volt$ ����
 ��
�� 0,75 m Amp  ��
��� 7
�3 /0� 
� �3� !�� ����=  8�r =100cm ���:�� ���'�� +���
 �) ����
 ������ 1��
 

  ������ +'�� E�'V U = E.r = 30.103 .100 = 3.106.  

       �<����.��� 2��> ���)�� �)��6 ��������
  ���)���Greinacher �     A����) �)��� ���3� 

A�*�)� �      ��:C�)�� 7
�3 /0 ������ ��
���� ����?
Condenser  �M�')���  Rectifier$ �  
�)��

   +"-��� ���)��Cascade Generator  ���%� 
     ������� ���
���� ����?� �)� ���)��$  ���'-���	 

   ?:��� 7
�3�� ��G� �
�?���8 ��:C�)?� $    +�� /��� 
       ��
��>
= ��'-� �
?��� �.���3 �	 /'-� ��:C�)��$ 

    +��� ��
�3�� 
�.��=       +��
 !�C�) +� /� 8�
     �� S��) ���� +���
 I�:���� D��'-�   +��')�� ��

 �������� ��/
��).  

  

o b e i k a n d l . c o m



217 

12. 2.1  �
%&�
 G$��� B+�����
 Repeated Linear accelerator  

     ?0 ��)
�>�� I��� (�.>�� ��% �	8   A�
��� D��3 ���)     �13m     7�
�3 /�0 
     �<���.��� U�:���Discharged ������ 
        !�� ��	 ��3���) ���>�) E
���� ]

  W���� �.6�� !?�$    +)����� E
����� 
�%�  ��� ?     ���'�Electrode$   
��%� 
  ����� �3') /) ��
�) E�3�� +���� �
?)�� �����)Frequent Generator   $

��� �.B
 �)� �������
>��)��
����� :   

  

  

  

  

  

  

���� �
?)0 ��%���� N�'� I���
����� 8�= E���� �'�� /) ��)
�>�� I�.    

�	
�: ��0       �'�?�� E���� �
<����� ��)
�>�� 53�� �)A      ��	 ������ �
*�
� 5:��
 
e+�0 I�:���� ���>
= 8�= ��?� /) E����� 
�% �'��$� ��0 ��)
�>�� 
�% S��� �)

   E����� /)A       E���� �'�� /��� �
��>
= 1��� B   �
�?�� 1���� $   ��)� ���.�� 
      E���� �'�� �	 �)� ��)
�>��B � �    �	 �
��>
= 1���� ������ ���) 7
�3 /0 +��

     E���� �'�� ���� �����C     E���� �'�?� �����)�� A       E���� �'�� 1��� C  �	 
�> �?%� �
�?� ����� ��%�.  

     .�0�� 8������ ��)
�>�� I����� �
?)��� 
�.���    �'�� /) ��    �������� E����
        �� �>�)�� ������� 7?��) I������ O�>) ���) 7
�3 +�3�  F
)?0 8)�)�� 5:��) �

  �������Decimeter Wave.   

12. 3.1�
 G$����
 6�=F   > Cyclotron  

       ���
)�� �<�
(
:�� 
���� 
��3 (�.>�� ��%Lawrence    ��� �	 1932  $ �%�
             I���)�� (��.>�� �
���� ������� O����� �
����� �
)%�� ��� �0��)�� �(.>�� /)
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      (�.>�� ��% �	  �3���� �>�� ��>         +�-��� ���(?' ���) 8?0 /������ 8?0 ��)

Spiral form$   7�
�3 �	���) ���) +���
� !�V
 ��% ��)
�>�� /����� ���� 

�?
�3$             �����
 ����� ��
3��*)������� +)���� ����� �% (�.>�� ��% �	 �.)��� 
 E���
 �) D�?�� �� D�(�7000 t   �
���� �	 ��>�) (�.>�� ��%  Dubna  /
���

 �>�
 D
�3�            /���� !B��� E'�� 3:- L6) �
?)�� ���() +�-�� ��
���) �	�# 
� 
�.B� I��)�� ��%� 2��.��� ���*�� /) �	�*�� I�3����� ������ �
>��)��
�����:   

  

  

  

  

  

  

  

  

  

        ) ��?0 +�- D�-
 �.?�- ���� �
���)�� �	�*�� 
�%����
    �)���) �� ���3-) ��
 /
)�� 8�=,       +��� ��?��� !�� D1  � ������     ���C�D2      +����= �3')� /
?��)  

  ��
���� �>�)�� 8?012.10+6 Hz$   ���?0 O�'���� �� �	�# !�� +� 8�' 
    
��>
= /) E������� �.��'- �
*���  
�?� 8�= �        �) 7-�� �	 �	�*�� !�� �	 �>�
� 

   �'�� /
)���� /
�Cathode    /�) ���
�� ��
)� ]��� 5:��) ��
� �'� ���>�) 
����������. � ��0 
 �)      % @"C) (�.>�� ��% +��� 8�= 7?3 �
     ��
������ �� /
>���

Deuterium   � +�- 8?0 ��� 	 P   
(> �� ���� /<        ��3���  ��)
��>�� 
��% ��
 /
G� �
?)0 ]��
	 �����������8��
  /) Deuterium, Proton +)���� 53�
 �)�� 

        ��<�� 13�) ���) 8?0 ��:��) �0��� ��)
�>�� &�'�� ��
3��*)�������$ �	  
       @�?��) /��
 ��<���� ���)�� �3� !�� ���� ������      +�� ��%� ��)
�>�� �0��� 
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  ����	 ��  D�:
B� D� �	�*$       �3���� ��G� @"C) A          ���?��� �� ��	�*�� !��� D1 
  +�)-�� 8?0 ���>�)��$    �B'?�� �	� ��  ��        ���?��� !�� �� �	�*�� 
�% ��'- /���

.��	� ���� ��)
�>�� E?>� �
�?�� !�� ���?��� ����	�*D2 /
)
�� 8?0 ���>�)��  
=�.
�$ %� 
�   ��)
�>�� �           +�)-�� �	  ���>�)�� �	�*�� !�� �	 I����D1  8�?0

   � ��<�� !�� ���)�     �3�� /��) 8�= +�B$    �� �3') ������ ��%�   �
*� +���
  �	�*�� !�� ��'- ����      �
�?� �.��'- 1���� /
)
�� 8?0 $  .
�G� ��)
�>��	 �   ���� 

�%� �
��C 5	� �
?)��� 
�>) 5����A���..��'�� ��)
�>�� 
�%� � �0��� �)?� ��<���� 
  ��<���� �%���) 5���
$           +�-��� ���(?' 7
�3 ���) 8?0 ��)
�>�� 
�% ����� 

Spiral form��:��) �0��� $   �A)B�) 8���
 ��)
��>�� 
�.� ������ &�'���� � 
   +����� �3') ���� E�'$       5:��
 E����)�� ��
��� �)� /���      @"C�) 5:��) ��0 8�=

= 7�	 �) 8�100 000Volt � ������� ��0 &��� �0���=   ���) ��<�) 8�� ��C�$ 
��3�� �
��' ���3 Kinetic energy   �A�
��� ������ �0�����)�� ��)
�>?�   �

10MeV$    	 ���)�� �
�.� �	� P       �'�� ��0��)� �0����)�� ��)
�>�� 
�% �)(' /
���  Electrode  H ��'�!� ��� /) S�� ��')�� &��-F S������ 8�= $  ���%� 
�          � 2��.�� 8�= �>����� ��
���� ��)
�>�� 
�% /� ��
�) �?�-� �.BV   2���.�� /


5-��.  

   �� �� (�.>�� ��%�� Cyclotron      &���� ���� D:�� 8?0 ��
�� ����   8�?0 /�
��������  ]��
   ����� �
��' ���3�680 MeV$   &���� Deuteron  ����3� 

 �����350 MeV$  ����� ���3� �������
� &����100 MeV$ &��� 8��� �)� 
% ����
�
�� O���� ��:��) ���3� /
>���� 750 MeV.  ������)?� ��
�� ��= ��%� 

� (�.>�� ��% D>��
 �) /
�D>��
 �) (�.> )��  �3��� I��Linear Accelerator 
 +� ���) D
3�� �) &����Radium  ��)
�>�  ���3 /) α � �
����)��  �A�
���9 

MeV$         ��)
�>?� �
��'�� ���3�� S���P� �
���� 7�:�� O��� �>� ��% .    ���� /��� 
   /G� �������  &���� �3��� I��)Cyclotron�>��
 /   �
G� /���� ��������
� � 
  	 Y ��
�3P         7�
�3 /�0 �)�0 �������
��� S���= /��      ��� �� ��3��� I���)� 

Cyclotron$ �.	 /� .>�� �(/�  �>��
 �)�0 /  Deuteron    ���:��) �0��� ���3� $ 
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���0�)    �� 
�% ��)
�> !���� Deuteron   ��3��� �     �� I��)�� +��� �	 !�.
   @"C�) �.���� O�� ���� ���) /) I��)�� S���Beryllium Target  ��� �3-

          /�����
�� /������ 8�= ��
���� ��
���
��� ��)
�> I���� 7
�3 /0$ G	  ��) 
   %�
'� /� 5
3��� �����������  �3 !�'�� .�
�     �
��
3��*)�� ���3��� =    ��
# 8��

%�>���.    M ���� �
��
'�� �������
����   .
?0 �CV� �      �
<���.� M� �
�
3��*) ���3 M 
�    	����� !�V)��� ��� ��
�� S��
��         D��������� +�� �6�' ���) �
?� ������� �

         ]��)�� �3��� I��)�� 8?0 ��
���� �������
���� �
����� 8?0 �
��)�� D�'��3� 
         ��� /) /

�����M�� E"3�� 5) D<��� �	 �0�� ���� ������
�?��  ��>�)�� /
��

   _
���) ��
?��� ����.�� �
?� �	T.U.M Garching $    ����� +)����� ���.��
I��)�� ��% /) 8���� D�'��3� ��:��)�� �������
��� .  

12. 4.1  G$���
 6�=F�
  Synchrony Cyclotron  

 M ��%    �-� 7�� �) �
��    �� (�.> /0 R� Cyclotron$       ��% ��) ���� /��� 
  /
�CM� /
� 7�:��, 	 ���          /����� E��' 2�6�� �0�� ��)
�>�� �0�� E���� �)

 
� �
����    .�?�� 5:��� �� ���� /
�-$�   &���� � ��G�) +��      /
�� ��>�)�� 7-�� 8�= 
)��� D2 and D1$  ��:�����?��� �� �	�*�� $  /�) ��� �>�
 (�.>�� ��% �	� 

�
0��     ��G��� 8?0 &��� �0��
 ����
�� $     A��G�) ��)
�>�� +��� 1��
 �� �  �)� 
   A�:� 1��� +�'�� �����      M ��)
�>�� �0�� �B'?�� 
�% /)�  �� �  �"�:��� /��� I

     ���?3)�� �)
��� 3�� �	 �.�0�� 1>�G��$       /0 /��� �0���� I�:��� /�))�� /)� 
     �� +����� +�' ������ �
*� 7
�3��
+  �>�� &�'�       ��G���� 7�
�3 /0� ��)


    �0�� �?
�' �3����*�$     A�
��� 5:��� ��)
�>�� ���3 /���    ����� ���3 8�= �          
1000 MeV.    

12. 5.1�
 6�=F  > Betatron  

 �� (�.>� Betatron     ���������� I��) &��� 8)�)�� �� ,    ��� I��)�� ��%� 
  ��) 8?0 �)���       +�')�� ��
�3 �� Trans   �
� /
:?) /) .�) E����     ��>'�� �
��

  2��.�� /) U�:) ��>
� +�-�$ I��� /� E>
 ���� ���������� �� ��)
�>�� �)�� 
  I��)�� ��% �	$ � E����� �$        ��'�� �)'� 7
�3 /0 ]��� Cathode   &����� 
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       +� �'�� 8?0 5:��) ���� ��>��Anode    �A�
��� �����
     �1000V   E��'� 
 �� E�3����       +��- &���� ��<���� +�-�� ��        ���>� ��<����� 
����)� E����

     +�'�� 7
�3 /0 ����������  8?0     e����) ��<��  +�-� �
�� /�     +�-�� 7�?��) 
  E�����N
'� =   M ���������� 
�% / �  .��'� �	 J)"�  E����� 3<�' .   +��'��� 

��  � ���
 ��      ���
��� �� D
>���� +�' D
)�� �
?)��� 
�.$        +��'�� ��% �)� ��) +� �	� 
  �� ���� 53�
   S���� 7?3�� �


     E������ /) �0��� ����������
S����� 8�=.    

� ?�'�� ��>��/
 
��
3��*)�� /
 
   �
# /
:?��)����
����)
   ������ /

    �).�) ��'�� +��  ��   D��:
B� D
������,     ��>�)�� +�'�� O�� �)G	 

      7?�
 �� ]��
 �?����� !���� �	
A����
����F
�<�� � /��) �:������ 

  .0���� ��>
 �����������  /�0  
   ����
3��*)�� �
CG����� 7��
�3

  D��� ������)��Induction 

reaction $� �)� �� D>�)�� +�'�� 
      ���� &��'�� +�)�
 �<����� I�
���� �
?)0 J:�� ������������� (�.> �	 I��  Cyclotron$ �   ����) 8�?0 �

��<��.?�'�� ]��) /� �% ��)�%"� �
C)��� /

�
3��*)�� /
% ���'�� 3�3� �:� .     

 �� ��%�  I��)�    �Betatron    E����)�� ��
��� 8?0 +)�
 $     I���
 /� 5
3��
� 
         �
�)(�� ������ 5�� 7
�3 /0 �C��C��� 8���� ���'�� �	 ����������.   �����)��� 

   ���� /� �
?)��� 
�.��  ?� N�'
 I�  &��% ���� �)        ��
�' ����� �	 �
�
3��*) ���3 
         ����� ��% �	� �	���� �
�'�� /) �0���)�� +�')����    8�?0 ���������� I���

     ���� /�
?) E���� �0��� ��<�� +�-$     5��� ��
���� ����
 I����?� &�'��� ��%� 
  �
�)(�� ������1/4 Period.   
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     %���) �
�.� �	 ���������� !��'�� �
?)����           +�  ����) /�) ��'�� 8�?0 
Wolfram  $  ��� ���������� 
�%��.)��     �'�?�� /��) ����� �    I���-= ���3 ]��

1�� I��-= ���3 ����� 20A)��# � ��
����� ���0 /) Radium �	 /�))�� /)� 
  ��0��)Betatron  +� O���� 1�� ���3 S���= �)�6��200 MeV 8?0 ������� 

 ���� /
C"C�� 7�	 �.�)� �M�	 �'�� 7��30 cm$ �����M��� = ��� (�.> /� 
Betatron ��� ��� (�.> �% ����) +�- 8?0 ���������� I� �
*� �
?)�� ��<�� 

�
�
3��*)�� +��'��.  

12. 6.1   ����$�1�@
 G$��Electron Synchrotron   

  +� (�.> Electron Synchrotron ��3� �)� 5	�� ���3� �0�� �?
�' 
����������$       �<��
(
:�� 2�> �
?)��� 
�.�� Weksler        I���)�� ��
?)0 ]�)��  
Betatron�   I�����)�� ����
?)�

Synchrotron �    /
(�.>�� /) /��
A(�.>�    ����� /
�CM� ��(
) 
��0 � I�

   ��������T� 5:��)���   (��.> 
�)�
Betatron Synchrotron.   

  � ������ 
�%V   ����� S��)�� ��
       ��	�# ���'� ��<�� +�-� �.B�

   /
)�� /) �:�V)�� I������$   +��� 
 ).�) ����      ��	�# !��� ����
 

A.��-)� A�
���    �	�# !��� ��  /�)  
(�.> ��� Synchrotron$ �� (�.>�� ��%� Electron Synchrotron �0��
  �	

   I������ �
?)0   7
�3 /0   ������ ���C ���) �B�)$         D�� ������ J�:� �	 &���� 
�
<�
(
:�� D��(
)$ ������  5:��) High Frequency Generator (H.F).  

@M��(�.>�� ��% �	 Electron .Synchrotron    E��' ����������� I��� 
  ��
�3   +� (�.>Betatron�� 8�' 1�.�0�� �U��:�� �	 2�6�� �0��� �����) $ 

    ������ �-�)� ���� ����� �	$          +�' I�:��� 8�= ��% +�
 �)� H.F     �
CG�� !��
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  +�'�� O�� I����.          +� ���� ���3 1�:� �B'?�� 
�% �	 ��%H.F     8��= �?��� 
�%� 
I������ �
?)0 �
�.���.   

 M 8�'� �  �3 ���������� &��  %����) 7
�          ������� 8�?0 E�>
  ��<����� 
 �
�
3��*)��Induction ..B   ������� 5�:��� /� ���
��� �� D
>���� +�'� ������� 

     ���������� /���� ���3 �
���E$         ������ ������ 5) 8��� /� E>
 
�%� H.F  �	 
�
����� 
�%� E3��� J:�$ ��� �� Proportion  /
� B ���3�� &���� E /) �B�� 

�:��% ���� 8�' �.
 ����� ���) 8?0 ��������/�E�3��� ���C  .  

�*	&�
 :�� I��)��� Electron Synchrotron
� J = +� I��)�� S�)��� M
Batatron       I���)�� (�.> S��)� 5)Cyclotron        ����� ������ ��	 �  ��>�

   � (�.>�� ��% �	 �������������8      +��'�� ������ 5�) ����C /���� ����) �	 
3��*)����
.   %��0 ��0��)�� 
�%��       ���������� /) ���3 S���P� �
���)��� ������ 

  ����� �0��)��500 MeV.   

12. 7.1    ������$+�
 G$�� 6�=F   Proton Synchrotron  

     +�C) ����������� ��0���)� �
)������ ���3��� 7
�3 /0Electron 

Synchrotron    �)��� ����������� ��)
��>� ���6 I��) ��3  Proton 

Synchrotron ��� I��)��� �)� &���� � Synchro Phasotron$  &���� �� 
Kosmotron  �)� Bevatron.  

     ��� +)����� �?)���� �)�6�� ��0��)�� 
�%��      +�C) ��?
�C�� ��)
�>�� I�
 �
#� /������� /) 
 ����)
�>$ ��� �.0��    � ��:��) �0�� 8?0 �    ��)
��> +����

  2�6:��Cosmos Ray$ ��% �)� ��.��  I��)��Cosmo tron   D��
� 7��:��� 
 I��)�� /
��Electron Synch   I���)�� �	 ��% /� Proton Synchrotron  

     �� &�� O���� +�'��*�$          7
�3 /0 �>��� D�:� (�.>�� �	 I������ �
?)0 /��� 
    ������ ������ ����H.F          (��.>�� S��� ����� I������ �
?)0 ���� E���� ��.�� 

 ���������� ��
��    �
-�)) �0��)�� Tangential       ����)�� 
��>�� �	 I������
 ��<����$�*�&�+ ���� ��)�:    
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 I��)�� /G�The Proton Synchrotron   7
�3 /0 �?
�C�� ��)
�>�� I��

   /(��� �
?)0Synchrony        ������ ������ D
>�� �� ���
��  H.F     +��- ���) 8?0 

��<��$    N�'
 ���� ����� �	  D
	   �� I������     +�� �� ����� A>��� �<����$  ��C /)� 
��?� (�.>�� 8�= @"�� �0��)�� ��)
�>�� D>���5:��)�� I�.  

         �� �0��� 7
�3 E�' �
�
 ���
��� �� D
>���� +�' ��%  ��<���� ��
3��*)�����
��)���   � 5��� /) �     E��' �
����) 3�� 8?0 ��)
�>�� I����� 8�' �)��) �<�

������ �	 ��>�)�� S��)������ �
��:   

  

  

  

 �3�)�� �	�/
  ���� /
�CM� /

  ���� �>�
 � �<���.��� I�$  �3�)�� �	� /
  /
�CM� 

�����/
 � ���)�� 8�= @"�� �0��)�� ���������� 7���Course O�'��� �� � !�'�

   (�.>�� +��� ���)�� 8�=.     ��� /�)
 �
�
3��*)�� �<����� 
�%� V     +���-� ��0 8?0 �%
3�)������ ������� ��
:   
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    �)�6�� I��)�� ���� �.B� 
�%�$ � �          ��	 ��>�
 +�-��� ��% /) (�.> ��6
      ��
�)� N�'��� (��) �	 �
���Dubna $ �      �� /(� /0 ������� �.B� E�� �)

   	 �
�
3��*)�� ��<���� �?��P  A�
��� /(� �.�  �36000t$   A�
��� ����
 �%�3��   �60m$ 
     ��� ����� �0��)�� ��)
�>?� ���3 �3��A�
     �����
?) �-0 � /������=   ����	 

10.109 eV = 10 Ge.    

     I��) 
�0��
 I��)�� ��%���h�  �
����� �	 $   �3� I��) �� $     ��3�
� ]���
 
) ��)
�>��� ����� ������ �0�9.109 eV = M ���� �	 ����� (�.>�� ���) 8� 

  O���
3,3Sec  $   /���� �0����4,5.109 ���� $        !���� /
��) ����
 �) �� 
2,5 ��A��%� �)���� W��� /
� �	��)A��
=� ��.  

=          I�6�) �?
�C�� ��)
�>�� ��0��) �� ������ ��:��) ��0��)�� I�6�) /
 iD��
 ��    I�6�) ��� )  F
)?0 ��?��
 �. F
���� �  6��) �	 �
       ����)�� J��0� ����)�� 5

        (.>� E
���� +����)�� �	 ��)(?
 N
�'�� �?��� ��.� 7)��?���      ����3 ]���� �)�6 
��� 7�	 �) ��)
�> I�100.109 eV = 100 G eV$ �	 �>�
 ���� ����� �	 

 !
�> �	 �)����� N�'��� (��)���
���A�
��� ����� D���� I��)   7�	 �) �25 
GeV$ �	 ��>�)�� I��)�� &���� Brookhawen  7��:� D���� ���� 30.109 

eV = 30 G eV �0 &��� �(.>� /) +����)�� �	 �)�� ��	 �) ��6  ��?��) �)
��0��)� �	     ���)�� J�0� ���)�� I�6�) $        ����� D���3� !�� I�6�)�� ��%� 

E����� ��% �
�.� �	 7'M 9��.    

   ����� ��% �       B��� +����)�� ��0��)� 9���� ����� ��% R�- @M�
   E0���
�  �)
            8��' &���� �
����� �
�
�"��� 2�
(
:��� ������ 5
6��)�� +� �
����� �	 E��3��

�
              ����� �	 ��%� ���)�� J�0� ���)�� �
?)0 �.:� +����)�� �	 �%��� /) D
?0 +.

o b e i k a n d l . c o m



226 

      ��� R�-� ������� �
>��)��� �
�������� 54,53,52_��  ..  !����� j���?� �.B�
��?� �%���) 7�3� ��
���� ���>�)�� ��0��)���I�.     

@M�� :     ��
3��*)�� +�'�� 7
�3 /0 ��)
�>�� ���>= 8?0   �� /������   8?0 �
��
��<�� ���).   

A
��C�:�0���� 5	�� ��)
�>�� 
�% I��� �<���.��� +�'�� 7
�3 /0� .   

12. 2  ������
 H���
 �"* $��9� �; ������ ������
 ������@
 ���"�  

�   +
�'� +��            ���� ��	 D��'� 
������ 
�>�� ������ O��� �0��3�� �
*� �
1919 �(
?���� �<�
(
:�� Erenst Rutherford� �>
�� 830�� � /0 ���� ��	

     ���) ��� !�� 7
�3��      /
>���� �� ��(�7N
14         ��)
��> �� ��0���-P� α$ 

            ��
�3�� ������ /) �C���� O�'��� �� �>��� ��0��-�� 
�%�RaC΄   
��%� 
    �)
�>���     ���) ��� ���� �?�� �)� �:���    �)
��> ������ &��� �	 �>��� ��(�
  /�����Proton$  �) ��%�   � ��� G        �� /
>������� ��� ����� /��   ����'� ��(�

       ���) ���� �
# ���) ���� �'������      �
)�>��� �.	�� +�� 8���� ��(�..α$  
�%� 
�
����� �����)��� �%�.B� �
<�
(
:�� �
?)���:    

7N
14 + 2α4   →   6O

17 + 1P
1

  

                ��
����� +����� (��)� I��)>) ������ ��.�� ��% �����)�� 
�% �>
���        
A1+A2 = (14+4)+�)-�� �.> 8?0 8?0�� �	 ���>�)�� $  I�)>)�� �
���)��� 

(17+1)/
)
�� 8?0 8?0�� �	 $ �	 �)�B��� ����� 5)>� ��
�3�� J:� ��G� &���� 
� !�'�� +:�Z1+Z2 = (7+2)  ������  �<��.��� ����� 1��9-1) = 8(  ���%  

�)�� +�-��� �
>��)��� ������� �
?)��� �.B�����:     

7N
14 ( α , p ) 6O

17
  

�
?)��� 
�% 7
�'���$ �
*�� +
�'��� �
?)0 �
O���� �$ �<�
(
:�� �?�?� �%��.B=� 
    �(
?���� �<�
(
:�� 2�>Blackett        ��� ����� &�� �	 E��6�� �	�# ��0��)�� 


�% O���� +�'� �
?)�� E��6�� �	�# �	 ��.B)�� ��0��-�� 3�3�:   
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 � /)�         �:�� ��)
�> ��0��-= /G� �.B E��6�� �	�# 3�3� ���α  ��.��� 
>	�G    ��
�� �	��) ���) 8?0 $       ���������� ��)
�> ��0��-=� Protons %��0 � 

         E�> ����� &�� �	 �(
?���� �<�
(
:��� +
�3 ���)�   /) �C�25000   ����>� 
7��:�� ��.B)�� ������ 
�% 7�'� +��� 8�' �
���.  

   �) ��%�B� � �.  /GRutherford   �% +
�'� �
?)0 �>� /) +��$  O�'���� �� 
*�
����� ���� �
$�
�
�3�� �
����� ��0��-�� 7
�3 /0 $ /G� ��) +�� ��� &���� 

     �.?
�'� /�)) ������� �� ������� ������ &���$   � ������� 8��' &����� ��  ��?���� 
�:
:���.  

12 . 3"*�%R(�� ��
���� ���&�* N
F ������     

           ��
�3�� 7����� J���� �	 ����� ��� �0��3�M� +
�'��� ��
?)�� 9��
 �)��
  �>�� !
�� �
<�����$           M O����� ��3� +0�:�� +
�'� �
?)0 /G� +���� �
�� ��%�  

 +)��= M��0� ��)
�> +��� �)����:��) ���3 $F
� ��.0�� /�� $ ��� ���� +�' �	 
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       �� ����� 	�
�� �
�
���  ��
� ���� ��       ��� ��
��� ���� ��� ��
��� ��� ������ ��� 
�       ����!� �"#� $�%� &'��� $� �(�� %
� )�    � ������ �
��� ����� �   &���*+� ,
��

 $� -���*� �%�%��
��� .�
��������� &/���� $� :    

1 �   01��* ���2� ��2          ����� ����3+��� &���*��� 45�6 �� .�' 4��� $� �  �+�
��++� �++�� �	++7� ���++��: proton(P=1H

1) �� Deuteron (d=1H
2)� �� 

Triton(t=1H
3)� 6  &���*+� ��α=2He4 � �  +�� 8�+� �+ Lithium( 3Li7 )� 

  9��+2�(6C
12 or 6C

13)�  ;� �� $����+�� 8�+� ��   &�<�(7N
14) �  8�+� ��

  $��*2;�(8O
16)�    &�����2�=� &���*� 9��2 $2��  &���      �+
!����� �'���� (e-) 

 	� 9��2�Positron (e+)   $#+� ����� ���� ��� ����1��� &���*��� ��
� -���*�
������� 	�7�;�� 	����� &����� �
(� 9���� ����� ���� �� 	��� ����� �
(�:  

               &���
+36 4��� $� ������>� 8�� 	���� ����
� ��� 	�; 9��2 $2��α 
 ��
�����%���= �
11� &���������� Cockrof and walton  ��+* 1932  ?*+� 

�>��������� ��%�
��� �
����� ��������� ��:   

2α
4 +4Be9  → (6X

13)→6O
12 + 0n

1 

4Be9(α,n)6O
12     

  	� ��� .�1� 9��2�15P
31  	� �>+�
� Deuterium =1H

2   �+�� 	>+�� 
�
� -����� @������� ��%�
���:  

  

  

  

 15P
31 + 1H

2 →(16X
33)  →15P

32 + 1P
1 

  15P
31(d,P)15P

32    

   ��� 	7�2 9��2 $2��     	� ��� .�' -4Be9     &���
3A� γ         �%�+��� ��+��  4Be8 
�
� -����� @������� ��%�
���� �
��
� &�������� 4�7����:   

γ + 4Be9  →(4X
9)   →   4Be8 + 0n

1   
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4Be9(γ,n)4Be8   

       +� ��� !��� +
�'��� �
?)0 &����77Ir
191       7��C���� ��������
��� 7
�3 /0 

 ����� ��-) ���)77Ir
192$&����   ��0��-= γ�
����� �����)�� E�' :    

0n
1 + 77Ir

191  →  (77X
192) →77Ir

193 + γ   

77Ir
191(n,γ)77Ir

193
 

������:   �)�0 =         
?0 �3����� �)
�>��� ���)�� ��� ���� /) ����)�� ������ / �. �
/���A�
��� \
��� ����C �
#   �10-12 sec.  

 +� ���) +C) ����0 �>�
 &����Fluor 9F
19!���    ����' ��)
��>� �.���� 

Q� 8�' ���) ���� +�'�����) �M�'� �-0 �.�) !���) /.  

A)
�� D� ��� �) �.:���� �	��)?� ���� ��%�   �Al chemie(�� ���) +
�'�� <  7�
Hg     E%��� ���) 8�= AU$     [�� �������
���� �.	�� 7
�3 /0  	 !�P   E%��� ���) /

   +
�'��� ��% /) �>��)�� /���   �
# ��-)  ����C $ �        �
��� ���� ���� +')6��
�
����� �����)��� 
�.B� �) E�' N�'
 +
�'����:    

  0n
1 + 80Hg198  →   (80X

199)   →   79AU198 + 1P
1 

  80Hg198(n,P)79Au198 

 M 8�'        �-�� 8��� M� E>
 ����	 /0 E
*
 2        2��
(
:�� 7�
�3 1��:� �.)�� 
�
����� ��)
�>��� !���� ��
?)0 �% �
�����:   

1 ��������
���   .   

2 �  ��0��-= ��   γ  γ Quantum .  

       ����� ���� 3����� 7
�3 /0 ��%�        +���� ����� �3����� �	���)�� ��)
�>�� 
�.
?)�' ������ +�'�   3������� ���3� �
��'�� ���3�� Binding energy$  ��
?)��� 

 ���)�� ��� ���� 8?0 �3����� ��)
�>�� 
�% /���� �� 3����M�/
�CM� /) ���� ]���: 
    ���)�� 
�% ����� �3����� �)
�>��.          ����3� ����)�� O��� E�' N�'
 +0�:���� 

�
����� �
<�
(
:�� �M�'?� ��
?)0 /) 5��
 �)� ��)
�>��:    
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- a   /$��
 2$���
 �����Elastic Scattering  

   	 �
?)��� 
�% �	P          3������ �)
��>��� ����)�� ���� /) ����)�� ������ /   5-�� �
 �3����� �)
�>��$ ��  ��            �
����) /���� ���)�� ���� �	 @"�� ���>�) ���� �)
�> 

� �3����� �)
�>?$    M ���� ����� �	 -�)�
 8     5�-��� �3������ �)
��>�� 
��>�� 
  A�) �>��)�� �)
�>��$�           �� 8��
 �3����� �)
�>�� 5) ���?>)�� ���3�� /) ��� &���� 

 &��
������.   

� 
�% 7
�3 /0��
����� �.���' 8�= ����� ]
.� �	 ���)�� ��� ���� 8��� �
?)��  

- b  $�A 2$���
 ������
/$�  

         �>�� 5-� �3����� �)
�>��� ���)�� ���� /) �>��)�� ������ ��%
    �3������ �)�  �
  ��             ��	 �3����� �)
�>�� �
���) /���� ���)�� ���� �	 @"�� ���>�) ���� �)
�>

   � ���3�� ���� �����            
��% 8�?0� ����)�� ���� &��� �3����� �)
�>�� 5) ���?>)�
 ��� ��
�3��8            ��0��-= �.�) N���
� ]
.� ���' �	 ���)�� ���� γ      &���� /� +��� 

�%(��) �� �.���). 

- c ���"��
 �2�+� �����  

           A6�0 5-� �� �3�� �3����� �)
�>��� ���)�� ���� /) �>��)�� ������ ��%�   /�0 
   �3����� �)
�>��           +����� ��<�( ���3 ���'-) �
# �� ���'-) �)
�> �3��?)�� ��
   ��0��-= ���3γ     &��� /�))�� /)� �         /
�� /) �.�
��� �B��)�� ������ /� N�'
 /

    M �3����� �)
�>��� ���)�� ���� � $/���  � �� �        ��.?') 8�3�
 �� N���
 /��� /��
   �� ��0��-=γ$        )
�>�� 5) ���)�� W�� �	 N�'� �
?)��� 
�%�     /�) �3����� ��
�������
���.   

d�  E$��*��
 H���
 ���"� �����Nucleon Photo effect  

      /) �>��)�� ������ &��� ��%/
�     �3������ �)
�>��� ���)�� ���� $ �  ��3��?)�� �$ 
 �� 3����� �� 3���= 7
�3 /0 �>��G	 ��>�...γ Quantum   O����� ��
?)0� 

  A�
��� ����� ��
�����   � �
����� +0�:� �����$  �
�3 /��� �    ����� �
����� �
?)0 
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  N�'���0  �)�  � ������	 !���    	 ����� !"# 8?0 3��P      ���������= /�) �
)� /
   ����� !"#�!"*�� &��$A����  ��
����� O���� +0�:�� ��  ����� /) ��)
�> ]��

 /�))�� /) /��� ������=� ����� �	���)�� �3?�)�� ��)
�>�� �� +C) ��:��) ���3 
 �� γ Quantum   +�C) ��)
��> ������ /) N���
 �� S��
 +0�:��� ��% E���� 

     ��)
�> &���� /������ /����
�α$  A��� &����     �
?)��� 
�.� ��   M ��)
��> ]�� 
     �.�0 �?��� ��� �.	����Q   +C) /���Mesons      ����� �>��)�� �������
��� �
)�� 
����� O���� �
?)0 /0
  �.
)��  
�%� �
�Photo neutron   ��)
��> &����� 

.
)�� /��������  Photo Proton$ 8�' &��� +)���� �
�
����� O���� �
?)0� 
 �������
��� S���� �	.  

e �$�%���
 �; ��"��
 H$�I�+ �; J$��
 J
��� �86F�
 $&+��
 �����   

��% O��   ���� /� ��     �>��� ���)�� O�� /) �>��)�� 
      ��
?)0 �	 �.
?0 �3����� �)
  �.>
.�              ��.
	 ]
�.��� �
?)0 5��� E�'� I�3��� �� !��� /��� N��� �� �3��

  C��� �� +
?����
� A��0� A�
�� �           ��)
��> &����� �������
���� ���������� /) α 
 �%�
#�.  

g �   J$��
 J
�� $�%��
 �; ��"� �����Fission   

=        �?
�C�� O���� ���� �	 �)�0 N�'� ��3-�M� �
?)0 /$   � ������ ]
.���   ��>��)�
         ����� �� +')6� �3����� �)
�>��� ���)�� ���� /)= �� 8�/
�� �C� �  3����) /
� �

+�C��$    �������
��� W�� N�
 &���� $  !��� �.) I�6�) O���� ��3-�� �
?)0� 
A���) 
��� 8?0 ��G� I�6�)�� ��.� 9�� ��� �	 �.  

     C)� �.B� /� ���� ����� ��%��   �:�^ ��)
�> +0�:� +α)�� �3?�)�� !���� �
?$ 
����       /����� �� /����
� N�� ���)�� 5) �.?0�:�� �$      �%�.B� +�0�:��� ���
?)0� � 

�
����� �����)���:      

A+4 - a1 - a2 .Y 

ZXA (α : a1P ,a2 n)  
Z+2 - a1   
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.?0�:� ��
?)0 R�-� (�)���� !�'�� 
�%��
����� �'<"�� �	 :  

X   =S��)�� ����.  

Z =  S��)�� ���� ��'-.  

A =  S��)�� ���� �?��.  

   α =  �)
�>α ���� �)�� �+0�:��� �
?)�.  

a1 =    ��-)�� ���������� ��0a1 ≥ 0. 

a2 =   ��-)�� �������
��� ��0a2 ≥ 0.  

Y =  �
<�.��� ������. 

Z + 2 - a1    =�
<�.��� O���� ���'- ��0. 

A+4 - a1- a2 = �
<�.��� O���� +�� ��0.   

- h �"��
 �����J$��+��
 �	�.   

= ���� ��
?)��� /�   !��'�� �'� �'�-� ���a , b , c �% �   /�) I��� 
                 �)
��>��� ����)�� ��� ����� /�) ���� ]��� /� /��� &��� N�'� ���� ��
?)���

�3�����$��
?)��� 
�%�    ��-��)�� ��
?)��� �.
)��Direct Reaction  �	 /��� 
    �
# ��-��� ���'��     �)� �)� @"C) /�)     ���)�� ��� ���� +�' �	 �)
�>$     
��% ��	 

       .
)�� ]
.��� ��% �
?)0� ������ ]
.�� ������ ���'��� ��� Isomer$    ����'�� 
�%� 
������ R�-��� �.:��:   

 /� �� Isomer ���������� ��0 �)� 
���)Z ����� �	 
A
����) /��$�  &����� 
 �������
��� ��0..N   A
����) &��� /��
 $�   � �
*� 5��
�     ��
<�
(
:�� ��(
))�� W�

    ��'�� ����� ���:�) ]
.� �M�' +0�:� D� ���� �) ��%� 7��:
 �:���� �)���  


������ ��� ��:��� ��� �
B��� ��� �Isomer     �<��
)
��� /�) ��>� ����  
O.Hahn   ��� 1879�1968           ����0 ����� /G� �
����� +0�:��� �
?)0 /) � ��� 

Thorium = 90Th234�:�� ���� A)
��   ������� ���� �UX1   ��3�� �� N��� 

o b e i k a n d l . c o m
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  ��)
�>β$       ��
?)0 D� ��>�) ������ ��%� D
�
B�� Isomer  ��-) /
�C� /
  /) 
30� ����� +')6� ���� ���M� �����).� �A)
�� �� �<�B� ��� �� UX2 and UZ .  

.� �30� �6�'�� ����� �	�� ��� 91Pa234 �.�) �>�
� �   Isomer �0��� /
	���)�   ��M�� /  �<�
(
:��Protactinium$ ��� /��?)%��0 �    ��
�� ���� 7���:� 

 �:���� �)����)  /
� �>�
 �)1,14 min   8��= 6,7 h �%� VM2 +�� Isomer 
�CM��    �C�
  �.�"')6� +0�:�� //        ��)
��> �� ��0��-= β  ��>��
� /   ����0 

  ��
����
��92U
234 .  

    A�
��� �>�
 �6�'�� ����� �	    �100    +� /) !���) I��  Isomer  �	���) 
  5>��)�� �	 ���>�)�$  +��� ��%�  D�=         ��?��� �	 7)���� �����) �<�
(
:�� 8?0 E>
 

  5����� �)?��� 3
')�� �	 8��
� �
<�
(
:�� 

4.12;GL�� ;�
9 ��
�� ��&��� �'&R��� ����C4&� �/S�
�� �:�R��  

            � �)
�>�� 8?0 E>
 ���)�� ��� ���� �	 +�'� �� �
*� N��' �
?)��   ��:
���� �
     ����� ���� 8?0 �3������          +�'� /G� 5
3��� 8�' +0�:��� �
?)�� �
	�� ���3 &?)� /

        ��0��-= ��)
�> /0 @"�� !���)�� /)� ������α     ������� O��� ���')��   D���  
.)(?
� �
����� �����)�� ����� ���3� +*- ���� :  

Eα = eo
2 / 4πεοr  

   ��= ��%�    ���� ���� +
�'��� �
?)0 ����      �(
?���� �<�
(
:�� �.Rutherford  /0 
   ��0��-= 7
�3�    /
>������ ��� +
�'�� �
�
�3�� �:�$   �� O�'��� ��   E�' ��(�

�
����� �����)��:     

2α4 + 7N
14   →(9X

18)→8O
17 + 1P

1
  

            /
>������� ��� ���� +
�'� �
?)�� ��>���� �
�
�3�� �:�� ��)
�> ���3 ��>���
  
����� ���3�� ��)(?
  �Eα  $     ��)
�> ���� ����� �	�    &�?)� �:�Z=2$      ����)��� N 

&?)� Z=7  $ �����
 ���)�� ���� �3� !���: r=1,4.10-13.3√14 = 3,37.10-

13cm�
����� �����)��� +'�� E�' 83�� ���?3)�� ���3��	  :     

Eα = 2eo . 7eo / 4πεο r =  14eo/4πεor 

o b e i k a n d l . c o m
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Eα = 14(1,6.10-19)A2sec2Vcm / 4π8,854.10-14.A sec 3,37.10-13 cm   
Eα = 9,56.10-13 Wsec or = 5,97 M eV     

  ���'��� �'<M E�' +
�'����1Wsec = 6,24.1018eV.   

            ��0���-� �
�
�3�� ���3�� /G� ���>� ��B���� ��
�3��� +C)�� ��% E�' ��%
�� ���0 /) ����)�� �:���Radium A�
��� �
���)�� ���3�� �%��0   �7,67 MeV$ 

        ����� ���� +
�'�� �
	���� 7�	 �.�G� �.B
 �) ��%�$       ������� O��� +
�'�� /��� 
    F�> ��:��) ���3 ��)(?
 �?
�C���$       �� ��0��)�� /) �.>��� ��:��)�� ���3�� 
�%� �� 

��:��)�� �0����� ���3��.  

12 � 5 T�
%�� �*�#���� ��
��&� �:�R�� ��9����     

���� �
<�
)
��� ��
?)��� /
�E���� �>�
 �
����� �"0�:$ /)� D��-� O�'��� �� 
  !���)���         �':�� �� /
>���� 7���'� +C) �
<�
)
��� ��
?)��� /�   �
���' ���3 ]��
  �����Q.  

   � 
�% 7���'M� �
?)0��
  �=     �
?)0 MExothermal$   � &��� 8�'� �  �
?)0 ]�
   ���� +0�:�Exothermic      ��G� �
<�
)
��� �
?)��� D��-�    ��B���� ��
�3��� +C)��

������:    

�	
�: +� ���)  +
�'� 3Li9(P,α)2.2He4
  

������ +��>�� E�'$ �+��� ��'�� �
����� ���0�� ���:   

 3Li7  →   7,01600  Me �
����� �����   

 +1H
1 + 1,00782  Me .�� ���
  /
>���  

 =   8,02382  Me  �
����� +���� I�)>)  

 2 . 4,00251 = - 8,00522  Me 9���  

 Δm =   0,01860  Me  ����:)�� �?���� �� +���� 7�	  
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� /���� E�' �?)���)�� ���3���� �?���� /) 8��� �)� �?����� ���3�� +����� /
�-
@���� +'� E�' �)� ���3 +�-��$ ���� ����� �	 Me = 931 MeV$  ����3��	 

�
����� �����)�� �����:    

0,01860 . 931 MeV = 17,3 MeV  

               ����� &��� ��?��) ���)�� ��� +
�'� �
?)0 �?
�' /� ����� ��% �	 ��
�� ��%
   ���)�� 
�% ���� O��$      D
?0 �3����� ��)
�>��� !���)�� !�.�� �� $   �
?)��� 
�%� 

+��'�� +)���� �.
)�� �
�����  ������� ��
?)���� R��-)�� �:���� ��3-�"� ������
8)�)���: 3-��M� ��
?)0  �:����� ��$�� Cross Section or  Profile of  

effectiveness.   

12 . 6  "#$%�� G�R�9�� "/C%�� �(���� ���*  Cross Section  

�:���� ��3-�"� ������ +��'�� +)�0 D
)�� �) ��%Cross Section  
�� J 
=   J�
�) MMass           !�.�  ���) ���� O�� 8?0 �	���) ��)
�> �"0�:�� +��' 

����).�:���� ��3-�"� ������ +��'�� I�6�) �.:�� 8�'�  Cross Section 

  @���) +
����         �.)>' ����
 �	�# O�'��� �� V       ��
# ���0 �.)>' �	 �-��) 
  !���)n   ������ O�� /) $            ����
 ���� !<��� !�.� �	�*�� 
�% 8?0 3��
 N 

 ��)
�>�� /)$          �	��) 8?0 �	�*�� �	 7���� +��� ��)
�>�� 
�%�     �����Δx 
     � ��3�� 8�' ��') 
�>�� �	P         A)��� /G�� W��:� �
?)��� 
�% �	� O���� O�'� 

A�
*��  �
���)�� ��)
�>�� /) ΔN / N  ��	 ���>�)�� ������ O��� �)�3�� 
  /��)�� �� �	�*��$  .�) �?0�:�� �  F
��� @"0�:� $�      +�0�:��� ��% /�� �    7�?���� ��.B

      �� 7���� �	��)�Δx$   0 �	�C�� &����          ��	�*�� ��	 ����>�)�� ������ O�� ��
      ��V� ������� ��% �
?)0 �?
�'�  D��      � �:C���) ������ O�� �	�C� ���� �)?�� ��� 

 �	 ��?��)  ������� /) +0�:��� �
���n / V$�
����� �����)��� 
�.B� �) ��%� :    

ΔN/N = б n/V.Δx→   б  =  ΔN/N . V/Δx . 1/n  

o b e i k a n d l . c o m
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     ������ ��%   б � �
  �= �� M   ������ ����       ��3-��"� ������� +��'�� +)�0 �
     A)���) �"0�:��� ��0 �)�0 ����)�� �:�����       8�?0 �	���)�� ��)
�>�� ��0 8?0 

5��) ����:   

                                �"0�:��� ��0 

=  б  �������������������������   

                      ���� 8?0 �3����� ��)
�>�� ��05��)   

  ��%�	            ��
?)0 D�� �>�
 ��� ����� �)
�> /
� ���� +0�:� +� /G� ��V)�� /)
     �:�� ��3-�� �� ���� +��' +)�0$     @���� ��B� �)� �
?)��� 
�%�  F
�B� �  !�� �

F
�B� �%�.B�F
�
�3�� ������� +C)��� �:     

  ���)�0 �
�����)�� ����
�)��� ������ +��
�'�� ���
����� �������)�� ����G�� : 
13AL

27(α,p)14Si30  =���) �
# 8�$ �.
?0 !��
 �� 7?3
 ��
�)��� ���) O�� ��% 
      �:�� ��0��-= ��)
�>α        ���) O�� ]��
 �
?)��� 
�% /)� ��� 14Si30 $    &����� 

 ��������P.  

               5-�)�� ���
����� ����0 /) ����)�� �:�� ��)
�> ��-� ����)�����84P
214 

 A)
�� 8)�)���  �� ���0 �� RaC΄$ �����      ����� D��)
�> I��-= ���3   8?0 +
�'�
*��
��
�)��� ���) ���� �
.A�
��� �
���)�� ���3�� 
�%   �7,9 MeV$  /�) !�.�� 

     �'�� ����� ��
�)��� ���) /) ��)
�> 1��� 8�' �
���� ��
�� ��
�)���� ���) �	 �:�
 
�% ��
�)���,          ������ ���� ��
�)��� ���) �?�� ���� ����� �	 =8�     ��	 �>�
 �) 

       5��) ����  +�0,7mgr   ��
�)��� ���) /) $ � )      ��.B �)�0 �������M� �
?)0 /
        +���
 �) 7"3= E>
 D�G�N=2.106      ��'�� /����� S���� �:�� �)
�> .   &�����

    ���� ��= +���A        �.�)��6� ��
���� ��
�)��� �'�� �'��) ����� Δx 	 P  �>'�� /
����
:   

V = A . Δx  
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 ���)�� E�'�    ��.B� ���� ��   +�� /)F
�B�        ��	 ��)
��>�� ����� �� ��"� �
   �	�*�� �>'V$   ��)
�>� �         83�� ���)�� ���� O�� 8?0 �3����� �	���)�� 
�% �:�

�
����� �����)���:    

б = ΔN/N. AΔx/Δx.1/n =  
 = ΔN/N.A.1/n  

 =         �
���)�� ��
�)��� ���) O�� ��0 /n    
3���� �>'�� ��% �	 ���>�)��   /� 5
�!���
���)�� ��
�)��� ���) ���� ��?3)�� �?���� 7
�3 /0 �%��0 :    

Absolute Atom Mass = mAl = 4,48.10-26 kg   
       ������ +'�� 7
�3 /0 ��?3)�� �?���� 
�% ��>� :       ��?���� /G�� !���)�� /) 

  ����� ��
�)��� ���)� �
�����A = 26,9815 $ ��0 8?0 
�% �)���� �  ������	
���
����� �����)�� �
���)�� ��
�)��� ���)� ��?3)�� �?���� �)
� ��
3:     

  26,9815 / 6,023.1023 = 4,48.10-26 kg   

 ���)�� O�� ��0 ����� n  �'��)?� A�
����� ������ ����� :    

n/A = 0.7mgr cm-2 / 4,48.10-26 kg= 1,56.1019 cm-2
 

    +�� ����� ����M������     7"3P�2.106       8�' ���) O�� 8?0 �
0��-= �)
�> 
  .�)� ����� +�'
�       ���)�� 
�% ��� ���� 5) �'�� +0�:� $      D�� 83�
 +0�:��� ��%� 

�
����� �����)�� ����)�� �:���� ��3-�"� +��'�� ������ +)���� ���:    

б = ΔN/N.A/n = 1 / 2.106 . 1cm2 / 1,56.1019 = 3,2.10-26cm2     

  ��.B� �
?)��� 
�%� ���          �:�� ��)
�> 7?3� �)� D��α       ����) /�) �'�� 8?0 
 ����� ���3� ��
�)���7,89 MeV$  �:��� ��3-�M +��' +0�:� 8?0 +�'� 

������ ����� ����
 ��
�)��� ���) �����:    

 б = 3,2.10-26 cm2    

A)
��              /����� ���'�� �:����� ��3-�"� ������ +��'�� +)���� ��'� �30� �
Barn$ �� A�'�� /�� /������
 :    

=   10-24 cm2 1 Barn = 10-28 m2
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  �:���� ��3-�"� ������ +��'�� +)�0 R�- 3
�����Cross Section /0 
 7
�3�
���.�� ��
�)��� ���� �'��)� ��B��� +'�� ��� Geometric Nucleon 

Section  = πr2)�� ����
 ��
�)��� ��� ���� �3� !�� ���� ����� �	   ������
�
�����:     

rAl = 1,4.10-3.3√A  


���.�� ��
�)��� ��� ���� �'��) &����� �  ����πr2 = 5,5.10-25 cm2 /��� 
�� �� ��
�)��� ��� �'��)� Al Atom$����� :  AAl = 5,12.10-16 cm2.  

        ��
�)��� ���� �'��) /G� �.B� +'�� ��%��       ���
�)��� ��� �'���) /) �*�
 ��
?) ����)���)$ � ����
 +)��� �Factor .10-9.  

  
� R�- �����    /
�-Einstein         ��3-��"� ������� +��'�� +)���� ��% �
?)0 
             D
	 �>�
 M /��) �	� 2�)?B �?
� �	 ��>�) ��
�� +C)� �:����=    /�) +
?��� M

3��� ��
3$��� /��� D�
���� 7?3
 
 +�)�'M�� EPossibilityY�3� E
�
 /G�   

  +�
 �) ��%�      >� /�)) �
# D�� 8?0 �6
� �    ���3�� /��� +0�:� �>
�� �$  ��%� 
��>��� +0�:� E�' �)��� �(>�� N��' �
?)0 �	 �.B
 �).   

 A)<�� /���         ���'-�) ��
# �� ���'-�) �)
�>� �) ��� ���� !�� 7
�3 /0 �
       �:���� ��3-�"� ������ +��'�� +)��� �"0�:� ��0 N�'
$     /���� �)� �.)��� 

�� ��)
�>�� ���� �3����� �	���).�
����� �
����� �"0�:��� N�'
 �������
���:    

1 �  �8
2+�
 �"*��
 $�%���
 ����бEi  

      �
���)�� �3�
 +)���� ��%Possibility ?� /����
�
 /� �	 ����� ���� /) 3��?
  �% ���� ������      3����M� �
?)0 ��� /����
��� 
  ��)�%� /��� 8��$   D���� 
 
?)0 +)� �

������ ��� �	 ��3-�M�.  

2 �   $�%��	� �"*��
 $�%���
 ����бSP  

     �
���)�� �3�
 +)���� ��%Possibility ?�  /����
��     ��	 ��3-�M� �
?)0 +)�
             ��	 ����>�)�� ������� ���� O��� N�'
 �:���� ��3-�M� ���� �����^  ���

������ +��>��.   
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3 �-�*��	� �"*��
 $�%���
 ���� бa     

     �
���)�� �3�
 +)���� ��%Possibility ?�  /����
�
�     ������� O�� /) 9�)
����
 9���)M� ��3-�� +)�0 E���� ��.��:   

бa = бEi + бSP  

4 � ��/$��
 2$���� �"*��
 $�%���
 ��  бe  

 �
���)�� �3�
 +)���� ��%Possibility ?� /����
�� �
)� /��� ����� ���� ��-�

��'�� ����3���
*� /��� 8��� �
?)��� �	 /
���-)�� +�� �.  

5 � 2$���� �"*��
 $�%���
 ����  $�A�
 /$�бu  

       �
���)�� �3�
 +)���� ��%Possibility ?�  /����
����
� �    ��
# ��-� �
?)�
   ����� ���� 5) /�)$           /� �*��� ��
?)���� /
���-)?� �
��'�� ����3�� ��% /��� 

A)������
 ����3�� 
�% /) � +)������ ���>8?0  �]
.��� ���' �	 2����.  

6 � 2$���� �"*��
 $�%���
 ���� бs  

       �
���)�� �3�
 +)���� ��%Possibility        ��� ����� �	 /����
� �)� 
  ��-��
 �
# ��-��� �� /�)�� ��-��� �
?)0 +0�:����/�)$	 P /бs����
 :   

бs  = бe + бu  

7 � ����F��� �"*��
 2$���
 ���� бt  

       �
���)�� �3�
 +)���� ��%Possibility           /
�� +�0�:� ��)�0 N��'
 +�% 
������ O��� �������
���Y�
����� �"0�:��� 5��
 ��.�� :    

бt = бa+бs = бEi+бSP+бe+бu  

   � �B'")�� E>
 ��%�G        @�?��) /�
 �� �:���� ��3-�"� ������ +��'�� +)�0 /� 
    �	���)�� ����� ����� ���� O�'���$       /���
��� ���3� �0��� 9���� ������ /���

@�'M D��3�� D� 7)��� !�� I�6�)�� ��%� !���)���.  
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12. 7  "RU�� ��$���� ���*  μ PD
���� G�C��� K5� �=�C��  λ  

             ��� /) J
� �
��) ���) 8?0 ��3��� 3��� ��)
�>�� ��0��-= /) �)(� �)�
          ���� ������ ����3 /) ��0 /) +� E�'	 ��'�� A)>' !�V�� @	���) �  W���:���  

/�A���) +C)
 �>'�� ��% �  ����
 D)>' V = 1cm3	 �'�� E��) ���� P �>�
 D�
�
����� �	���)�� �����)�� E�' ������ /) ��0 E��)�� ��% �	:    

NL = ρ NA/A  

����� �
����� �M���� ���� ����� �	:    

NL =  �) ���� D)>' E��) �	 ���>�)�� ������ ��0�'�� E�. 

NA =   ��0 �� ���) ���# �	 ���>�)�� ������ ��0� �����	6,023.1023 

A    =���)?� �
����� �?���� �� ����� /(���.   

ρ    =���)�� �	�C�.  

 ����
 �) ��%���0 D�� 8?0 ��0��-= ��
� �)�� 8)�)�� ��)
�>( I ) 8?0 3��
 
   E��)�� /) +��� D>���$    ��)
�>�� 
�% �	��) 53�    �����
 ����) 7
�3 O�) �

1cm�
����� �����)�� �
���)��� �?<���� 9���)M� �����) E�' ��% :    

Δ I = - Iμdx  

              ���
���� �3����� ��)
�>�� /
� +0�:� N�'
 ����� J:� �	 &���I   O����
�
����� �����)�� ����� �
?)�� �	���)�� ���)�� ����:     

ΔI = IбNL  

    � /
� �?���)�� 7
�3 /0��
?)��/
 �CM� �           ������� /G�� ��� �.B� ���>� /
бNL 
     �3��� 9���)M� +)�0 �����μ         +� �:����� ��3-��M� &���� D
)�� ����           

Σ = Microscopy   

ΔI = - I μ.dx     .ΔI = I бNL.dx    

Σ = μ = бNL 

o b e i k a n d l . c o m
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 ����� ��������
)�� ��3-�M� ��% ��'�Σ =[1/cm]   ���'� /�) �>��)�� 
��3-�M������� б E��)�� �	 ��)
�>�� ��0 ��'�� (cm2.1/cm3 = 1cm)  NL  

 �.) �<�
(
	 J�
�) ]��
 ��
?)��� 
�% /)�� /) ���3 53�� ��)
�>�� �)� D�� �
   ����� ���)��1cm 	 P        1���� �*�� 9���)M� +)�0 �)
� /1/μ �.������ E�' 

          �� �	��)�� 
�%� O�) ���) �	��) �.�3�� ���' 8�= ���' /)    ��0�3�)�� ��
<�
(
:
3���)�� ���)�� O�) �	��) �.
)��$  ��� �.
3��� λ�
����� �����)��  �
���)�� :    

λ =  1/бNL  

�����
 �
��
 �%�� G�K���
 ?="�� ����:    

=         ��� ����) +��'� +0�:� �����)� �:���� ��3-�"� ������ +��'�� +)�0 /�  
Beryllium  �
����� �����)�� �
���)��)
V �� �)� +'�� J:����
�)��� ���)� ��(:   

 4Be9(α,n)6C
12     

  +� ����)� �:���� ��3-�"� ������ +��'�� +)�0 /� ���>� ���Beryllium  
+'�� E�' ����
:    

б = 0,2.10-24cm2 = 0,2 Barn  

�� �	�C�� ρ = 1,75 gr/cm3                  Beryllium   

����
)�� �:���� ��3-�M� +)�0 ��% ������ ����� ����
 ����:    

Σ =бNL = б NA ρ/A  
       = 0,2.10-23cm2.6,023.1023.1,75gr / 9gr.cm3 = 0,0234.1/cm    

Σ = 0,0234.1/cm   

         3����)�� ���)�� O�) �	��) +�3�λ        �)
��> 7���� α      +� ����) ��	 
Beryllium�
����� �����)�� ����� +�'��� +0�:� �
?)0 +)��� :    

λ =1/бNL = 1/Σ = 1/0,0234 = =43 cm   
   +'�� ��%��   D�G� �.B N�'� ��� �> 
  �)�   
*� ��
?)0 �:� �
    ��� ����) ��	 �� 
Beryllium  �	��) 53�� /G� E>
   43cm.  
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13�����#�"
�#���,�+א��א�*�"
��#�.����-	���א�*� �

     A��� �
<�
(
:�� �"0�:���� ��
?)��� �	 E�?� �������
��� �)�0�F).) �  ������ 
	 "0�:)�� ��   � ����)�� �
����� P   �?�?� �
<���.��� ���3�� S���$     5
���� �	 &���� 

   .�� +������� �
���� +������
   �
�������� ����?� ����)�� �
�
>���$   +)����� &����� 
       �
0��3��M� ��-�)�� ������� 8?0 +��'?� �������
���$     
��% +�)������� 

    �
<�
(
:�� �
�6��� �	 �
<����� ��)
�>�� /P	       ���.�� ������ �.�M�'� �.�"0�:� �.� 
����E E>
 ��)
�>�� 
�% ��(
)� �M�' �	 7)��� /$�).)�� /����
��� �
)�> .    

     ��� �	 /����
��� !-���1932   �(
?���� �<�
(
:�� /)  Chadwick   +��
� 
      ��� �	 @"�� /����
��� !-���1930     ���)��� �<�
(
:�� /)Bothe   ��� 1891�

1957$         �%���'
 /� 53���
 ��� �%�>�   ���'
 ��      2��>	 ��.��(
)    �<��
(
:��
Chadwick  K)� D���������          ��)
�> ��0��-= ���)�� W�� 8?0 7?3
 /�� �α 	 P /

 ��0��-= �� ��)
�> N�� �� ���)�� 
�% 5) �.?0�:�� ��)
�>�� 
�%Protons  �)� 
 @	���) /��� @"�� $.��� ��'-�� /) �
��� ��)
�> /���  �
<������
�').  +��� /��� 

    A�
��� ����� ���� ��)
�>�� 
�%  ���������� +�� �$      /) /�� ��)
�>�� 
�% &���� 
               ��'-��� /�) ��%��>� E���� E��6�� �	�# 7
�3 /0 �%��.B= /�))�� �
#

�
<���.���$         ��������
��� ���� ��
�')�� ��)
�>�� 
�.� �30� ��.�� $   ��)
��>�� 
'��� �%()� �30� ��
�')��  !�n.   

 �
<����� ��)
�>�� +� 8�= ������� �������
��� ��(
) Elementary Particle 
����:)      /����
��� �
0��� &���� �.�0��� �.���3� ��?��)�$    �������
��� 
�% /)� 

 I����� �>�
���
����� ����:   

1���
���� �������
���         Vn ≥ 4,4.106 m/s   and   En = >105eV   

2� �0���� �3���)�� Vn =  4,4.106 to 1,4.105m/s.En=105 t0 103eV  

3��� �������
��� � Vn=1,4.105to103m/s.En=102to10-1eV epitherm   

4��
���'�� �������
���       Vn =   < 4,4.103 m/s . En = < 10-1 eV   
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G	�)    �
���'�� �������
��� 	.�0���     .�� ���� �0��� �����  �
   ��	 /
>���
 �
����� ����'��$ �  �	�*�� ����' �$   5
3���� �   A
�B� �.���3 +���� /    (��*�� ���3� �

�
����� �����)�� �
���)��:     

En = 1/2 mnv
2 = 3/2kT  

���� ����� �	..  

  k=8,6169.10-5eV.K-1=1,3806.10-23Jk-1(Boltzman Cont)  

����� ����'���:  T 293K = 20º c   

����� �0�����:  2700m/s   

     5
3��� ������� �����)�� /)�  �	��)       �3����)�� ����3��� ��
���'�� ����3��
����
����� ���0:  

En th = 0,038eV ����� �3���) ���3�  En 0,025eV  

��	��) �
���'�� �������
�?� �3���)�� ���3�� . 	P +.�� /�)) D��	��) /��� �.
&���      �����
�?� �
��'�� ���3�� ��'� /� 5
3����� ��      �.�0��� 7
�3 /0 �
���'

       �
����� �����)�� 7
�3 /0 �.�?�� &����1/2mnv
2$     ���� ����� �	 �	��)   ��?���� 

� ��?3)��V�
���)�� �	���)�� �����)�� /) ��:    

mA =  A/NA  

����� /����
��� �?�� /G� +���	:    

mn = 1/NA  

����� ����'�� /����
��� �0���: 2000m/s = 2.105 cm/s$ &����  E���
�?
 �)� �����)��:    

   

En = 1/2.1/NA.v2 = 1.(2.105)2 / 2.6,023.1023 cm2 = 3,33.1-14erg 
1erg = 6,24.10+11 eV   

En = 3,33.10-14 . 6,24.1011 eV = 0,024e  

o b e i k a n d l . c o m
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        	 ���)�� �	 7����   �������
��� ��(
) /)�P/ ��   /����
�
   /� 5
3��
  7���
A�
��� @3<�' ��     D�)��6 �� D�)� 100      M /����
��� /� ���
 ��%� ���� 
  �
� &?)� 

      M E���� ��.�� ��
�') �%� �
<���.� ��'-      ���)�� ��� ���� 5) +0�:�� +��� = M�= �
�A�
C� /����
��� E���+0�:��� N�'
 8�' ���)�� ��� ���� +�' /) �.  

    &��� ���
 ��%�=        �.�)� /����
��� �
0��� D���3� 3����� /����
��� �?�� 8�� 
������� /����
�?� �
����� �
��:   

mn0 = 1,6749.10-27kg = 1,008665.U 
En0 = 939,6MeV  

� &����? ������ /������ �
��� /����
�Spin�
���)�� :    

  S = 1/2  
  +� ��'�- &����Lepton Neutron  ������ 0$   ��'�- ��)�� Baryon 

Neutron   �����+1=      /���� �� ����C ��
# ��'�� /����
���� Unstable 
�
��� +')6
F
>  �����
 �:�� ��� !�� �	 �T1/2 =  11,5 min  ��
?)0� 

�)��� 83�� /����
��� +"')6���
����� ���:    

 Neutron  Proton   ElectronNeutrinos   
 n   →  p++e-+  ν 

 	 �)�0P      +"')6M� �
?)0 �	 �������
��� /�6
5$ �       /� D�� �����)�� /� �
 �������
����  3��?Neutron Cached �.��) E����� ���>�)�� ���)�� O�� /) $ 

.��(
) /) �������
��� &������� ���������� 5) ��-��� ����:��)�� ���3�� .  

   ����������� �������
�����  .?��� �	 &?)�  F��� 2��� � .� $�    �������
��� /� �� 
     .�) �'�� +� +��� �	 �>�
�   F
��>
= ���'-) ����   '-�� 
�%� �    �A�
��� ������ �� �

  /������� ���� ��'-$    ��)
�>�� 
�%� � 3�') ����������� �������
��� �� E��6� 
F
�?� /�'-)� 3������ �� &��)��� �
?)��.  

�?�� �3���  /���
���� �
<����� ��)
�>?� N�'
 �)� �������
�?� N�'
�Mass 

Point    �>�) +�3 7
�3 /0 
�.B� �) ��%�De Broglie)��� �
����� �����:    
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λn = h/mn0v  

   ��
�'�� �	=      M �������
��� (�# O�'��� �� E��6 /      D���:� ��-��� �	 &?)
 
 ���3�� J:�$               
��% 7��:� ��	 ��
*����� ���:��)�� /
� R����� ���3�� 
�%� 

  &���)�� 
�.�� �������
���$            �����' +�' �.� �>� &��� ���3�� 7�:� ��
?)0 �� 
   �)�� ����3�� �
� ��'
���:$  M ��%          ������� E>
� I�6�)�� ��% 7�3� +') �>�
 

5>��)�� 8�=.    

/
���'� �.B
 ���)�� ���� O�� 5) �������
��� +0�:� /���:  

a � ����$�����
 �0�% �0���     

         �?
 �) N�'
 ��% ���)�� O�� 5) �������
��� ��3�� �)�:      ����� �?�� ���� ��= 
    ���� /����
��� �?�� ����� ���)�� 	 3�P �% /�   /����
��� 
      ����� 8�= D���3 +� �3�

�����.    


���  ��� ��� ��:   �)� 
      .�� ��� ������ /�����
��� ��3� �
 � /
>���   +��� /
    .�� ���) �	 �������
���� ����������
   /����
��� �?�� ����� /
>���$   ��%� �?C)� 

  �� ���)�� W����  �
 .� ��3�� /����
��� $ �<�)��� �� �.B� &���� 
 /����
��� ���
D���3 /).  

                       Deuteron     Proton       �'	     9���  

 ���)�� ���� �?��         206        12                 2                1  

  �<�)��� ���3�� �����1,9%     28,4%            89%      100%   

      ���
� ���3�� ���' �	 �.B �) ��%� �?
�C ���� 5) /�$ 
  A)��� /�����
��� ��: �
A�
*�   �
��'�� D���3 /) �$     /����
�?� ��-� �
?)0 N�'
 ��%� .    �)� /��� 
 ��3�

     	 �:
:� ��� ���� 5) /����
�P  D�
    3 /) ��
�� �
)� 5
6�D��$    /G�� /
�� �) ��%� 
         1�� �
?)0 +)�� 9����� ���3 �	 �������
��� ��0��-=�    �
?)0 /) �
C�� �*�

��      �
���) 2�) ���3 �	 1��� 9����� ���3. � �     ��������
��� ��0��-= /) �
���?
	P  /� e7�� +6	       ��
��'�� ����)�� ��0��-�� 
�% /) $        O��� /�) ��:�V)�� �� 
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.��
 .
)��� /
>����       �� �'����� ���)�� Moderator  ��������
�?� $     +�� ��	� 
��  �M�'         ���) +)���� �������
��� ��0��-= /) �
���?�Paraffin    +����� �����

          !
:��� ������ �� ���)�� �	 �������
��� 1�� �
?)0 /G��    ��
)� �������
��� ��:
  .���3 /) ��
��$�     .
)�� �������
���� �)�3�)�� ���)�� O��� �    �)�3��)�� O���� 

�����)��$ %� � �          ��
��� �	��) ���) 8?0 �	���)�� �� ���)�� ���)�� �	 &�'�$ 
��� /
G� �
?)0 ]�� 8)�� 9�Specify Ionization.   

b�   ����$�����
 %����
 �����Neutron Catches   

=       � �)�0 ���)�� �	 �������
��� 1�� �
?)0 /�
  �=        3������ ��
?)0 MCatch 
     �������
���� �	���)�� ���)�� O�� /) �������
���$       ���) ���)�� 
�% /) 7?�
 ��.�� 

��� ���>��)�� ��0����-��� ��-��)V 
���% /
 ���	���)�� �� �����)�� �����)��.  

 %��0 �������
�����  7���� ����  .��� M  �  �
<���.� ��'- &?)$  � &���� J
  �%��0 
             ���'�� �������
��� /G� &��� !��� /� E>
 ��.�� �'�� ��6��� /
G�?� ��(
)��

.� ����)���..Free Neutrons  %��0� 7����� ���� $    
��% 7����� �	���)� 
 �.
)�� �������
�?�           
�% �	 ��%� �������
�?�  3���)�� 7���� O�) ���) �	��) 

             ��0���-= 7��� �	��)� �������
��� 7�� �	��) +���� �'<"��γ     ����) ��	 
9�����.   

   ���3��     9����� �	 �������
��� 7��   ��0��-= 7��γ9����� �	    

  1,2cm                                  7cm                100MeV 
1cm                                    6cm                    1MeV   

0,01mm                                3cm                    20keV   

13. 1�- VCIII� N
IIIF   IIIW�
S� ��III/!7 N
IIIF� ��III9�
�
�%�� Q�III�97 � 
:��XD��    

        ��>�� ���� ���� �
����� �"0�:��� �%� /)=�8 �Q      2��
(
:�� _
���� �	 /
       +� ���) !�� �
?)0 �% �
�����Beryllium     ��0��-P� α   ��������
��� S���� $ 

          ���)��� �<�
(
:�� �%�>� 
�% +0�:���� !���� �
?)0�Bothe     ���� �	 1930 .
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�>
��� �.�
�'� ��'� �<�
(
:�� �������
�?� �.>���=  �(
?����Chadwick  ��� �	 
1932����)�� E�' 3�)�� ���
����� �:    

4Be9 + 2α4   →   (6C
6C + (٭13

12 + on
1 + γ  

          ������� �����)�� E�'� ��
?0 �) �����M�� �
)?��� �
�6�?� �������
��� S�����
=   +� ����) 7�'��) /) �
)� 3?�� /� MBeryllium   5�) ��	���)�� 1.mgr 

Radium         ���3���� 2���.�� /0 (�>') /��) /) E���� �	 �.�6�� �$  ���%� 
   A���) ��� ]��
 3
?���� �������
�?� .         \
�
 /� /�)
 5��)�� ��%� 1620   E�' ��� 

       /�))�� /)� ��
����� ����� �:���� �)����       ��0���-= ���3 ��
3�
 /� 5��)�� ��.
F�> ��:��) �������
� /) �
���)�� ���3�� /
� R����� �5 MeV  ����� ���3 8�= 

13,7MeV   F
)?0 !���)�� /)�  F
<�
(
	� �   ��0 +� /� �   /)4000     /�) �)
��> 
    A�'�� /����
� ]��� �:�� ��0��-=�  �
# M $         ����� ��������
��� I����
 /�� ��=� 

/) !�V) ������ E�' 
�����1.mgr Radium   ��� ����) /) �	���) �
)�� � 
Beryllium$	 P �3�
 �� N�
 D�9000�
��C�� �	 /����
� .  

    �� D� 
����M� E>
 �)�         /�) �������
�?� I���
�� ��% /� �
0��-�� 
���6� E�
         �������
��� ��)
�> ��0��-= J
� N�
 ��
����� ���0 +"')6�� +0�:��� �
���

      ��0��-= +� E�'	γ            �>���� 2�0� �	 5��)�� ��% B:'
 /� E>
 E���� ��.�� 
    &���� 9����� /)�?*
:D        +� ����) /�) ����3� Paraffin     ������� E��' 

6�)���'.  

       N��� I����
� �6')�� ��% 2�0��
    �0���� �3���)� ��
���� �������
���

�
���'���$     ����)�� ������
��� ���3 ���� 
      �0��� ���')�� ���>�)�� E��C�� E�'
     ��������M�� �������?� �������
���

  ���������
��� ��0����-P� ���
�����.  

   �� �������
��� &��� S�������  ���3�� 
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 ��:��)��� � ��
* ��
�3��      ��
3��� ��0���)�� +)����� ��
�
�3�� Linear 

Accelerator  �� I���� � Deuteron$ %� 
� %���� �   I��)�� �    !��% 8?0 3��
     +� ���) /) !�V)3Li7$         ��:��) ���3� ��
���� �������
��� ]��
 �
?)��� 
�% /)� 

�
����� �����)�� E�':  

3Li7(d,n)4Be8٭
  

    ������?� +)���� �6�'�� ����� �	�     E��C �������
���� �������M��  �� +�-
   "0�:)�� �	 ���� ���>)� �
����� $        /�) ��������
��� +
�'�� ���� 7�3� 

  ��
��= �
���' 8�$  @C
�' &����       ���� 7�
�3 /�0 ��)
��     �
����?� ��
<�
(
:�� 
    ���� ��
���� �������
�����        � E���3� ����� &�� �	 ���) �
?� �%�>�  ��'��3

�������$
�  �) ��%�       	����� !�V)�� �'��3� �	 @"�:) 
�>�  �
��     ����) �
?�� �
 
��) �	 �
?��� ����.�� �
?� ����) �	 5>��)� ���>�)��_ �    ���� ��
��*�� ��
��)�G

"0�:)���      ����.�� �
?� �	 �
����� T.U.Mcarching$       ��
?� �����) �	 &���� 
  �	 �
�
�3�� ��?���Salzburg ��)��� .  

� ���$�����
 2�F� ��+
!0� ��=���   

    .�:�� �������
��� J
��� �.B� 8�'��    M ���
�') ��)
�>  �    ���'�- &�?)
�
<���.�$ � J
� %��0 �         ����0 �	 N�'
 �)� /
G��� ���� Geiger     ��0� J��
�� 

   �
<����� ��)
�>��$O����     ��
?0 E>� &���� �         ����0 2�����  ��
����� 7
�3�� ��
 
 �������
�?�V      ��� (��# 2��0� ��� BF3   � E���)��      ������ �����5B

10$ 
  �������
������0  �)� � +���    (�*�� ��% 7����0�:�+       ����� O�� 5) Bor   E��' 
�
����� �����)��:    

5B
10 (n,α) 3Li7 (7%) and 

5B
10 (n,γ) 5B

11 (93%)  
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         ��6�� N��� +0�:��� ��% �
?)0 /)�Impulse        ��0��-= /
G� /0 N�'� α 
    �������
�?� ���� ����� .@C
�'� �
 �         +� �.��) ��������
��� �����0 /) �
�0 �>

Sinsilator  �%�
#�   

13 .2��9�
�
�%�� Y�'���� �
�� ��&�*   

Scattering , Catching of Neutron  

  M �������
��� ��)
�>  �    .��� �	� �
<���.� ���'- &?)�    ���)�� ���� �  N��'
�
����� ��
?)��� E�' �"0�:���:    

a � � /$��
 2$���
 ���������$�����  

� �� �D    /����
� �)� 
     �	 ���)�� ��� ����� ��3�P       ����)�� ������ /�����
��� /
).)������ ���-�
 /
��� +�-� $/M �
?)��� 
�.�� �- ���)�� ���� ���' /) �
*�
 2 

              E��' ������� /�� N�' ���� ������� /� /�)�� ��-��� �
?)��� 
�% �)���
  ��
���
)�� ������� /����$ ��  ��. 	 �������P        +�� ����)�� ���� &���� /����
��� /

).�) �'��� ������� ��� 
��%�>�� �	 �
�3� ���:�) ����3��.  

b �����$������ %�����
 �����   

    �)� /����
��� ��%
    ���)�� �	 +��
    � ���)�� ���� /) 3��?
     
��% +��� 8�= +��
������$    
*� �
?)0 N�'� ��%� 
  ���)�� ���� �$    �	 �)�0�  *��� �
?)0
   5) E��6�� �


     3����M� ��
?)0 &���� ��-��� ��
?)0 W��.      �%�.B� /� 5
3��� �"0�:��� 
�%� 
�����)���$    �)� �� 
      .�� ��� ���� +��� 8�= /����
� +��
 � /
>��� ����
 �  ��
?)�


*���
�
����� �����)��� ��.B)�� �:    

1H
1(n,γ)1D

2
  

     �M�� ��-��� /
� �"0�:��� 
�% �
����        ������� +���'�� +�)�0 �.
)�� 3���
�:���� ��3-�"�$ �  D� ����)�� �Cross SectionF
)?0 7�:
 /� E>
 ��%�   �

  3����"� �:���� ��3-�M� /
�бa ��-�?� �:���� ��3-�M�� бs.  
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c �  J
���
 ��"� �; $�%���
 �����  

        ���)�� ���� +��� 8�= /����
��� +���� ��%
  �� �.��:
�%�3- �
?)0� /
)�� 8�= 
   �
����� ��%�   F�> �).) ��3-�M� �        ��� �	 @"�:) I�6�)�� 7�3�� 7)��� !�� �

7'M.    

     ���))�� �
?)����Possibility   )�)�� ��3-�M� ��.� �     ������� +��'�� +)�0 �
    ��:�� �:���� ��3-�"�бi      ��-���� 3����M� �
?)�� �>��)�� ��3-�M� ���3 E���� 

  3 /0 /���  �
���'�� �������
��� 7
�$   ���� �.�        O���� ��
)%� �M�'�� 
�% �	 
  ?C)� �3�� ��.���          �
�
�3�� ������� �	 ��-���� 3����M� ��
?)�� �
����� �'<"�� �	 

�� ��'� �	  �
���'�� �������
�?�� Barn   �
���)�� 1Barn = 10-24 cm2.   

        �:���� ��3-�M� ����0M� /
�� ����� ��= ��%     ��:?��) ����3 ��0 �	 3����"�$ 
  �������
��� �0�� &����$           �0��� !
�6�� ��	 �������M� E�' �)�0 �>�	 

  �������
���  /�  ���� ��3-�M� �)
�$          !��6 E��?
 ��
*���� ���3�� ���' �	� 
A��� �0����F).) ��A�����) ��3-�M� +���� �� I�:��� 1��
� �  Proportional    

1/V $��C
 �) ��%� 3����M� ��3-��� 3����M� /���� D
)�� �) $ �������
��� � ���
 �������
��� �0�� !�6�.  

��             /� 3����M� ��3-�� �	 �M�'�� W�� �	 �>�
 /������ ��% �3�� �	 7)����
   �0��� 5:��� �������
��� ����3$       �>�� /
� /G� ���� ����� �) ��%� 
 �3����� �)$ 

     ���)�� ����� /����
��� ��   /
�CM� /) ���� ]��
$ �      ����3�� �	 /(���� ���>��M �
  �.
)�� �
)?��� ���>��M� 
�%�Energy Resonance .  ��	 E��>��� ��% �.:���

3����M� �
?)0$ D
)�� ���� O�'��� �� Resonance Catch$  ��
?)��� 
�% ��G� 
  ��
���
)�� S�)���� �.?�����Mechanical Wave$�� &�'� ��G� ��%  �������
�

E�' �>�)� �3�����  +� �
�B�Wave Theory������ �)� ���'�� �	 ν = u /  λ  
  A
<�
(
	 !���)�� /)�  ��      �>�)�� +�3 /λ      ������ &���� ν  �0����� /
�?��) $ � �

P = mv�<�
(
:�� �����) E�'�  De Broglie  	 P    �����
 ��>�)�� +��3 /
�
����� �����)��:    
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λ = h / mv  

)0 �	�	 ��3-�M� �
?P �.��
�3 /) ���)�� ���� / �.�� &?)
 ���C �
# (�.) ��>
A�����   ���� ����� �� $            �	 ������� ����� 5) E
>��
 /����
��� ���� �)� ��%� P /

 /����
���
 �� 9�)
 ����� /��� ���)�� ���� /) 3��?.  

13 . 3 ��9�
�
�%�� ������   

     �� +"')6� J�0 /����
��� +"')6� /�� Proton$ �      ��)� /�����
��� /

    A>��� ��' ���' �	 /���   	 ������ /0 P  D�  /��
    ����) /��� �� ���C �
#$   ��	� 

 ���'�� 
�%/P	�
' D� �:���� �)��� �� ����') T1/2 =12sec. /����
��� /G� ��G� 
	 /�����=� /����� /) E��)P.?�� I�)>) /� ����� 1,00727 + 0,00055 = 

1,00782 MeV��� ����� ��
�'��� /����
��� �?�� /:1,00865    �	 O�� ��%�
����:)�� +���� �
?)0 J�0 �
?)��� 
�%$/� �� 1,00865 - 1,00782 = 0,00083 

MeV   �����  ���3 ��)(?
 /������� N�� /����
��� �
����� E = 0,00083 . 

931 MeV = 0,77MeV  S����= 5�) +')6� 
�%� ..Antineutrino  E��' 
�)���
����� ����:  

0n
1 + 1p

1 + e- + ν  

14�� Jא�����א��א�������
�The artificial Radioactivityא���� �

14 � 1  ��������
����� ����CS� ��%$��� ������ I Positron  

               +� ������ ��
�
�3�� ��-�)�� �������� !�-���� /) ��
�0 /
�� ��� /)
Uranium  ���0 &����Thorium and Radium$ /�0 +
��    
��% ���>� 

 W��� ��>� ��� /) /
����� �	 �3?# ���� �
�
�3 �
'��) �.�= �������.  

 ����:�� �<�
(
:�� 2�> 8�'Frederic Joliot  D)�'� Irene Curie  ����� 
�
<�
(
:��Marie Curie  ��� �	 1934$
- �:-���� �g<A�
�> �F).) �).�6�� �  ��	 

       +� ���0 ��
�)��� ���) /) 2�0�Polonium � �       ��)
�>� �
0��-�� ���3�� α 
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 F�> ��:��)��        ����� /) ��) ��� �.B ��%� ��        ��0���-= N��
 ���
�)��� 2�0� /
�������
�?�$ �              ��3���� ���
�)��� ����) ���� �)� N�' ������ +0�:��� ��% /� �

   ).?0�:�� ��%� �:�� �)
�>�       �
���� �?���� ��	� A   ���'� 5��� 8�= $   ����� &���� 
��  �)�B�Z  /
��'� 8�= $         &����� �������
��� ��0��-= ��
�)��� ���) ���� �C�� 
���  Positron �
����� �����)�� E�':    

13Al27 + 2α4  →15P
0n + ٭30

1
  

    �
?)��� 
�% /)�� F
0��3�� ]�� �� �� Isotope 5-)�� $    
()� I�	�)�� ��:�:�� 
  �)>��
 � �>��� ��
�3�� 
�% 8?0� 5-) ���0 D�� +�    ��
# �������� /�) �
C

���	���)$         �������
� ��
�)��� ���) /) N�� �� ����:�� �<�
(
:�� �
?)0�  $E�'�  
  A0�� &��� +��        ��0��-= �� ��)
�> /) β   �
��>
= ��'- �?)�' $     
��% /G� �>�� 

                ����������� 
��>�� J��0  ����  ��
3��*)�� +�'�� �	  �%���)� ��)
�>��
�
�?��� ��'-�� �?)�'��  +��� ��)
�>�� 
�% �
)��  Positron   ��'-��� ��?)�'��

  �
��>
��β+$ /���  � .�          ��)
��>�� 
��%� ���������� +�� /(� J:� �  ��� �� 
Positron   .�) +
?� �>�
 �.���� ��
�3�� �	 �>�) ��� 2�6:�� �	 ��0��-P� ��C�� 

 �� Cosmos.  

�� ���) ��
�)��� 2�0� /) ��>��� ��= ��%�Polonium  )��  ��0��-= �
3�α 
	P   M ��
�)��� ���) / �� �    +� �������
��� ��0��-= N�� �   ��)
�>Positron  ���� 

%�)0�M �:����  O���
 �  /) �C�2,5 min ��� N�� � Positron   ��	 ��G�
 
�� ���0 /) ��
�3��� Phosphor�
0��3�M� ��
�3�� /0 �>� ���� 5-)�� $ �� 

    ��� �"0�:��� 5���� E�' O�'���         ������)�� �	 ��.B)�� �
?)��� 
�% �	 N�'� �
�
�����:    

   13Al27  + 2α4 → 15P
0n + ٭30

1 

  ∟ 7N
15 + e+   

        ��0��-P� �':�� ��� !��� &����α    �� ��)
�> �.�) ]��
 � Positron  E�'
�)����
����� ���:    
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  6C
12 + 2α4  → 8O

0n + ٭15
1 

   ∟7N
15  +  e+

  

=      ��-)�� ������� /Isotope       ����� �	 �'��� �
0��3�M� 7�3��� �>��)�� 
      �%��0 7�:
 �6�'��1200         D��
?0�	� D�"')6� �	 D��-
 ���C 5��) ���0 

  ��
�3�� ������ �
�����  

14 . 2   ��&�* Q��97 +�#�7���I Positron    

               S����= &���� �
0��3��M� ��-�)�� �������� S���= �
?)0 �	 ���>� ����
+�Positron = β+ $ &������)
�> /) D�� �Proton   �)
��> ]��� Positron  

   +�'�� ����= /����
� 8�$         /����
��� +"')6� /) /������� 2��� ��� �	 /��� 
	P       /����
��� �?�� /� /�))�� /) D��    ��� �?�� /) ���� Proton      S����= &�����

PositronD'�- E���� /) ��%� .  

14. 1.2 
 ����� B����  

 ���� ����)��             ��0���-= 8��= ��.?)��� +��'�� ����) ��)
��> +� �)� 5�-
=�
�
3��*)�����$  
� /���� E�' ���)�� ��)
�> +�� I�)>) ���� ����� �	 � /
�-

) /��
A
����� ��0��-= 8�= +�'�� ���3��� �?���� /
� =�
�
3��*)�����.  

             ��0��-= /) ���' ��
�� ��>�) S���= N�'
 
�% 5�-��� �
?)���γ$ ����  &
     �
�)�� I��-�� �
?)0 5�-��� �
?)0 �)��$         ]���
� �?)�� ���)�� O�� +�� �
�
 D�� 

��:��) ���3 �
?)��� 
�% /)$ �    ����3 8��= �?)�� +�'�� ���)�� /� �E = mc2 .
      "0�:)�� �	 ������ ��3-�� �
?)0 �	 /����        ������� ��.��� �
?)0 �	 �� �
����� 

���� ���)�� /) �
*� ��� +)���
���3 8�= +�'�
 .  

  ?)�� ���)�� +
�'���   % ���3 8�= ��- 2�.� �>�'� /'� ���� ���3?� �)C) $ /��� 
   M �6�'�� ����� �	   5
3��� �   +��� /�    5�-��� �
?)0 /G  �����A���)�    D��� ���3?� 

            E��3� ���� ��= /��� +
�3 ��� &���� �
��) !
����� ������ �>�
 �.�
�'��
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    ��� /) �� �	��) �)?0            ��	 ����)�� J�0� ���)�� /) �'�� ���# 5
���� �(?
 
      "0�:)�� /) !M^ +
*-� E>
 �6�'�� ������ � ��)� �
����� 8�= +� !M^ �C"C 

���$ �� ?     &� �) I�6�)��� 7)��=       E������ ��% 7'?) 8�= 5>�� /� M     ����)�� ��	 
���)�� J�0�.  

a � ���
 ������B  

    5�-��� �
?)0 N�'���0  �)� �)
�> ��3�/� ������) �     �
��>
= �� ��'-�� �	 /
 
����)� �
�?����   A�) �?���� �	 /�       � /������� /
� ���3�� +C) Positron  E�' 
�
����� �����)��:    

   e- +  e+ →  2γ  Quantum    

   Electron +  Positron   → 2γ  Quantum  

         ��0��-P� �>��) �� ���3 +� ��%γ      ������ �)
�> +
�'� �	 �����   �� /��
�?)�� /���
(�� �)
�>$����� :    

Eγ = mec
2 = 0,511 MeV  

  3�)�� ����3�� I�)>)�� �)
�>?� �/
    5�-� �	 =.�����      ������)�� �����
 @")�� 
�
����� �����)��:     

2mec
2 = 2.0,511 = 1,022 MeV  

  ��0��-� 5�-��� ��% �
?)0 /)�γ>�) +�3 ���� ���'�� �.�� �
���) ��
���� 
 E�'�
����� �����)��:    

Eγ = h.ν = h.c /λe = mec
2 

λe = h / mec = 2,4262.10-12 m 

  �>�) +�3 
�% �>�)�� +�3 �)���Compton Wave   ����� ������ �	 
 +'?� ������ !���)��
 ����  

h ..    +)�0Planck � ����)�� ���� �
CG� �h = 6,6262.10-34 J sec 
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me .  �� /������� �?��Positron �
���)�� me = 9,1095.10-31 kg 

c   U��:�� �	 2�6�� �0��   c = 2,997925.108 m/sec   

=         ��0��-= ��>�) +���� 5�-��� ��>�) /γ        ��%�.B� /G�� 5
3���� ���'�� 
               �
?
�-�� ��
?)0 +� ���)� ���3 I�)>) /) /�� �� 5�-��� �
?)0 /��� �����M��

Sentence   ��6�� /)  $ �   ���� ��'- /� �       ������)�� �)
��>�� ��'�-� /���
 �'�
 /���
(����/� @")�� $ �      +��
 �) �Neutralized     8�= ��)
�>�� 
�% +�'��� 

  �� ����32γ Quantum ��= ��%  �?����� ���3�� /
�
��') �  �����0M� /
�� ����
    ������� /���
(���� �0��=   	 2�6�� �0�� 8�P ��
*� �.�$      
��% ��6��� /��� 

 �
?)����+���  P = mev  ��0��-= /) �� ���3 +� �
�3�� γ   ��	 ���'�� +�  
���)�� ����=� 2�:���� J����) 
�>��.  

b ��� �����F�
 �� B����
 ����� �
����
�
 ��1�
   

=   � 5�-��� �
?)0 /�
         +� ��	 E��'	 �����') �Electron    +� �.���0� 
Positron � $   ���� �	 &��� +   ���� O          +� +�C) ���:��)�� +�����Proton  +�� 

Antiproton$�� &���� � Neutron���  �Antineutron.   

  P   +    p          →  2γ      n         +   n  →            2γ 
Proton  +  Antiproton  2γ   Neutron  +  Antineutron   2γ    

     �
<����� ��)
�>�� 
�% +�� ��� E����$	 /�������� /����
��� P 5�-��� �
?)0 /
�    
��� /
� �) +�'� ����  /����
� ����� /���$        /������ ������ /������� &���� 

          �
C�� 8?0� �� ���3 �.�) 5�-� �
?)0 +� �3��)       /
�� 5�-���� �
?)�� +�' �)
/���
(����� /�������.  

�
����� �����)�� E�' ����� ���3�� 
�%�:  

Eγ = m0pc
2 ≈ 938 MeV 

Eγ = m0nc
2 ≈ 938 MeV  

������ �?�� ������� /�  1,6726.10-27 kgr = m0p 
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 ������� /����
��� �?�� 1,6749.10-27 kgr = m0n  

             �>�) +�3 &��� 
��0 @"�� 
��
)�� �)� �
�)�� 5�-��� ��%�Compton  �>����� 
        /����
� ���� 5) /����
� ����� �� E���� �
?)0 /0$      ����� 5) /����� &���� 


����� �����)�� �
���)�� /������:    

λp = h / mp c = 1,321.10-15 m 
   λn = h / mn c = 1,320.10-15 m  

          �%���� /'� ���� 5�-��� �
?)0 /G� +��� ��%�Q      �@�'M �.� 7)��� /� E>
 / �
      ���)�� J�0� ���)�� J�� �.:�� ������ �����$         /�) S�(��� 7�?� �
?)0 &���� 

           �%� /) �%�  ������ J���� �	 5��
 ���� ��)
�>��       ��
<�
(
:�� ��?0 ��	 ��?���
 �C
�'��.  

14. 2.2 #�& ����� �; L
�26�
�����F�
 �F�26��
   

Positron and  Electron  

      	 ��)
�>�� /) S�(�� S���= �
?)0 �.:���P  /�        S���)� R��- �.:�� ��
�3 3��
Dirac�  7����� S��)� �Hole Model$ /� E>
 I�6�)�� �	 +��� /� +��� 

� �<�
(
:�� �����  �(
?��P.A.M. Dirac$  ���� �	 56�� �>� �<�
(
:�� ��% 
1930        ���� �	��)��� ������ 8?0 �
��) �
�B� =        &��'�� ����3�� ��	��) 8��

�
����� �����)�� E�' �)<���� ���������� ���3 ����� ��)
�>��:     

Ee = ±√(me0c
2)2+p2c2

  

  (�)���� ����)���( ± ) /�����T� �3�� /� E>
 D�� �F
��>
= /
�C�F
�?�� $� 
  �<�
(
:�� D� 2�> �) ��%�Dirac   �
6�	 ���:�  Hypotheses+��	 :    

;���: /������� ���3 ����' �.�/:�
�?�� �
��>
�� .  

a � �
��>
�� ���'�� �	 (+)	 P�
����� �����)�� ����� /������� ���3 /:     

Ee0 ≥ +me0c
2   or Ee ≥ = +0,511MeV  

b � �
�?��� ���'�� �	(-)  	P�
����� �����)�� ����� /������� ���3 /:    

Ee0 ≤ -me0c
2  or  Ee0≤ -0,511 MeV  
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M���
�: = ���'�� //
 ������ /
�    ).�
� +�:� ���3?� /
�����)�� �     ��0��)) ���3 ���' 
�
����� �M���)�� E�':    

Ee0 = -me0c
2 = - 0,511 MeV To Ee0 = +me0c

2 = +0,511 MeV  

   M I��))�� ����� ��%� �  ��������= D� �>�$     � ���������� ���3 �)
� /�  ��
 �
�������� �� ������� /������� ���3 /) �*�.    

�
��
�: /�))�� /)  /��� ����������� ��%����) �)�0  ��
*� ���3 &?)� &�?)) 
�
�?� ���3�$ ��
�B� E�' E>
 ���'�� 
�% �	 ���>�)�� �����������  Dirac   

M� V�   .�
)�� ����0M� /
�� ���    ���������� /) �'�� ������� .     ������� ��B��
 $�
���������� 7�-
 ������ 
�% /)��.� /
�
����� /
�.  

  

  

  

  

  

  

  

M�+
$�:     	 �
��>
�� ���3�� ���' �	 P   % /) @"
?� /VM2 ��?)
 /     ��
��>
�� ����3�� 
        ���3�� /) ���'�� 
�% �	 ����)�� ��%��  �
��>
= ��)
�> �>�$   �)� �  ��)
�> �>�

����� !"# �	 ����������.    

M���&�:              ��.���3 /) �)
�> S��� /G� 5
3��� S����� /) ���3 +��� �)� ��% 
     �
��>
= ���3 ���� �	 �.?���� �
�?���$     �.B� �
?)��� 
�%�   +�-�    ���>�� ����0

/�������$     ���' �	 /��� ��  ���3��   	 /��) �>�
 �
�?�U��$      U���:�� /���)�� ��%� 
�    
�)�Dirac E�C�� $     �
# ���'�� 
�%� �������)$ � E�C�� �$    �.�G� �%�
CG�� �.B� 

              �.)��� �)
��>�� 
�%� �
��>
= ��'- &?)� ���>�) /�����= �)
�>Positron 
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     �
�B��� �
?)��� 
�% +0�:���     ��> ����� J:� �	 ]��
 �> /
�) �
�/
�  �)%�.B� � 
F
>��)� ������� ���
����:  

  

=        �(
?���� �<�
(
:�� 
���� �) /Dirac       ���.B= �% E��C?� ��B��� D>��)�� 
 +� ��)
�> Positron��� �	���) /�� �� ��)
�>�$ ���� �
�3:�� �
�B��� 
�%� 

   ����
)�� E�-�� �<�
(
:�� 2�> 8�' /.�� +�-� C.D.Anderson    ���� ��	
1932$  (
:�� �
�B� 7�' �����M� 7
�3 /0�   �(
?���� �<�
Dirac  +� ���>�� 

Positron2�6:�� ��)
�> �	 �.?C) �>� /� ��� .   

 ��� �	�1932 �<�
(
:�� �>� �����:� Joliot   E��6��� �	�# �	 D)�'� 

Wilson@"�� �	���) �
# ��%�B $ �� Vision .   

       5
���:�� �	�# �	 &��� ��.B� �
<�
(
:�� ��%�B�� 
�%�$     ��%��B�� 
�% N�'�� 
� /) �� ���3 +��� �)γ Quantum5
���:�� �� E��6�� �	�# �	 .   

  I��-�� ��% �:�� ��% γ� J
@��'-) �F
�?� M �F
��>
= M� $�d�
 ��  D� �  ��	 �C
        �0��-�� ���� ��% �)� /��� E��6�� �	�#γ         N��
  ��� ����� ��3�
 �� E���
 

>	�G  ��?)
 /
3� /    5
���:��� 3����� +�- J:� . �3��   �% 3
�     5
����:��� 3������ 
%���)��       .�) 3� +� E%�
 ��
3��*)�� +�'�� �	 �     J���) 
�>��� ��� !��'��� 

        0 &���� �	�'�)�� �)
�>�� ��'-� �)
�>�� �?�� 8?0 +�
8?    ��%� �
��'�� �.���3 
�> ]��
 D�� 8?0 +� �)
�)�  �� ���3� ��� ���� !�� �
?)�� / γ).�)�  /�������� 
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 ���
(���� &����/.          �
?)��� 
�% �
)� �>��()�� ��)
�>�� S���= �	 7�:��� ��%� 
  �� ���) 8�= ���3�� +
�'�Materialism of energy /���� E�' �.� ����)��� 


���
����� �����)�� E�' ���)��� ���3�� /
� ������� /
�-:    

Δm = ΔE / c2
  

            �	 
���>� �) ��%� �?�� 8�= ���� ��0��-= ���3 +
�'� ��  �
?)0=  S�(�� S���
��)
�> 7?�� �/
 ���� ���3 2�:���� .  

14. 3  Y�'����"*��23�   ;GL�� ;
�: "= K   

    �� ��>� �
?)0 ��� /)� Positron$        �)
��> ���� +
�'�� ��
�3 �>�
 &��� 
   �%� /����
� 8�= /��������            ������ ��	 ��<�(�� E����)�� /�������� 
   ��:��

Neutralized    /������� �)� 
  &���   �
���� ����� !"# ��-� � 
   ������� �	 +��$ 
�%��    �)�)�� ��-��� D���� /������� � K 
   @��� �� �'�	 &���   D���) 
?)V  /�����= 


�-��� �	 ���>�)�� ���������� /)�8?0�� .  

  

  

  

  

 �
?)��� 
�% /)��  ��0��-= ]�� Roentgen    �)����� 7�?��) S������ ��%�
 ����)�� ����?� �:���� �.?
�'� .�����M�� R�-��:  

  ��-��� �	 3����M� �
?)0K����) � ��0��-= S���P�  Roentgen  ��?��)�� 
 ������ +
�'��$          ����� !"# ��-� &����� /������� ���� ����� �	 
   ������ /) 3��?
�
?)��� 
�%�$  3����M� �
?)0 �� K Catch���� O���� +� �	 &��� N�'�  ��0�% 
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    �)�B���Z 5:��) $ 	 P      ��% ����� !"# ��������= /��
.�    .�?>� ��
�� E'� ���� � 
O���� E�� 8�=.  


� 
�)����� ��� �:  ���0 S���� Nickel Isotope  /�0 J�'��� ���) /) 
  ��0��-P� +�
��� ���) !�� 7
�3α�
����� �����)�� E�' 83�
 :    

28Ni58(α,p)29Cu61* (k)28Ni61
 

     �>�
 �M�'�� +� �	          ��-� 7
�3 /0 3����M� ��
?)0 /
� (����K   &����� 
      ��)
�>� !���� �
?)0β+ �� �  ����  ��  *��� �
?)0 J:�
      ��
?)0 +�� O���� �	 �


.�)�       ���')�� �
���)�� �%��0 Possibility  �
?)��� /��� /
 �CM� � )%��0 /
�   J�:� 
+��:)��.    

14. 4   ���� ��2- Z� [� "&��5�� �*�#��� β   

= )0 /  �
?  +0�:��� � �?������
  �=        ��)
��> ��0��-= N�� &�'� �
?)0 Mβ-$ 
 .� ����)���         .<�30= 7
�3 /0 ����� !"# &��� ���� �
����� ���������� �  ���3 

A��� �.�:� ����� ���� /)�.    

14. 5  �� K
9I  Isomer  

=    +� O�� /Isomer % �    ���� O���� �.�    � �)�B��� ����� J:�   J:�  +����� ��0 

�����$� /���  �:?��)����� 2����� �	$ +� ����0 �	 @"C) Isomer�
����� :  

91UZ234  and   91UXa234
  

.?
�'� /�)) ������� 
�%��  O�� 8�=  92UII231.	����  ���������� ��0��-P� 
β-$%� � �.6�� /0 7��:��:���� �)���� ,  \
��
 +���	 1,14 min   ����C��� 

6,7 h0 ()�
 �)�0�  +� ���Isomer������ ()���� @"C) :    

2,8 h 

38Sr87*m   →→→  38Sr87   

Eγ = 0,4 MeV    
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14. 6  ������� �'�
F Decay schemata   

�              ���G� /� 5
3��� O���� /) �C���)�� �
����� ��0��-�� ���3 /) /�� I�� �
.)
��        ��0��-�� 
�% +"')6� 7
�3 /0 �����)�� 1<��?�� /) $   /�)) =  �%���.B

3�3��� 7
�3 /0.    

�
����� ��
?)��� +"')6M� 3�3�� R�-� ��%:  

      5-)�� ������ ����11Na22٭$          D����� /�) +��'�
 90 %      /��))�� /�)�
Possibility &��� =��)
�> 8� Positron     3����M� �
?)0 7
�3 /0�K ��G
 

     ������ +�'�� �<�)��� ��-010Na22٭ =    �%� ]
.�) 5-) ���0 8�    /�0 N�'
 �
     �)# ��0��-= N� 7
�3γ$            ��?
?� ��
)� ]��
 ������ ��% /) ����C�� ���'�� �	� 

�<�)���Positron    ��0��-= N� /��� ��:��) ���3� /���γ$   ����3 +�)������� 
  �����2mec

2S�(�� 7?� �
?)0 E�' �>��() ��������= 7?� N�'
 .    

   �� +"')6� �
?)0 ��G�� Isomer$  ')6M� ��%�       ���<�	 �0���� N�'
 +"
A�
��� ����� ����� /) �T= 10,5 min   ��0���-= �
?)��� 
�.� N�
 γ  ����3� 

�:
�6$           +� �)��� +
�3 5-) ���0 ����� J:�� S���= &���� 27Co66*$   ���%� 
            ��)
�> �� ��0��-P� D	�� 7
�3  /0 +�'�
 ������β- =      ��.���� ����) 8��

  �>
.�)28Ni66$   ���'�� 8�= �������           N�� 7
�3 /0 ��>� �
����� Emission  
  ��0��-= /) ��2γ Quantum ����� +��� ���� �:
�6 ���3� 1,17 MeV 

  ����� ���3� ���C���1,33 MeV  . �)# ��0��-= �
?)��� 
�% �	 ��%�γ &���� 
  ��� ��0��-=β- ��'�� ��� �	 N�.     

14. 7;�
%�� ������ "= �:�R�� ��9����   

 7
�3 /0�             ��-�)�� ����)�� &���� +')6�� 5���)�� ��
�3�� +"')6M� 
     �?����� ���3�� B:' /���� E�' �
0��3�M�.      �� ����� ������ +C)�� ��G� ��.�� � 

11Na22*       3�)�� +"')6M� �
?)0 �	 33� �) ��C� 8�' � ���� ����� �	 ����  
60.1$-)�� ����?� +"')6M� ���3 �
��(
) �.
)�� �
?)��� 
�%�   511Na22*.   
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����� +���� �
�:   

  5-)�� ����?� �
����� ������ �?�� �)
�21,99440 ME  =   11Na22*  

  +"')6M� ��� �>��)�� ���)?� �
<�.��� ������ �?�� �)
�  =21,99135 ME   

 ����
 +���� 7�	  Δm =0 ,00305ME   

����� �?���)�� ���3���E  = 0,00305 ME . 931MeV = 2,820 MeV     

  �
����� �M���)�� E�' ����� �
?)��� 
�.� �?)���)�� ����3���  

 ����� S���(M� 7?�� �?)���)�� ���3��2 . 0,000549.931= 1,022 MeV  

 ��)
�> �� ��0��-= ���3β+  ����� 0,543 MeV  

  ��0��-T� ���� ���3γ  ����� 1,275  MeV  

 ����� �?)���)�� ����3�� I�)>)2,840 MeV    

 ������)�� ����3�� �
��(
) 8?0 +�� �
?)��� 
�%�  


א/�א���/���15�#�2"�0�-1�*'�� �

15. 1G5:  ; ;
: �- ;�
%�� �:�F  

  @���� ��	��� ���               ��������� /�) ��
��)� ��:�V) ������� O�� +� /� 8?0 �
     
� Y+�V��� ��G
 ��% /��� �������
���         ��)
��>�� 
��% &���)�� ���>�) ���� 

  /����
���     F
)?0 !��� Y����� ���� �	 /��������       ���� !"# /
� &��)��� ��% /� �
�� E'��� ���� 8�= ���
 �
��>
�� ������ ��'-� ��?��� ����� 5����� �
�
3��*)�����

  /�����Coulomb$         /���� E�' &��� !���)�� /)� Coulomb    �)� D�G� � �	���
���)� /�).���'-�� J:� $�� ���� /��� ���2 /0 ������ ��)
�> &��)� ]��
 !
� +

  �� ���� 7
�3� Gravitation$         �.�G� ��>� E��>���� �����M� ��� ������ 
�%� � 

�J �     +� �� ������ ��)
�> &��)� 8?0 �
CG� �.Nucleons �	��)�� /G� �.B D�� 

    F�> ��
�� /�������� /����
��� /
��$  ����� &���� �  M �
�
3��*)��     +�)0 5
3��� 
0   ������ ��)
�> &��)� �
?)$         � ���� �� ���� �>�
 /� E>
 ��.�� ?    /
�� &���)�
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           �
# ����� �� ������ 
�%� ����� ���� �	 /����
���� /���������     �.
)��� ��	���)
O���� ��� �� ����$ �
# ����� �� ������ 
�%� ���
����� ��(
))�� &?)� �	���):    

1 � ��� �  �� �� �   O���� ��)
�> &��)�     %��0 ����� ���� �	 �     ����) 7�
�3 
F�> ��
��A�
��� ����� �  �10-15 m$ ���� �
CG� 7��:
 �(
)�� 
�% /)� �  &���)� 

�� �
?)0 /0 ������ ��)
�>� Gravitation ���������  �
�
3��*)�����.  

2 � ��� �  �� �� �        ��� �.B
 ����� ���� �	 O���� ��)
�> &��)� �    ��
��0 7�	 
-��� 7�	 �
?)��  5�Over Saturate Power$   ��)
��> +� /G� �.� ����)��� 

Nucleon           +�0�:��� ��')�� +�3��� �	���)�� ��
���� �	��)�� 7
�3 ���) E��� 
 �.���> 5)$    ��� /G� �>� ��% �  �� �
?)0 � Gravitation ���� �     ���
�� 2����.��� 

���
CG�8?0 ����>)�� �)
�>�� $.?�� ���� O���� �	 
��� �) ��%� �  �
����� A > 4$ 
+� ��� ��� �.��� ��)
�>�� /
� �M���M� +0�:�� 5�-��� �
?)0 ��% Nucleon 

  �.���> 5) +0�:��.       @�'M D��� �	 7)��� !�� +0�:��� ��%�     +��� /��� �=  O�� /
%��0 ���������<�)�� 2�)�� 3�� ��(
) J:� $+�� Nucleons   ������ ��)
�> /)

 ���� �	�C��� J:� &?)������:   

ρ=1,45.1017 kg / m2
  

3 �   �� �� ��� �      ����� ���� ��)
�> &��)�   &?)�     ����� /) ��
�� ���3 �� �
)�� 
 ���� ��$�  �� ����� � Gravitation        ��)
�>�� 
�% /
� ���>�)�� 2���.��� ���� �� 

F�> ��
*����� ������� ���� �� � ������ ��)
�> &��)�  .  

 4 � = ��� /�  �)
�> &��)�     �?��) �
# ����� ���� �� ��'-��� $    D�G� 
���) ��%� 
�� ��)
�>�� /
��  Nucleon/������ /����� �>��()��$  /�����
� /
� &���� 

��� /����
���%��0 &��)��� � &��)�?� ��(
))�� J:�� ����� /) L?�)�� J:� .  

5 � ��� �  �� �� �     % ����� ���� ��)
�> &��)� � ��� � � ��     9��� �
�> 5��3 
#!���) �
$.
)�� ���� � +������ Changing Power$����� 
�%� � /� 5
3��� 

�� +C) �)?��� +'�� 7
�3 /0 �%�.B�� Quantum Mechanic$   ���% �.:���� 
          ��
6�
��� �?0 �	 ��
)0 �?)�� �	��) ����0 /��
 /� E>
 I�6�)��.   3
������ 
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   ��� I�6�) R�- �.:���      S��)� 8�= ���� O���� ��)
�> &��)�  E���) $   ��	� 
     A��� �
<����� ��)
�>�� E�?� S��)��� ��% F).) ��. 
)�� �     +� �
<����� ��)
�>�� 
�% 

Mesons �@�'M �.���� 7)��� !���.   

     +� +��-� /) �
C� �>�
 ��)
�>�� 
�% /)�Mesons   ������ ����� �	 /��� 
�>�
:    

π Meson  orPioneer 

 �
<����� ��)
�>�� /
� 7�:�� R�-� ��%��
�����:   

Positive π Meson or Positive Pioneer (Symbol = π+)  
Negative π Meson or Negative Pioneer (Symbol = π- )   
Neutral π Meson or Neutral Pioneer (symbol = π˚) 

  �B'")= +� ��)
�> /π Meson � ���'-�)��  ���
 =   ���'�- ����)' M
 ����� ���� �	 �
<����� ��)
�>��� �%���� ��
����� ��
?)���:    

  �)�Proton   ������ ��)
�> /) 
 �3�PioneerF
��>
= � 
  8�= +�'�Neutron 
���)�� E�'��
����� �:  P+ +  π˚ →  n   +   π+     

 �)�Neutron ������ ��)
�> /) 
�� ��% ��G �Pioneer� 
 8�= +�'�Proton 
�
����� �����)�� E�':  n  +   π+  →р+   +   π˚   

 ������� �M���)�� E�' 5>��� �� ���� +0�:��� ��% ��
?)0�  

 �)�Neutron ������ ��)
�> /) 
 �3�Pioneer F
�?� � 
  8�= +�'�Proton 

�
����� �����)�� E�':  n  +  π˚ →   р+  +  π-
  

 �)�Proton ������ ��)
�> /) 
�� ��% ��G� Pioneer 
  8�= +�'�Neutron 

)�� E�'�
����� �����:    p+  + π- →  n   +   π˚  

������� �M���)�� E�' 5>��� �� ���� +0�:��� ��% ��
?)0�.   

       +� ���'- �
CG� �'��Pioneers    �	 �
�?���� �
��>
�� P     /
�� ���'-��� /
         &��� ��% /
� �?���) 8��� ����� ���� �	 �������
���� ����������$    �'� !��
 ��� 
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  �%�
�)=�8  > /�       �����
�� �<�
(
:�� 2�H.Yukawa    ��� �	 1934   k"�' �>��  
F
�B��     �� D��-
 ���'-�� 
�% �"���� � Pioneer         ��
 /�) ��� +�-� +���
 ���� 

  O��� 8�= E0M$   A)
� D� 830� ���'�� +������ ��%� � �� 3������ ��� �� ����� +'� 
   ����� ���� �	 &��)���$         �)?��� +�'�� +�'�� ��.�  +)�����       +� 7�
�3 /�0 �

Quantum Mechanic$ 
�.B� �) ��%� Yukawa   3������� �� &��)�?� �����
���'-�� +���� ����� ���� ��������� �������
� /
�$����
��� /���  Pioneers M 

������ ���� �	 �.B$ +� ���8 VirtualM� .� !���
 ��� /� ��
�'� �Pioneer  
/0 �
(
 M ���� 7C��)��10-24 sec  �0��� 9�)
$ +'��� � +��� �
?)0 /G� �.B

�� /
� ���'-��� Nucleon  E���� 1020�) �� �
��C�� �	 .  

	P      �)%��� ��>��� /Virtual     +� Pioneer   F
)?0 7�'� ���     !�� 7
�3 /0 �
��:��) ���3 ��� ��)
�>� ����� ����$@�'M D��3� !�� I�6�)�� ��%� �.    

  ����� /G� �.B��  ���� �� �   ������ /
� ���>�)�� /
�C� /
�����
�� /
F
��� +����  �
 +� �
*� �� +��� Pioneer ������� R�-� ��%� �
�')��:    

= ��� /�  �� �� �     
� ������ �	 O���� &��)� �� =       ��� +����� �� +���� �>
�� M� 
Meson.  

  �
�B� E�'�Meson Theory���� ��� �� �  +������� +'��� �.B &��)��� 
�����   �����M�� +'�� /
� �
�$    ��� /G� 
���) ��%� �      +� +���� ��0��)� O���� &��)� 

Mesons �           ������ ���� /G� �
�
�3���� �
)?��� ������ E��� �6�'�� ����� �	 �.B
    ��� /����
���� /������� /) �
��)��V%� 
� J  A���>�) 2��� � Homage $ /������� +�

   ).�) �'�� +� /����
����� 
 ��� &?)          D����� /�������� ����� ����� �	 ���� �
   �
�?� D���� /����
���� �
��>
=$     /����
���� /������� ���'-� �    E��6�� +�����

�� /) �.3
'
� Mesons.A'�- �3�� /G� 5
3��� ��� �� D�� ��% �A
	�� ����� � �� 
���       ���� ����� ���� ��)
�> &��)� =           +� ������� &���)� ���)�>�� ����3�� 8��

Nucleon ������ �
����� ��'� ���:�  :    
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� +���	G /) �:�V)�� ������ ��� /Z Proton/) &���� N Neutron  /� E>
 
%��0 /��
�  ����� �?�� m�
����� �����)��� �%�.B�� :    

m = Zmp + Nmn  

      ���� ����� �	mp       &���� /������� �?�� mn      7�
�3 /0� /����
��� �?�� 
�������M�� ����
��� ��>�  �
����� �M���)�� E�' +���� 
�% �
�:    

 mp = 1,6726.10-27 kg   and   mn = 1,6749.10-27 kg  

 /) ���>�)�� O���� +�� I�)>)�2 Proton   /�) &���� 2Neutron��  �� �
�  ��
?.�� ��� !�V2He4@���� �%���.B� ���� �
����� �����)��� �:    

  2Protons +   2Neutrons 

2.1,6726.10-27 kgr +  2.1,6749.10-27 kgr = 6,6950.10-27 kgr  

              ��?�� /G�� �>� �6�'�� ����� �	 ��
���� �������M�� ����
��� ��� /) /���
����� �
����� ��
?.�� ���0:     

mHe  =  6,6447.10-27 kgr  

     F
)?0 ����)�� �������� 
�% ��� /)�       �
����� ��
?.�� �?�� /G� �.B ��   /�) �*�
)>)��� ��>'� ����� +�� �0�<�.$����
 +���� �	 /
�CM� /
� 7�:��� :    

Δm = 6,6950 - 6,6447 = 

Δm = 0,0503.10-27 kgr  

         O�� �
# �	 &��� ��>� +���� �	 7��:����      +����� �>
�� ��
3�� ���� �����
         +����� /�) ��� I�
6 �>�
 ���) ��� ���� 2���� /����
� 5) /����� 5)>� D�G�$ 

��%�  �� +���� 9�� D
)�� +���� �	 I�
6�� Masses Defect   ������ ����� �	 
�
����� �����)��� 83�
�:    

Δm = Zmp + Nmn - m  
              ������ /0 +<���� /
�-�
� /���� 8�= ���� /� E>
 +���� 9�� �
?)0 R�-��

�?����� ���3��.�� &��)� +)���
 /� +�� +��� ��%� �Nucleon  �� ���?� ���� 1��
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	P  ���3�� ���� / Potential    �.�
� ���>�)�� �     F
���� ������ ��)
�> /
� �     ���
�� �
6�� �.����� �
?)0 �	 /����.���3�� 
�% ���� W�� /) $��  Potential  �*��

         ����� ���� +
�-� �
��� ��� �	 8��� �' 8�= +���$        S�)��� �
?)0 �	 &��� /��� 
���� S���� /����
��� 5) /�������  ��' ���3 N�� ����� Free Energy$  ��)
� 

           �:� �
�� �)� &��� +)����� 83�� /� E>
 �) J��� ���3�� 
�% �
    ��3-��� �� �
������ ..  3������� �� &��)��� ���3 &��� ���3�� 
�% 8)���Binding Energy  

/) I�
6��� &����Potential Energy   &��� ��% ���
=    /
�-��
� /����� 8��
��� 7?��)��  +���� I�
6� &Masse Defect �� &��)��� ���3 /
� �>�
 +��� ��% 

  3������E  +���� I�
6 �	 &���� Δm�
����� �����)�� E�' /
�CM� /
� 7?�� :    

E  =  Δm c2
  

�������M�� ����
��� E�'��� ���
    +����� 7��	 �� 9��� �>� �Masses 

Defect   ����� ���� �	 $     
� &��� �3�
 ���� ��%� A���     &���)��� �� 3������ ���3� . 
C)��         k"' ��% �>�� ��
?.�� ���� 3���� ��G� &�� 8?0 @M      �.����)� �� �.3���� ���3� 

'�- 7�� �) 7
�3 /0D�
����� �����)�� E�' �.?�� 9�� �
?)�� :    

 E = Δm c2 =  0,0503.10-27kgr . (2,9979)2.1016 m2/sec2  

 E =  0,453 .10-11 Joule = 28,3 MeV  . 
1 MeV = 1,602.10-13 Joule 

   �) ��%��             /) �:�V)�� ��
?.�� ��� ���� 2���� ���3�� /) +)���
 /� E>
 �� �.B
������  /
 �����
�� /
�C�  /
/
�C�$         �� &��)�?� ���3 ��)(?
 D�G� �.B +'�� E�'� 

  �����  3������EHe = 28,3 MeV � �)
�> +� /� �Nucleon   �	 ���>�)
 ��������� 3���� �� &��)� ���3 �.)(?
 �����:    

ENu = 7,1 MeV 
2+2 x 7,1 = 28,3 MeV  

          ��
?.�� ��� ���� ��3-�� �� ��:�� J���� 7
�3 /0�=    ��������� ��)
�> 8�
&��� ����� ���3 ��)(?
 �������
��:  28,3 MeV.   
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	 �6�'�� ����� �	P  +���� 7�	 �� 9�� /Masse defect  ����� ����� �	  �
�@	���) 1��� E���� ��.�� ���� � �� 3������ �
?)0 ���3� �
6�) ]<��� 83�
 1��

   ����� ���� �	 &��)���$    �) ��%� �      +� ���3 /G� &��� �.BNucleon     ����� /�) 
         %��0 ���� O���� �
0��� ��
�� �.�:� ����� ����� ��?��) ������   J:� $�?����   D��� 

      ���� D��(
) 
��0 O���� /) I�� +���$         �� 3������� ���3 /G� +��� E���� ��.�� 
  +� /
� �.�)
� �3���) ���3 �.)(?
 ������ ��)
�>� &��)���7  8�� 9 MeV.   

    +������ ��?��)�� ����� ���� 3���� �� &��)� ���3 I�6�) 7�3 ����� ��= /���
  �
�����..A      �����M� ��� /) �
?)��� 
�% ��.B�    ��)��� ���3 /G� ����
����  �� &

            �
����� +���� I�:��� �	 7�:��� /0 @"6	 �:
:��� ������ O��� 3������A    5�:��� 
W:��� �?
�C�� O�� �	�.   

 8���'�)������������ 
  �'6�)��    /
��
� ��.B


     5�) &���)��� ���3 7?��
   �
����� +����A $ �) ��%�

       O��� ��	 &���� �.B
  	 �?
�C�� ������P   ����3 /

      +��� 3������ �� &��)���
Nucleon    ��
*� ���3

F�>�$      ��.B� +� �) ��%� 
     &���)��� ���3 /G� &���

    +�C�� �3���) O��?��       O���� �	 &��)��� ���3 /) ������?
�C$     ��	 J����� /��� 
      &��)��� ���3 5:��� ��:��� �� ��3-�M� �
?)0$          ���' ���3 N� 5��
 �) ��% /)� 

Free energy ���� ���3�� E�� �� 1��� �.�
� ���
   /�0 �
�  7�
�3  ��
?)0
    "0�:)�� �	 �?
�C�� O���� ��3-������3?� �
����� $   &���)� ����3 I�:���� &���� 

+�Nucleon     ����3 83�� &��� @"�� ��� ���� ��
?.�� ���0 �	 ����� @"C)
 ��'Free energy $ ���� �:
:� O�� /) �>��) �?
�C O�� �� �   ��.�"0�:� ����
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�% /)� ��.��M� �
?)��      �.��� /�)) ���� ����3�� �.B� ��
?)��� $  �.�) �   /�0 
   ��3-�M� 7
�3Fission  $.�)��        ��.��M� 7
�3 /0 E
���� +����)�� �	 &��� 

Fusion.   

15 . 2   �:�R&� ;G5'� +�*� �A�� K
%�� Potential  pot  

              /�) ����� &?)
 +�'� �3�')� �
��>
= �.��'- ���)� S���?� �.B� ����� ����
 ���3���� ���� �.
)��� Potential F
��>
= /�'-) ��> ��=�   +��'�� ���% E��� �

F
��>
= &��� /�'-)��/���� E�' � Coulomb  �����)�� ����� D���3 ����� �:�

�
�����:     

Epot = e0
2 / 4πε0r  

          +��'�� ���% /�) �3�� +� �	 D��
�� +���
 +*-  �<���.���� Electricity 

Potential  J��� ��%�  W��� �
���> $ 
 ).�
� �>�
��   ��
�� 7�	 .      ����� ���% 
Coulomb  F
��� �����    ���?�) �	��)�� �

   ����3 5�:��� ��.�� 5��)���Electro 

Potential    �
# E������� ��  ���� /��� �3�$        E>
 ��
�� �?
�C ��� D��-
 �) ��%� 
  /�� A���� S�'��        �)��� 8�= ��0���) 7
�3 8?0 +�> �)� 8�= �$    ��
?)0�   ���%

�<�( 53� 3� +�- D��-� +�>�� �)� 8�= S�'����$�� ����)�� �� � Hyperbole.  

�� /) +�>� �3�') ��� ���� +� /G� �.B
 �) ��%��Potential   D?�-) ��'�
  �� 3�� !���� Hyperbole$          ���'�) 8?0 ����� ���� ����� �.B
 �) ��%� 

  !����� +�>�� ��%.   ���� 
�% ����� �   +�>�� ��'�) 8?0       /��)) ��
# �)��� 8�= $ 
  �
?)��� 
�% D��-�� ����')  �� ��
       �%�
#� ����������� +�C) ��)
�>�� �   /�) 

  F
��>
= ���'-)�� ��)
�>��      +��>�� E?� �	 ���>�)�� ������ 8�= ������ �$  &����� 
  .���� /�)) �
#� +�>�� ��% �)� 8�= ,.�) �  �)   ����'�� 7�
�3 !�� 8�= +�
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  +�>�� � �C   �M� 7
�3 8?0 ��� !�'�)�� ���'$       E�' ������ 
�%���� 
��� �) ��%� 
 �������
�����:  

  

  

  

  

  

E��6�� �	�# �	 &���$�%� ��-��� �� 7�:��� D
)�� !��'�M� ��% 
 ��)
�>�� 
      �� 3�3� +�- �.	��'�� �	 ���� ���-�)��� Hyperbole  �( &���� �   ��-��� �


�  ��0��-�α �(
?���� �<�
(
:��  Rutherford  E�>    ���� ������ &��� �	
1911D��� �) ��%� ����� ���� �3� ��) +�� +' :    

 ���M D� �>�
 = �%�'� E)���� ���� M /P	M ���������� � +����� 5
3��= 8�
    .�0�� ���� �� 8�' ������� ��:��) $  M 
�%�     �	� +����� 8�= ���������� �0��� 

 ��
�'���� ����0 3��8? 8�= +�>�� ���'�� 7
�3  +:��� .  

F
)?0   !��� �D��              ������� 
��% ����� E'� ��� 2���= �>�
 ������ /) E����� 
�� &����� I�:��� Potential M ���� +�>��  2�)��� 7'?� ..  �>�
 +�>�� ��% /���

   7:� �� 7��� D�Tunnel�
�
������ +��>�� �	 �>�
 �)� .   @"C�) �)
��> �)� ��% 
 +��=����� +�>�� �)� ��� 8��� �� ����� E'��� 3��?�� 5�� !� 8�= ������ E'� 

 +� 2�0� +���Potential Pot7:��� 7
�3 /0 $ ������ 8�= 
�% +����� �
?)0� 
 E���� +)�0 �.
)���  �Tunnel effect.  

15 . 3  V'%�� ���* Tunnel effect  

/) �
��>
= �
)�>� ����� �>�
 J����� &���Nucleon   8�' ������ ��)
�>
�S����� 8�= ������ 3
') /) S��$�� /) �.>��� /�))�� /) � Potential pot 

            � 5:��)�� +�>�� �� 7�	 2�0��� +��� /) (:�?� ��:��) �.���3 /��� �)�� S�'��� 
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8?0  +�>�� ��'�) $        �F
)?0 �.?' /�)) �>�'��)�� �)
�>�� 
�% �0��� �   7�3���� 
�3��)��$�� ���3 +' @"C) ��G�� /��� �Potential �� ���0 ����� � Uranium 

�
����� �����)�� �����:    

Epot = e0
2 / 4πε0r  

	P  �)
�> ���3 /α  ������ �������  Uranium  ������: (92-2)e0 = 90e0 
�
����� �����)�� �	 �B���:   

E = 2.90e0
2 / 4πε0r  =  

E = 2.90.(1,6)2.10-38 / 4π.8,854.10-14.3,6.10-12 = 1,15.10-12Ws     

1 Wsec = 6,24.1012 eV    
1,15.10-12 Wsec . 6,24.1012 = 7,2 Mev 

     ��)
�> ��%α     �� ��� ���� /) �C���)�� � Uranium �      ��
*�� ����3 &�?)
A�
��� ������: 4,18 MeV $  8�?0� �	 ���>�) ��)
�>�� 
�% /G� +���� ��:� 

 �A�
��� ����� ������ /) ��
�� �	��)  ��� 8?0 /��� 2�0����:  6,3.10-12 cm 
             ��� +��> ��	 I�:��M� ��% 8?0 ��)
�>�� 
�% ��>� !
� /���� Potential 

  .�G� +���� ��:��� >�� �    +����� /) =       7�:� �� E�C /) +�>�� ��'�) 8�$   
��%� 
   &��� �.
)�� �
?)��� Tunnel effect ������� ��.B)���
�����:  
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���	��)       ��
3�
 �
?)��� 
�.� �
�
�'�� J��� =      +'�� 7
�3 /0 �)?��� +'�� �%�

  �
�
���
)�� ��>�)?� ��B���Theoretical Mechanical wave    ���:� ���%  

+�-� ��)
�>�� D��-�� Corpuscle  $% /) ��'�� +��
��� � Corpuscle �% 
   	  �>�) �.�:��P��. �          +��>�� +�-� ��>�)�� 5:��)�� 2�0��� 3<�' 8?0 @")�� J��

�M� ���' �	 /��� �?��� J��� Total Reflection   13�� 8?0 2�6�� ��>�)�
                 3����� ���% /) �
��C�� �.>�� 8�= 2�6�� ��% /) +
?� 13�)�� ��% 7���
 7
��

Medium      13��� &)� /��
 �)� �       2�6��� ��>�) +�3 /) �
C�� ���$   ���%� 
�� �� 7���� ���)�� ��>�) &��� �
?)��� R�-� +���)���� Potential Wall 8?0 

-                 !��V) ����� 3<��' �)���6 �� &)� /G� ���
 ��%� ��)
�>?� ���� +�
Possibility         �.��� 5
3��� ���� ������ ��)
�> /) /�))  $�     ��
���)�� 
��%� 

  A��� ��?��) �����)��      +"')6M� ����C� �λ   $      ������� ��
0�� E�' &��� /���. 
 7:��� +)�0 /G� +��� /� 5
3��� ��%�� +� �
?)0 � Tunnel effect  �
��� = M

  +� �� 7����� �
���Potential Wall  +"')6M� ����C ����
 ���� λ �) ��%� 
  ���F
�
�3� F
�B�� �           &����� �:����� �)��� �*�
 +"')6M� ����C ��:��� �)?� �

  ��0��-= 7�� �	��)  7
�3 +�3
α  �:���� �)��� ��� �)?� T1/2 .

  

      �� +�3 ���) 7?�� &��� O�� ��%�     ��0��-= 7α      �	 ���>�) ]
.� ���' �	 
E��6�� �	�# �	 DB'"� �) ��%� ������.  
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  �	�    ��)
�> 3�3� �Cα     .�)� ������ ]
.� /) �C���)�� �    W�� ��.B)�� �
���� 
 �
# ������� �
����� ���'�� �	 ������ /��� �)� 3�3��� �>
.�).  

15 . 4 ;GL�� ;�
9 "= P'%�� Q\
�9   

 �)�� /) F
)?0 !�� F
�B�� �      +� �� ������� ��)
��> ��	 &���)��� ���3 /G� �
Nucleons     A�
��� ������ O�� +� �	 �
����) �$  A)<�� /���        +����� 5�:��� ��)� �

    �
�����A   ������ ��)
�> �	 $ �  �Nucleons$        ��'�� ���3�� J:� ]��
 �� 83�� 
Free energy$� &��)��� ��� �� ���� ���) �	��) �)��  �3�) 1��� 3������ �� �

�.�) ��
���� �)
�>�� E�' ���')�.   

    5
3��� E���� ��.���     ����� ���� D�-� /� 2�) �3��$  2�> �)?�� �    2��) �)
�> 
          �
?)0 8�= �
)��� 
�% ��3�� �3���� 
�% 8?0 ��
�> ) ����' !C���(   ���3 �.
)��

3������ �� &��)���$  D
)�� ���� 7?���� ��%� Cohesion power��� �� ��� �� � 
M ��% O������
���� ��	��)�� 8?0 �CV
 $ �) ��%� �  ������ �<�
(
:�� 
�>�� 
�)�

Gowow ��� 1930���%�B /) D� 5��
 �)� O��?� 3���� S��)� .  

=�8 �Q              /�0 ���>�� �6�0 ���� �
<�
(
:�� S��)��� /) �
�0 ��
?0 h�) ��� /
      �
)?��� ��
�B��� 7
�3Theory &����  �����M� $       ������ !"# +�>) �	 @"C) 

���%�>� ��
)?��� ��CM� /�/  �<�
(
:��Bohr&����   �<�
(
:��Sommrfeld$ �) �� 
.?���
�  �
�
���
)�� ��>�)?� �
)?��� ��
�B��� +' /) Theory of Mechanical 

Wave$   ����� S��)� /) &��� �>� �)� $A)
�� �>� �) 5���� /G� ����� ��= /���  /) �
     �'��� �
# �
<�
(
	 ��
�B�	  1���� �.�
�'� E>
$        ���% 8�?0 E�>
 &���� 

             ���'�� ����� +�� !���)�� ����� ���� S��)� 8�' S��)��� +� 5)>
 /G� 1
'����
         2����� ��% ]��
 /� E>
 ����� ����� �
�> S��)� 2�����       7�
�3���� ������� /�0

       ����� /) �
��) ��� ���� +� /G� �	��)��� �������
�� ���$  .�) /��� �    ��� ����� 
.��
     �'�� /����� /) �.���� �
��) /
>���$        /�0 ��>��� �
<��C��� ����� �%� 

 �
<�
(
:�� ��0����.            E��' J
�� Y �<�
(
:�� ��3�)�� �)?��� E���� �% �) ���V�� 
/
�����Y    
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         .�) ������ O�� �	 ��
)0 ������ !�.��� ���� 3����� 
�%��   ���� ��(
))  2
       .�
� �) �	 ���>�)�� �"0�:���� �������
��� &���� ����������$�     �>� �) +� 5)� 

����)�� !�.�� 8�= ��� +�� �� ��
�B�� S��)� /).    

    ����� 8�= ���� ���>�)�� ����������  ���� �� �       ��������
��� /
�� ����>�)�� 
�����������$   �� /
� �� � Nucleons       ��� ���� �)� �.
)�� ����� � ��     �� �����

Nucleons power$���� 
�%� ������ �� �    ��)?��� +�'��� 8�'� @"
?� �	���)�� 
Mathematical calculation  ��� ��'� �� !��� ��$  ��
C� �>�
 D�� E����� 

 i� /)l�8              7�)�� ��0� +��'� ��%� �������� 
�% 7?�� ���� �����)�� O���� I���� 
  �3 /0 I�6�)�� �.:�� ��?��� E��3
7S��)��� 2��� $ �.:���� R�-�� +.�
 �) ��%� 

�<�
(
:��� �)?���$.�)� ��
����� �	���)�� S��)��� I�6�)�� ��.� 9��
 �) :   

1�  S��)�   Gamow3���� S��)� �� .  

2 ������ ���� !"# S��)�   .  

      �� �.:�� D� ��	 ��% 3���� S��)���  ��� �� �         
���3  ������ O�� /
� &��)��� 
<�
(
:��      ������ +��� /) ���
)�� �Gamow$       @"��� 
�6�'� 
�>� ����� 

    !���)�� ���)���� �<�
(
:��N.Bohr.       /�) �% S��)��� ��%� �    7��3�� E���
�� �.:�� S��)�� ��.B)����
����� �?)>��� !�� ����� ����� ���� &��)� :     

=           ������� �������
� /) �?<�� �� ��<�) 3�� /) �
��) ������ ��� /��$   �) ��%� 
  F
<�
(
	 &��� �.B� �G%��0 +<����� 3��� ����� ���� /�A�
���   2����� ��(
))�� J:� �

����� ���� 3�� D��-
 S��)�$�
����� 3����� �	��) E>
 D<����� :     

A �J
���
 ���
1    

   F
)?0 �	���) ������ �	�C�  F
<�
(
	� �  �
����� �)
���� �  $    ������ �)
��� 
�% &���� 
�
����� �����)�� /) ���-)�� O���� I���� +� �	�C�:    

ρ = mp /V  =  mp / 4/5πr2 = 1,4.1017 kg/m3 
 ρ = 1,4.1017 kg/m3
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  � �	�C��� 
�%V  � &��� ���         ��	�C��� 
��% ���� ����� �	 �?<���� 3���� �	�C� ��>
3���� �>'� ��?��) �
#.    

B � �0 J$20 �; J J
���
   

   '� �).) �3�� 
�%            7�?��� +<������ 3��� ����� ���� /
� 7������ �� /(����� ��
 ��CV)�� O�����$       ������ /
� &��)��� �
CG� /G� !���)�� /)�    �
<(>�Molecule 

�3���� �� �� ����� ���
�  Van Der Waals ��
*�� ���) 7
�3 �%��0 ���� $ 
 E���� ��.��        
�>�� �	 ��>�) /
�CM� /
� +����)�� +0�:��� /G� ������� �)$ /
� ��.�� 

 ��� /G��  �� �� �  %��0 ������ �          ����� �
CG��� �3� !�� +�3� ��
�� �	��) ���) 
A�
��� ����
 �������M� 7
�3 /0 �>��:    

r0 ≈ 1,42.10-15 m 

C �  J$��
 J
�� �� %+
$��
 �; ������
 �0�%   

             ��� 3���� ����� ���� /
� /(����� �� D��-��� ��'� /G� �
�� ��%+<���$   /�)� 
     +�	 �
�� �)� !���)���<
(>      ��'��� /) �� 2�) E�� /) 3���� 7
�3 /0 2�) $ 

  
(> +�	 �
?)0�<         ��� ��
���� ���)�� �	��) ��:� �� R�-� 
�% 2�)�� ��  ��� �� �  
Van der Waals 
     ���
���� ��
)��� /
�
   /) �?�:�)�� �3�����

(>��<
 ��
�*�� ��$  �	 
    /) �
���� ���� �����


(>����<M �� �CV��
 
     D��-�
 �) ��%� �.
?0
    /) ��� +��:�� �
?)0

 ����� ����$     ��) ��%� 
     /) ��� +� /G� ��V


  ������� �����$   ��
# 
    ����� ���� ���� 7?��)
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             ��� ��	 &��)��� �
?)0 &���� ��3-�M� �� +��:�M� �
?)0 /G� �.B� �����M��
.)(?
 �������A�
��� ����� ���3   �8 MeV   � /�) ���� +���   ������� �����$ �� 
Nucleons@���� ���� ���� +'�� �B�� �.     

       9�� 7
�3 /0 ��3-�M� ���3 &���� &��)��� ���3 �� ���3�� 
�% ��>� ��%
  �����)�� E�' +����E = Δmc2$ �%�.B� &��)��� ��
?)0 ���� �  8�'�)���� 

��� �����������.  

           ���� �
�� ��.B� /� 5
3���� 8�'�)�� ��% ��0��)��� )���      ��)��)�� &���
Quantitative Binding power  8��'�)�� ���	���) ��>� �����M� ��� ���� $ 

               +�)��0 ���0 /) �:�V) ����� ����� &��)��� ����3 I�)>) /G� &��� �.B ��%�
.
)��� Energy Term��� �  ���)��� �<�
(
:�� 2�> &Von Weizsager 7�'� 

  ��
��� !�� +'�Semi  empire>)� �����)  ������� �	 &��)��� ����3 I�)$ 
    �� ��)
�> &��)� ���3 &����� Nucleons       ������ �� ���������� ���� ��?��)�� 

  �)�B���Z     �������
��� ���� &���� N$         +� ������ ��� �>� �) +���� ���� Term 
)�� ��
����������� ����� 3���� �� &�$  +� �� Nucleons.�)� ��
����� 3����� :    

A �  ������
 ?F� �*�  

=�� /) ]��� ���� O����� ������ /�   �.
)��� ����� ������ Potential energy 
��<�)�� �� �?<���� ����?�$  ��>'�� ���3 ���� @"�� ���� ����� Volume energy 

  ���� ��
�'�� �	 �.� ����)���Van Der Waals �
���)�� +<����� 3�� &��)�� 
�� Analog  2�
(
:�� E�'       �����3��� ��.B)�� ����� ���� +<���� �
�
�"��� $  �� 

Energy Term$������ �>' �	 $�� ��0 �� � Nucleons$  ���% �%��0 83�)�� 
 +� !�'�A�
����) ������ 
�% /G� .�
����� �����)��� ���3��  
�% �.B�� :    

E1 = C1.A  

  !�'�� ��%C1� J
 = �
����� ����C M Proportional  E>
)�.�	��+'��� .   
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B �  ������
 D%� �*�   

   ��>'�� ���3 ���>� /� ���  E1 = Volume energy    �� 9���� /� E�>

 ���3�� �.�) R�3�E2$  ����� �>�
 ������ 13� 8?0 D�� Nucleons  ���3 ����

.���)�� �:
�6 $              �)
��> S����= �� +��:� D?)0 E>���� +*-��� ����) ��%� 
Nucleon   ���� +��� /)   ��= S����� 8�$        ������ +� �3*)�� 13��� /� !��� ��.�� 

        +<����� +� �	 �)� ���') &��)� ���3 &��� 
��0$      ���3 �.
)�� ���� ���3�� 
�%� 
+<����� 3��?� �>����� 13��� &��)�$  ������) �.�G� +�
 �) ��%� Proportional 

         � 13��� /
� ��>�)�� 7�:�� O�� ��%� �>����� 13��� 3����    �>����O   �>'��� 
V  /G� ���� �.?�- �3��� OA�
��� ����
 R"3�M� �: O ≈√ V2  83�� ��%� 

F
�
����
����� �����)��� �>����� 13��� ���3 �:  

E2  ≈  3√V3  

             ��� �� ������ ���� �3� !�� /G� E������ ��.BP� +���
 �) ��%�� Radian 
�
����� �����)�� E�' ����
:  

r = r0.3√ A     and    r0 = 1,42.10-15 m  

                 F
���� E����
 ��) �� �����
 ������ ����� �>' /G� !���)�� /) &����  �
Proportional     �
����� �?���� ��0A        &��)��� ���3� 13� �'��) 7	��
 �) ��%� 

�
����� �����)�� �
���)��:   

E2 = C2.
3√ A2 

!�'�� ��%C2 � J
 =  �
����� ����C MProportional E>
 �.�	��)+'��� .  

C �   /���0 �*� Coulomb ������
 �0�%�   

 �
�
������������� ���3�� ��%Electro statistic  ����� �	 ���������� �	���� 
�����$    � 
�% �	����� �
?)0� V  ��� !�6�� �C�  �� �� �      ��>'�� ���3� ��)�>�� ������ 

 ����� ����E3   E)���� /���� ��' �.
)�� �����   Coulomb  &��)��� ���3�
 3������ ��$           ����� ������ +�-� ��'�-�� �
<���.��� ���3�� ����� ���
 +0�:��� ��%� 
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         ������ �3� !�� 5) 5��)��� �.��'-r  F
����� /��
       ����� ������ �	 J����� �     
r ≈ 3√A�
����� �����)�� ����� 3������ �� &��)��� ���3 �	 E)���� ��' ��%� :    

E3 = C3. Z
2 / r     or     E3 = C3. Z

2 / 3√ A  

 !�'�� &��� ��%�C3� J
 =E>
 �
����� ����C M�.�	��) +'�� 7
�3 /0 .    

D �  �
����
 �; #�����
 �*� Symmetry ������
 �0�%�   

       M &��)��� ���3� +C�)��� �� 7������ ��' ��% �  D��-��   +�- �G  5)  +<����� 3��
   �������M� ��� /) /���     �.B �� /
�� �         ��������� ���0 &?)� ���� ����� ���� /

   %��0 �������
��� ��0 +���
�       +�� &��)� ���3 Nucleons �      ����3 /�) ����
           �.
	 ���>�)�� ���������� ��0 @"C) �%��0 ���� ����>)�� ����?� &��)����  � ����� 

��������
��� ��0 /) �*�$   +�C�)��� ��' D
)�� �) ��%� Symmetry    ���%�
  ��
����� +'�� E�'$    8)�)�� +'�� empiric        /
� +C�)��� �
?)0 ��G� N    &����� 

Z$  �)�� N = Z� �� �>�� V �.���� /� 5
3��� ��
?)��� 
�%� ��
*��� �)
��� ��
�
����� �����)���:    

( N  -  Z )2
  

     	 ������ +<�� �'�� E��� /���P        ���0� W�:��� �� I�:��� /N       ����0� �� Z 
�
J�
CG� D� $  ���� E�' ��G� �
CG��� �
?)0 /��� N / Z.  

           ��)��� �3��) +' �
?)0 �	 ��?�� ��% ��=�(N-Z)2      8�?0 (A+Z)2   5�) 
    ��
�> ����C +�)����C4     +�� +C�)��� ��' �3��� Nucleon   ����� ������ �	 

�� �� ������ ��)
�> ����� ��0� Nucleons����
 A = N + Z   ]��� h�) �))� 
��
����� �����)�:    

E4 /A= C4.(N-Z)2 / (A+Z)2  =  C4.(A-2Z)2 / A2
  

 +� �� +C�)��� ��'�Symmetry�
����� �����)�� ����� &��)��� ���3� :    

E4 = C4. (A-2Z)2 / A2
  

  !�'�� &��� ��%C4 J
� = E>
 �
����� ����C M�.�	��)+'�� 7
�3 /0 .   
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E �  ������
 �0�% �� L
�26�
 �*�   

     �� I�6�)�Term   �� ��
��� ���3�� �   E>
 ��   &���� ����0M� /
�� 
��G� /
     ������ E�' �>� �)�        ��)> �� ���C /� �Stability       ����� 7�?��) ����� ���� 

  �)
���) 
�% ���� ��= �������
��� ���� &���� ����������even  �)
���) �
# �� 
odd       :��� &��)��� ���3 /G� �.B
 �) ��%�         /���
 ���������� ��0 �)� ���� �� 5

A)
���)� A>��() �.. gg$     A)
���) /��
 �������
��� ��0 &���� � A>��() �    ��)� /��� 
���!? ��   
���) /
� ���0)     &��)��� ���3 �*�� �)
���) �
#� �$  �� �	� �
�.�   ��)� 

  �)
���) �
# O���� ���0� /��� uu    �� &���)��� ����3 1���� �>��() /���
������  3�           &���)��� ���3� S���(M� ��' �.
)�� ���
CG��� 
�%�  �>� �) !�6$ 

 �
'"3�M� E�' +��-� ��0 8?0 E����δ�
����� �����)��� :    

E5 = C5.δ / 4√ A3
  

!�'�� ���� ����� �	 C5  ��J
 =    �
������ �����C MProportional  E�>
 
�.�	��)�
����� �M�'�� �	 +'�� 7
�3 /0 :   

+1 = δ�)� �>��() �
# �)
���) O���� /��� . 

δ= 0   I�� /) O���� /��� �)�ug,gu�>��() �
# . 

δ=  -1   I�� /) O���� /��� �)�uu /�����  /) S���(M� /��� /
0�� /)  
/����
��.  

  �
'"3�M��δ	 P  ���0�� /
� �
*�� ����C �
# �.�+1 , 0 , -1$ N�'
 ��%� 
      �
����� +���� �
*��A /0�    ���>� ����� ����3�� /) ��'�� +� E
��� 7
�3

�
����� �����)�� �
���)�� 3������ �� &��)�?� �
0�)>�� ���3�� �>�:    

i  3 E =C1.A - C2.√ A2 - C3.Z
2 / 3√ A - C4.(A-2Z)2 / A + C5.δ / 4√ A  

����C�� �
�� C1 , C2 ,C3 , C4 , C5 ,    ��3�� ���%� +'�� 7
�3 /0 ��>�
�0��� �.)
��
����� ��:   

 C1 =  15,75 MeV     C2 = 17,8MeV      C3  = 0,710 MeV   
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 C4 =  23,7 MeV       C5 = 34 MeV    

      A�
�0 �
����� �'<"�� �	 �.B� +'�� 3
�
����      ����3�� /) E     +�� O�'��� �� 
�.��� �'� �)
�> ���3.  

��
����� 3����� &��� ��>� �M���)�� 
�% +' �'� /) ��G�?�:     

1 � ������ �	 �.B)�� 8�'�)��  �������.  

    +�� ��	 &��)��� ���3 7?�� �.B
 8�'�)�� ��% Nucleons   ������� /�)
   3�)�� O���� �	 ���>�)���   ������� �M���)�� �	 �$      ����')�� ���0�� /� O�� ��%� 

   �:
:��� O��?��  7���� �
*� �.B$        �
'"3��M� E�' +�C�� �3���) O��?� /��� 
��     �
����� �
���E/A �     �C���� �.BMaximum     ������ �
��� 
�%� �  �?
�C�� O����

+')6� &�� ���� �*�� �� !�6�$�
����� 3������ �%���� !�� ��
?)��� 
�%� :    

A �    �
# ��
?)��� ��   ����>�)�� �
)��� 8�= ���� 
�% �:
:��� O���� �	 �)
���)
�<�)���  ��)
�>�� /)$  �� �� � Nucleons 13��� D>� 8?0 ���>�)��:  ��)� 
�%� 

    5��
 �) &���� 3���� ��0 �*�
 5:���$ ��� +� �	 �3���)�� &��)��� ���3 /� �� 
������ /)$��  �.� ����)�� �� � Nucleon$  ���3�� ����� ��� �� 8 MeV.  

B �           +� �	 &��)��� ���3 W�:��� �� 9���� ���' �	� Nucleon   O���� /) 
��� ��%� �?
�C��� 9� D� ����� �
?)����
������������
���������� �	���� .   

1 �       +C�)��� ��' ��% Symmetry    A�:� 1��� &��)��� ���3� �  0   ����� �)� 
  ����
 �����A = 2Z.  

  �)� ��N = Z.���)� ���3 I���� ��% /) O���� /� 8?0 +�
 �) ��%�  ���
�� , 
�� ���� ���'�� 
�% �	 ��% /��  Potential ��
*��� ������ E��� +<����� ���3� 

 7����?���*�� +C�)���$�
# M �:
:��� O����� 9��
 �) ��%� .    

3�
 �)���� 7?�����8�� ������ O�� �)� � ��.�   +� ����0� J�:�  Nucleons 

    �
)��� �
���)��A$ �  ��              ���0 /���
 /� E�>
 ��� �	��) ������ ��� /) D�
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  ����������Z�� ��0� �������
�N   8)B��� &��)��� ���3 S���� Maximum$ 
      8?0 &��)��� ���3 +6�:� �
?)���Z   56��� �      A�:�� �����
 �.�) +' ��� +�� 

�
����� �����)�� ��
3��:    

Z = 2C4.A / C3√ A3 + 4C4  and    
N = A - Z  = 2C4.A+C3

3√ A5 / C3
3√A2 + 4C4.   

N/Z = 1+ C3/2C4.2√A2   

   � 
�% �	 56�         /�) ��
����� �����C�� �
� �����)�C3    &����� C4    /� ��>�	 
������ ����� ����� �
����� �
'"3�M�:    

N/Z = 1+0,015.√A2
  

        ������ /� �.B� �����)�� 
�%N/Z        ��0 ��(
 �)� ��:��)�� &��)��� ���3 ���'� 
�'��   �� ��0 ���
� Nucleons$  
���) ��%�  D��         ��
�(� 7?�
 �?
�C O�� ��>� �	 

�������
��� �	.  

@�'M R�-
 !�� �
�(��� ��% E����.    

       6�
��� 7
�3 /0 �)?��� +
?'��� J�� 8?0 /���
    ��Mathematics  �.B 
  �
'"3�M� /G�Z2/A  ���� ����� �	 Z Protons  &���� A  ������  ��% 

            ������ /��� �)� O��?� ����� ��3-�M� �
?)�� �
����� �?����Z2/A>45 �  ����
/) 45$       M ��3-�M� �
?)0 ���'�� 
�% �	 ��%         �	������ /� ��0���) ���3 �.)(?
 
���
����������   A�:��) 1��
 ��������?� � F�> �.       ��).)�� 3����� W�� 7�3� ��%� 

���� ��3-�"��%�.B�� O�  �
������ O���� W��� �
����� ���0��� Z2/A"C) :    

U233 .. 36,3 , U235  . 36,0  ,  U238 .35,5  , Pu239  .37,0   

        ���0�� 
�% +�' +� 8?0 O�� /����    ����� /) �*�45$    �
?)0 E���� ��.�� 
             5�) ��3-�M� �
?)0 8?0 �.����= E>
 ��0��) +0�:� ���3 �.)(?
 ��% ��3-�M�

�
����� �
���� 83�)�� ��B��� +'�� E�' ���?3)�� �
��'�� ���3��:    

U235 6,1 MeV   and   U238   7,0 MeV  

o b e i k a n d l . c o m



282 

 ����� ���3 7�:��0,9 MeV 8?0 ��(� U235  ������� 
�% ��3-�� 1��
	 
�        O�� ��3-�� /) �
C�� +.�U238   M �
�:��� ��%�       ��3-�M /G� ������ �-�)
 

U238         ����� ���3 D)(?
 �
���'�� �������
��� 7
�3 /0 1.MeV$   ����� �	 
��
����
�� ��3-�M E>
 ����U238    ���3�?0 +� W�� /) 8MeV ��% E��� 

������ O�� &��)� �����) �	 �)�0 
�>� 7�:��.   

        ����� ���� ��3-��� ]
.��� ��
?)��  @M�� 
��� �)�$      ����' /����
� �)� D�� �� 

       ��
����
�� ���� /) 3��?U235 
]
.�$         7��� 7�
�3 /0 N�'
 ]
.��� ��%� 

       ��� 3����� 7
�3 /0 J
�� ������ �	 /����
���/����
.     /0 �%�.B� �
?)��� 
�%� 
    &��)��� ����3 ��
?)0 +� 7
�3$           ���� �.B� �
?)0 +� �	 D�� �� U236  9��
 

  ��
����
�� ���� �.�)U235 �
����� �����)�� E�':    

E(92U
236) - (92U

235) = 1793,8 MeV - 1787,3 MeV = 6,5MeV  

     �>��)�� ������� +0�:��� ��% R�- �����)��$ %�.B�       ������ N��C�� E����� �	 �
16 � 3 ��� �	 )����� ��3-�� ��
?)0(.  

      ����' /����
� �)� ��% ����)���
    +�  ���� /) 3��?U235     ��' ���3 ���
  
M �.�)
��� O���� � 6,5 MeV$ ���3�� 
�%� �  ����3 /) ��3-�M� D)(?
 �)) ���
��0��).  

         ��
����
�� ���� /G� ��� E���� ��.��92U
235 
       ��0���) /���� �%��3-�� /�)

)�'�
  �
���'�� �������
���� $         ��
����
�� ��3-��� 9��
 �) �)G	 92U
238   &���� 

�
����� �����)�� E�' D'�-� ��%:    

 E(92U
239) - (92U

238)  = 1810,4 MeV - 1805,3 MeV = 5,1 MeV  

       ����' /����
� �)� ��% &��� ����)���
     ���
����
�� ����� /�) 3��?U238 
  ����� �.�)
� ��' ���3 ���
5,1 MeV ���3�� 
�.	 �  +�0�:��� ���3 /) �*�

 ��0��)�� ��>����7,0 MeV$    ���
����
�� O��� E���� ��.��  U238M  �3-��� 
�
���'�� �������
����.    

o b e i k a n d l . c o m



283 

    3��) R�-� 7�� �) 5����$     	 �:
:��� ������ �	 @"C) P    �3���)�� &��)��� ���3 /
+��   +�Nucleon ��   /��           O����� ��	 �3����)�� &��)��� ���3 /) �
C�� �*�

�?
�C��.   

        �:
:��� O���� /G� &��� �.B �) ��%�� A��0 &?)� A
�����) �   ��������
��� /
�� 
�����������$ %� �         .�) W���� 8?0 ��B� 2���P�� ����C�� O���� /) &��� �   ��:�� 

 7�'�?�)@"C) ��� �):  

2He4 , 3Li7 , 5Be11 , 6C
12 , 7N

14 , 8O
16

  

   5
3��� ��%��       %�C�� /� ����C�� �:
:��� O���� /G� +��� /�       /�) �%���� ��
��) 
  �>��() �������
�� �������� .      5:��
 &��� ������ O�� +�� �
��� �	 O�� ��%�

 ���������� ��0$            /
�� ����>�)�� ��	���� �
<���.��� ��'-�� &��� ���� ����� �	 
   �
����� 8�= ���� ����������. ��     	 �?
�C�� O���� �	 /�P    �������
�?� ������ ����� /

 �
��� 8�= ������� O���� +�� I�:���� 5:��
Z/N  $  /
� ��1/1,6 To 1/1.   

          ���������� ��0 /�� �)?� /� 8?0 +�
 �) ��%��        8�?0 E>
 ����� ���� �	 ���
���3 Coulomb O��� /G�$ ��>� E>
 ��.�� Kit  � J��� ����)�� �Cement 

 �������
�� ��C)����.  

15 . 5 ;GL�� ;�
9 "= ;G��5�� ��,/%��    

     ������� ������ �	 ��
?0 �) ���$          7��3 ����) /0 R�6�� 
����� �) &���� 
��<���� ��6����$/���� &���� Spin ���������� $  ������ !"# 2��� /0 &���� 

�3��� !
3�� /0 ���� R�- �) &����Linear Spectrum $ &�����   ����� 
    2���� ��
���� 3�3���Spectrum   /
��� �    %��0 ���� ���������� /G� ���.B�  ���) 

�� ���� /���� ���) &���� ��6��?� ��<�� 7
�3Spin  $     &���� ��>� ���% 
  �� ������ ��)
�>�� Nucleons     +�' ��<�� ���) ��     ��
?)��� 
�% R�-�� ��')
�
����� 3����� 5��
:    
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1 �    ��� /) �)
�> +�      ����� �Nucleon F
� �  �%��0 /����
� �� /����� ���� 
  ���� /���� /������� +C) &���Spin  D�)
� 1/2 , h/2π$  +� /G� +��� ��.��  

Nucleon   ������ /������ �%��0 ����Spin = I = 1/2.  

2 �      +� &�� 8?0 ��"0� Nucleon       ����
 �6�� ��<�� 7
�3 ���) �%��0 
  �)
� ���) ��0h/2π.   

3 �  =  ��� ���� +�� ��<���� W���� /( Nucleons Spin ) !�V) ) 7
�3 /
  ��<���� W���� ���)$      ��� ������ /������ /) &��� � Spin        +�� I��)>) /�) 

Nucleon �%�'� .�� �	�� Nucleons ���%��0 ��%��G� +)�� �
���) �  ����� 
 +)�� �
���)$    �� ������ ��)
�> �)�� � Nucleons �� �  �%��0�    +)��� �
���) �
# 

 .�0 +��� /= � %��0 �    +)�� �
���) ��0 !�� .      �
� ��%� I      ����0�� /
�� R����� 
 /) �
�����0 , 1/2 ,1 , 3/2 , 2.. 9/2.   

4 � 	 P    +� �	 ��<���� W���� I�)>) �
CG� /Nucleons  /�) �
�� ��� D���
 
 �
# S����� ��>��� �(���)Anti parallel$��� E���� ��.��   +� ������ ������ /�

I = Spin �� ��0  5:��
 �)� � Nucleons �*�
 .  

5 � =              ��������
��� /�) /
�C� �� ���������� /) /
�C� +�� ������ W���� /
%VM2���-�
 /  ������ /������ �)
� +��� W���� �.6�� J��� I= 0   ������

A�:��.  

6 �               +� /�) ���'
 D��� O��?� ������ W���� I�)>) Nucleons   ��
# 
���>��()$C)� �?0 @M8&�� :    

A �  ��
?.�� ��� ����  2He4  �)� ������ W���� �0�)>) &?)�I = 0 E�' 
��0 �3����5  .  

B��� ��� ����  � 5B
10  �)� ������ W���� �0�)>) &?)� I = 1    ����' ��	 

Nucleon    ��0 �3�� E�' /
>��() �
# /
�C�3.  
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C ��� ��� ���� � 5B
11   /) �:�V)��3.2 Neutron$ /) &���� 3.2 Proton 

	P  ���'�� 
�% �	 ������ W���� �0�)>) /I = 0$  S��(�) �
# /����� &���� 
����
 ������ W���� I�)>) ��%:I = 3/2   �3�� E�' 6.  

15. 6  �� Q\
�%;GL&� "��J%��  Nucleons Systematic  

  ?C)�� /) �
C��      ��� ������ O�� /) �
�0 /0     ������� ������� �	 ��) �$ .�) � 
     .�) �?
�C�� &���� �:
:��� ������ O���  .�) &���� �      &����� �����)��� �
�
�3�� 

   �
# O������ *�?� �?���
�
$          /)� O���� 
�% /
��� /0 +�V��� ��G
 /��� �  3
?� �
 Y����?� O���� 
�% �
��  

   >� 8�' +�V��� ��%�
 0 E�  	 +
�:���� DP   �� /�))�� /) D�>��� 0 �   �
?)��� �)� D
      �.��� �� /��� ����� ���� 2���� �
�B���$  [� /���        ��	 
��� ��B��� +'�� ��% !�

           �.��� ��� ����� !"*� ��B��� ���C��� +'�� �
?)0 /��� �
������     +�� /� �� 
)
��� ��(
))��� �M�'��
��0����� �'�- �����?�� ���)?� �
<�
(
:��� �
<�.  

 ��� �
?)��� +' /����.)�� �	 
��� �.)����� O��?� �
�B$    W��� ��3�� ���% 
  ��B��� +'�� �
?)�� 3�����Nucleons Theory.�)� �    E��' ��
����� 3������ 

������ +��>��:   

  I����Tip       O���� ���) E
���� 2���  

gg  Even     �������
��� /) �
���)�� ����� 5) ���������� /) �
���)�� �����  

@"C)    8O
16 = 8 Proton + 8 Neutrons 

gu         �
# ����� 5) ���������� /) �
���)�� ����� ���������
��� /) �
���)  

   @"C)         4Be9 = 4 Protons  + 5 Neutrons 

ug   Odd      �
# �������           /�) �
����)�� ������ 5�) ���������� /) �
���)
  �������
���  

 @"C)   37Ag107 = 47 Protons + 60  Neutrons   
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un   Odd      �
# �����   ��  ����� /) �
���)�     �
# ����� 5) ������   /�) �
���)
�������
���  

  @"C)       7N
14 = 7Protons + 7 Neutrons    

=  I���� /Tip ggD�0 +��� /G� ���� D�� A)<�� ��>�)� ���C   D�) �80 % �	
.�) W��� ��-� !"#��
����� O���� :    

8O
16 , 12Mg24 ,11Si28 , 20Ca40 , 22Ti48 , 26Fe56

  

  �� ���)�� I�)>)���   A�
��� ����
 ����C�� O����   �275$.�) �A�
���  �170  /�) 
�� I��� gg  .�� ���)�� /) +
?������ ����C�� O���� � ��.�?#�   ��
0�� /) ug , 

gu.�) �>�
 ��� I�� /) E���
 �) � 57 gu$ &���� 53 ug$��C O�� /���  /) ��
  �
0��un	 P%��>� /�.�)� +
?� ��
����� ����C�� O���� @"C) :    

1D
2 , 3Li6 , 5B

10 , 7N
14

  

  �
0�� /) O���� +� /���un  ����  �)�B��� ����� Z = 9% �  �����C O�� 
  ��0��-= N��β.   

 /) ����� ��.���.�) �).) ��
?)0� �0��� J����   

1 �% ����C�� O����   ���� O����  � �%��0 �)�B���Z ��0 8�= +�
  83 .  

     �)�B� ��0 +� �	 /�))�� /)� /�  �  ����C ���� �>�$      �� ���- &��� �>�
 D���� 
��0���� /0 S���$  ���)�� 
�% O�� +C) 43Te99 , 61Pm145.    
��% O��� ��)�� 

F
� ���)���  O���
 �)�B��� �%��0 ���� Z = 48  I����� /) /��� ���)�� 
�% +�  
5-)��.  

2 �/���� E�'    Astons   �� �����?�Astons Isotope�� O���� +� �� 
��0�%���0 �.�) ��>�) �
���) �
# �)�B��� ����C /�  /2 Stabile Isotope  

�� ���)����%��0 ��.�) ��>�) �
���) �)�B��� � �/
���C /
���0 /) �C�.  
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3 �  �� O����� �� ��0 ?���.     �
����� A  % �
���) �  
0�� /)     �gg $    /����  
 �
0�� /) 8?0�� �	 ���-�� ������ 7�� �)� �>�
un.  

4 �      E�'�  Mattau   �� /���� �	 � Isobar      +� /) /
�C� +� Isobar   ��)� 
)%��0�	 /
�CM� /
� �) �'��� 7��:
 �)�B��� P).��A)<�� /
���C �
# �.  

C)�        ��
�>�� ���)�� �	 &��� @M43Te99   &���� 61Pm145 	 P.�� 
#  ���C ��   +� /� 
�
B�    ��Isobar  +C) 44Ru99  &���� 60Nd145 ���C �.	 .  

15. 7   ;GL�� ;�
9 ��> Q\
�9  

       �A�
��� D��-
� ��>�) &��� �-� /) �>����� ����� !"# �	 ��>�) �% �)� �
 ������ !"#.            2��
(
:�� 8�= 2�
)
��� /) 7�-)�� ������ +��>�� +
�-� J�� 8?0 

  ���)�� !�� ���� �������� $           ����� D��) ������ ���� S��)��� ��% 2��� /)� 
    ������ !"# 2��� �.:�� �'6��$         ��-�� �����
 &���� R�-� 7�� �)� D��-
 ���� 

����� !"# 2���$  �
����� ��-��� ���0� !� E�' 32 , 18 , 8 , 2  /�) �
��)�� 
      ����C�� ����� �>��� !"*�� ��% +)����� ����������$ .�)� �      (��*�� ��
0�� @"C) 

 +���?� �
<�
)
��� �"0�:��� &���� �
����=�
��C�� ���'�� 8�$ ���>�)�� ���'�� �%� 
   3�) ������ /) E������ � �G       ������ ���C ��'� ����� �%�>� /� E>
 ���0$    ��) ��%� 

����� ���� 2��� &��� D��-
 
���>�.    

 �.�)� �
�'��� ���0�� &��� ��>� �����  126 , 82 , 50 , 28 , 20 , 8 , 2$ 
  �� O���� �)���  ��        ����
 �������
� ��0 �� �������� ��0 &?)�    ����0�� 
�% �'

     ��
�3�� �	 �
C� D�) ��>�) �.	$        ����) @"C) ��G� O���� /0 ����� ��B� �3��	 
      ��)�>�� ��>��� ����3 �� 2�6:�� �	 E.-��$       �B��� 7)��� �.:� ��
?0 E>
 ��.�� 

I���� �	2�6:�� �	 ���>�)�� ��
���� O���� $ �� � ��� Cosmos Frequently$ 
.�)� ��)�>�� ��>��� �	 ���>�)�� O���� @"C) ��G����:    

2He4 , 6O
12 , 20Ca40

  

	P         �0� /) ��>��� 
�% ���) O�� �	 
�>� �) /�  �0�� ���������� �� �������
��� �
       � !� �	 ���>�)�� 8���� �C"C�� ���0�� D��-
 �
�'��� ���0�$    /� E>
 &���� 
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  ��:��>��           ����� +C) O��?� �)
���) �
# ����C ��:��) ���0� &��� �5   ��0 &���� 
N = 20 &���� 28  .	P ������� /Isotope�� �0 ��%�� +C) 5:��) Sinn ����� 

����
 �)�B��� 
��0 Z = 50  $  �%���0 ���� ��%����� �.
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